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AR | mame | ERE | EAE
RRHE)-AS | RRCAEE 288 ] 800
28 .300
28 .500
28 .500
28 ,300
28 .300
K% 28 .300
28 .500
28 .500
28 .500
28 ,300
28 .300
RR(HE)-EE | RRCHE) X[ J 28 300
28 .300
28 800
28 .800
28 ,300
28 .800
RIBGFE 28 .800
28 .300
28 ,.800
28 .800
28 ,.800
28 .300
RR(HE) A | RRCHE) X[ J 28 700
28 .600
28 900
28 .900
28 ,900
28 .300
28 ,300
28 .300
BA% 28 800
28 .300
28 800
28 .800
28 800
28 .300
28 ,.300
28 .300
RR(HE)-8H | RRCHE) X[ J 28 500
28 .300
28
28
28H
28H
EEE 286
28H
28H
28H
28H
28H
RRGH)-ERS | RR(HE) % 286
28H
28H
28H
28H
28H
28H
28H
BERB% 286
28H
28H
28H
28H
28H
28H
28H
65 (R ED) =AL IR (B T B 3 2 (P ED) 286
28H
28H
28H
28H
FUIR (7 F ) A_JL3100 | 28H
JL3106 28H
JL3110 28H
JL3114 28H
JL3118 28H 1
R EH TR =Bk LR (H T8 5 _J2803 | 28H i
JL2805 28H 1
JL2809 28H 1
EHR JL2804 28H 1
JL2806 28H 1
JL2810 28H 1
fER= K mER JL3545 28H 1
JL3547 28H 1
WAS JL3542 28H 1
JL3544 28H 1
1Em=#m mER JL3811 28H 1
JL3813 28H 1
JL3817 28H 18.100
JL3819 28H 17,600
HER JL3810 28H 16.600
JL3812 28H 17,100
JL3816 28H 16.100
JL3818 28H 15,600

[%BE5 L EEXRGANNBERS)

JAL



MEBEI5| 1 BER (4A26~29BEFSH)

EEERE 2019/02/05 ~
P N P N 4/26 4/27 4/28 4/29
=i wy | R O s A 317 E| ERITA] ERA7E| ERITA] R5(7E| AT A] I
WaoE | maoE | EE® | BEW | EEW | 8AW | EAW | 8AW | AW | 8AW
WRECHE)=%&m3 FRCPA)H L565 288 = 8,200 7.300 18,200 | 17.600
28 8.200 300 | 18.200 7.600
00 18,200 | 17.600
Es CE I [_18.200 7.600
18.200
TR CAE) -9 | R CAE) 5
EEE
TR CRE) - | R CRE) 5| _J
R
RRCAE)-X7 | RRCRED | _J
RAR
TR CAE)-RB | R CRED | _J
ELE
T CRE) ] T CRE) | _J
JL629 28H
JL 28H
JL 28H
JL 28H
JL 28H .
AR JL622 | 28H 16
JL624 | 28H [ te
JL626 | 28H e
JL628 | 28H |_15.
JL630 28H 16,
JL632 | 28H |_15.
JL634 28H 16..
JL638 28H 16.:
TR CRE)-B | R CAE) % | JL6s7 | 28H E
JL689 | 28H K
JL691 | 28H 19
JL693 | 28H K
JL695 | 28H 17
JL697 | 28H 17
= JL688 28H 18.:
JL690 28H 18.:
JL692 28H 18.:
JL694 28H 18.:
JL696 28H 18.:
JL698 28H 18.:
ERCPE)=ERE |[®R(CHE)F| _JL641 | 28H [ 18,
JL643 | 28H |_to.
JL645 | 28H |20
JL647 28H 2
JL649 28H
JL651 28H
JL653 28H
JL65S 28H
BEREB% | JL640 | 28H 15.200
JL642 28H 17,200
JL644 28H 16.700 | 1
JL646 28H 16,700
JL648 28H 17.200
JL650 28H 17,000 17,200
JL652 28H 17.900 17.200 5.700 17.200 .
JL654 28H 17,900 16,200 4,700 16,700 16,200 4,700

JAL



EEEAE 2019/02/05 ~
S8547A| 285478 4750
R &% ;‘] ;j FMITA] 8578
AR | mAame | ERE | EAE
RRCPE)=XHA | FRCPIE) | _JL665 | 28H =] 200 | 1
28 200 | 1
L 28 200 | 1
ESTIE] 28 200 | 1
28 200 | 1
28 200 | 1
R CRE) =g HR(PE)F|_JL 28 900 | 1
JL 28 .900
L 28 900
T2 JL 28 .900
L 28 900
28 .900
FR CRIE) =g HR(PR)F| J 28 28,700
28 600
28 600
EER 28 600
28 600
28 600
FR(CRE)=K5 RR(PR)F| J 28 800
28 300
28 300
28 800
28 6.800
28 7.300
EE 28 5.800
28 5.000
28 7.800
28 7.800
28 7.800
28 6.300
FRCRE) =R RRPR)F| J 28 7.300
28 8.200
28 7.800
28 7.800
28 6.800
28 7.300
R 28 7.200
28 6.200
28 7.800
28 7.800
28 7.800
28 7.800
R (PA)=f RRPR)F| J 28 6.700
28 7.600
28H 6.300
28H 7.300
286 6.300
28H 6.800
286 7.300
28H 17.800
AR 28H 15.500
28H .800
286 .000
28H .000
286 000
28H .800
286 300
28H 17.800
ERCPE)-ERS RERCRE) % 28H 17.300
28H 17.800
286 17,800
28H 7.200
286 200
28H .800
286 .800
28H .800
ERE% 28H .200
28H 7.200
286 6.700
28H 6.700
286 7.200
28H 17.300
286 17.200
28H 16,200

[%BEI5| EEXR(AANBERES)

JAL
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- . . - 5/1 5/2 5/3 5/4
- | A R O A &3 17E | ERITA| ERA7E| ERITA] KRB | AT Al RIS
WaoE | maoE | EE® | BEW | EEW | 8AW | EAW | 8AW | AW | 8AW
TR (BB KA | Bm CHE | U565 | 26 B 200 [ 1 i
28 200 | 1 [ 1
L 28 200 | 1 1
TR 28 200 | 1 T
28 200 | 1 1
28 200 | 1 [
TR CAE)-0I% | R CRE) 5| _JL 28 900
JL! 28 .900
L! 28 900
S JL! 28 .900
L! 28 900
28 .900
TRGB RS | RR(EE| 28 800
28 .300
28 .800
28 .000
28 000
28 .800
K% 28 .800
28 .000
28 .500
28 .500
28 ,300
28 .300
FRIB)-ER | ER (B E| 28 300
28 8.300
28 7.800
28 7.800
28 6.800
28 7.300
RIBGFE 28 7.300
28 .800
28 ,.300
28 .200
28 ,300
28 .800
TRB A | BRI 28 700
28 .800
28 ,300
28 .300
28 .300
28 .800
28 7.800
28 17.300
BEARS 28H 16.800
28H 17.800
28H 17.300
28H 16.300
28H 17.300
28H 7.800
28H 7.800
28H .800
TRE-ER | ERER 28 300
28H 18.300
28H 18.300
28H 18.300
28H 18.300
28H 18.300
= 28H 18.300
28H 18.300
28H 18.300
28H 18.300
28H 18.300
28H 18.300
FRCAE-ERE | AR (AER 285 17,300
28H 17.800
28H 17.800
28H 7.200
28H .700
28H .800
28H .700
28H .700
BEREH 28H .800
28H 17,200
28H 16.200
28H 16,700
28H 17.200
28H 17,800
28H 14.200
28H 13,200 17,800 17,800 17,800

JAL
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EEEAE 2019/02/05 ~
RPN DA 575 576
R &% TR A R B | B 585175 RBITA| HEITE
e | waoE | EE® | EE® | EEW | 8EW
RER(PE) =K% RR(CHA) 288 =] 7.500
28 500
28 500
28 000
28 000
28 20,000
Xn% 28 20000
28 9,000
28 19.000
28 9,000
28 20000
28 9,000
RR(PE)=RE RRCHE) % J 28 17,500
28 20,000
28 000
28 000
28 500
28 500
R 28 20,000
28 19,000
28 22,000
28 20,000
28 23,000
28 000
R (A=A RRCHE) % J 28 200
28 100
28 500
28 500
28 500
28 500
28 500
28 20,000
AR 28 19.000
28 20,000
28 19.000
28 9,000
28 20000
28 9,000
28 20000
28 000
RR(HE) =28 RRCHE) % J 28 ,000
28 000
28 000
28 19,000
286 19,000
286 19.000
EEE 28H 18,500
286 19.000
286 19,000
286 19.000
286 19,000
286 19.000
RR(PH-ERS ECAC RS 288 16.500
286 000
286 000
286 500
286 500
286 500
286 7,500
286 7.500
BERB% 286 6,700
286 20,000
286 000
286 500
286 300
286 500
286 20,000
286 19.000

JAL
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EER(6A1~14B#EES)

EFEAE :2019/02/05 ~
6/1-14
=h B £/ITA #185178
kT BT e
BAMR | T AR ETHES
BER(FE)=AREM | ®RRCR@E) F[_JLi01 28 H A 300 458 A1 7,700 69% 700, H:8.200
[ JLi03 | 288 700 458 400 | 55% 0700, £:11,600. H:9.600
JLi07 | 28 700 458 400 | 55% 700, £:11,600, H:9,600
JC 288 900 458 100 | 56% 59,600
JC 288 900 458 100 | 56% 00.
JC 288 400 458 600 | 58% 1,500, % +:11,000, H:9,600
JC 288 400 458 600 | 58% 100, £:10.500, £ H:9,600
JC 288 400 458 600 62% 110,100
JC 288 400 458 600 62% | A%:10,100
JC 288 400 458 600 62%
JC 288 700 458 800 | 53%
JC 288 700 458 800 | 53%
[ JLi33 | 288 700 458 800 | 53%
JLi37 | 280 700 458 800 | 53%
JC 288 700 458 800 | 53%
R () 5 [_JL 288 200 458 300 | 55%
L 288 700 458 800 | 53%
L 288 700 458 800 | 53% 900, +:9,100, B39,
L 288 700 458 800 | 53% 900, F:9,100, H:9,300
L 288 900 458 100 | 56% 100, +:9,100, H:9,300
L 288 900 458 100 | 60% 100, £:9.300
L 288 900 458 100 | 60% 300
L 288 900 458 100 | 60% 600, H:9.300
L 288 900 458 100 | 60% 200, H:9.300
L 288 700 458 100 | 60% 200, H:9,300
L 288 100 458 700 | 58% 0100 9,200, B:11,500
L 288 100 458 700 | 58%
L 288 900 458 000 | 52%
L 288 900 458 000 | 52%
L 288 900 458 000 | 52%
R (FE) =R BEREE R[] J 288 000 458 500 67%
288 000 458 000 | 62%
288 000 458 000 | 66% |4
288 000 458 000 | 66% |2
[CIES 288 500 458 000 | 66% |2 /500,
288 500 458 700 | 69% | B:14200 314500, 15500
288 000 458 500 | 70% | AkoKA:13,000. H:14,500
[J 288 000 458 700 | 71% [H:13,200, £+:13500. B:14500
HFE(PE)=HE BER(FE) R 288 .000 458 900 70% 3,400, £:13,500, £:14,500
288 000 458 500 | 66% | JoKA:14,000, +:15,500
288 000 458 500 | 66% | JksKA:14,000, +:15,500
288 500 458 000 | 65% | JK:14,500, %:15.500, B:18,000
I 288 500 458 000 | 65% | 14,500, £:15.500, £:16,000
288 000 458 500 | 66% | JsKA:14,000. B:15500
288 000 458 K:14.000, B:15,500
288 000 458 400 % 1:13,500, B:14,500
FR (CFIE)=fE W RERCAE) | _J 28H 000 458
288 000 458
288 000 45H
288 300 45H
288 800 45H
[T 288 000 458
288 000 | 55% 112,600 458
288 000 | 64% 12, 45H
288 800 | 56% 5300, £ H:12,600 45H
| J 288 800 5900, £ H:12,600 458 5100, £ H
HRE(PHE)=RE ESICTE] I 28H 800 458 ,300 [ _
288 600 £ H:12,800 458 6,800, T H:11,
288 7,600 800 458
288 7,000 800 458
288 900 800 458 [:12500. £ H11
288 300 45H
288 300 800+ H:12,800 458 100, £ H:11,800
288 800 300, £ H:12,800 458 800, T H:11,800
LB 288 700 458 11,800
288 300 458
288 800 45H
288 800 458
288 200 45H
288 200 45H
288 400 45H
[ J 288 900 45H
R PH -8 | RR(PEE| J 288 900 58
288 900 45H
288 500 45H
288 500 45H
288 700 00, T8 458 10,600
288 000 +14,900, & H:11,000 458 10,600
288 000 00, £ H:11,000 458 100, £ H:10,600
BB 288 300 400 458 11,000
288 ,200 400 458 11,000
288 200 400 458 11,000
288 200 300 450
288 200 300 450
288 200 400 458 1000
288 200 400 458 000 _
KIR(FH=-ERSE | KR (FH%E 288 000 ,200, B:12,500 458 #+:12.700, B:11,900
288 500 #:13,700, £:15,000 458 ¥ B :X:13,000, £:14,500, H:12,300
288 500 13,700, £:14,700 458 200 | 56% | A 13,000, £:13,700, H:12,300
288 400 £:13,500, H:13.700 458 700 | 58% [#:13,000, H:13,500
288 400 :13,700, £:13,500 458 700 | 58% 00, H:13,500
288 400 +13,500 458 700 | 58% _
288 700 ,200 450 900 | 5 13.200, £:12.500
BERER 288 400 700, H:12.500 458 000 | 60% [ A:11,800, F:12,300, H:11,900
288 400 +12,700 450 200 00, 12,300, B:12.100
288 400 12,700 458 ,200 00, + H:12,300
288 400 12,700 458 ,200 00, + H:12,300
286 700 K:12,400, H:14.200 458 300 | 59% | K:12,200, 11,800, H:13,700
288 200 700, +:13,700, H:15.600 458 400 & H:14.700, +:12
288 200 & H:14,400, +:13.700 458 400 & H:13,600, £:12,900
HMEFFR)=-HHR FLIREGTRH 288 .500 458 ,600 .200
288 500 458 600 200
288 500 458 600 200
EE3 288 500 458 600 X 9,200
288 500 458 600 & 9,200
288 500 458 600 x
RE=HAA BRI 288 200 450 200 3
288 300 458 200 3
A 288 300 458 200 3
288 200 ¥ 458 200
TRE=HE BERE 288 600 £:16.600 458 100
288 ,600 7% |+ H:16.600 458 100
288 100 | 53% |[#H:18100 458 600
L 288 6600 | 54% |®H:17,600 458 100
ETES L 288 6600 | 54% |+:17.600 458 100
L 288 7,100 458 600
L 288 5,100 458 600
L 288 4,600 458 100 :
RE= BERE 288 7,000 458 300 3 X A.6,800
288 7,500 458 900 500, H:6.300
288 7,500 458 800 6,300, £:6,900
288 7,000 458 300 7,500
288 7,000 458 300 7,500
288 7,000 458 300 7,500
288 7,000 458 300 7,500
S 288 7.500 7,000, +:8,200, H:7,600 458 ,300 X K:6,800, € H:6.900, 1:7,500
288 7,500 7,000, +:8,200, H:7,600 458 300 K A:6,800, # H:6,900, £:7,500
288 7,500 § 7K:7,000, F:8.200, H:7,600 458 300 K A:6,800, # H:6,900, £:7,500
288 7,000 200 458 300 400, 17,500
288 7,000 17,500, £:7.600 458 300 7k £:6,800, £:6900
288 7,000 7,500, +:7.600 458 300 7k $:6,800, £:6900
288 7,000 7.500, +:7.600 458 300 7k$:6,800, £:6900
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rEBEI5 1 EER(6A15~21BERS)
SEEWEAA : 2019/02/05 ~
6/15-21
=h B £/ITA #185178
kT BT e
BAMR | T AR ETHES
BER(FE)=AREM | ®RRCR@E) F[_JLi01 28 H A 300 458 A1 7,700 69% 700, H:8.200
[ JLi03 | 288 700 458 400 | 55% 0700, £:11,600. H:9.600
JLi07 | 28 700 458 400 | 55% 700, £:11,600, H:9,600
JC 288 900 458 100 | 56% 59,600
JC 288 900 458 100 | 56% 00.
JC 288 400 458 600 | 58% 1,500, % +:11,000, H:9,600
JC 288 400 458 600 | 58% 100, £:10.500, £ H:9,600
JC 288 400 458 600 62% 110,100
JC 288 400 458 600 62% | A%:10,100
JC 288 400 458 600 62%
JC 288 700 458 800 | 53%
JC 288 700 458 800 | 53%
[ JLi33 | 288 700 458 800 | 53%
JLi37 | 280 700 458 800 | 53%
JC 288 700 458 800 | 53%
R () 5 [_JL 288 200 458 300 | 55%
L 288 700 458 800 | 53%
L 288 700 458 800 | 53% 900, +:9,100, B39,
L 288 700 458 800 | 53% 900, F:9,100, H:9,300
L 288 900 458 100 | 56% 100, +:9,100, H:9,300
L 288 900 458 100 | 60% 100, £:9.300
L 288 900 458 100 | 60% 300
L 288 900 458 100 | 60% 600, H:9.300
L 288 900 458 100 | 60% 200, H:9.300
L 288 700 458 100 | 60% 200, H:9,300
L 288 100 458 700 | 58% 0100 9,200, B:11,500
L 288 100 458 700 | 58%
L 288 900 458 000 | 52%
L 288 900 458 000 | 52%
L 288 900 458 000 | 52%
R (FE) =R BEREE R[] J 288 000 458 500 67%
288 000 458 000 | 62%
288 500 458 000 | 66% |4
288 500 458 000 | 66% |2
[CIES 288 500 458 000 | 66% |2 /500,
288 000 458 700 | 69% | B:14400. 314500, 15500
288 000 458 500 | 70% | AkoKA:13,000. H:14,500
[J 288 000 458 700 | 71% |F:13,.300, A:12.900, £ +:13500. B:14500
HFE(PE)=HE BER(FE) R 288 .000 458 400 69% | J7KA:12,900, £:14,400
288 000 458 500 | 66% | JkoKA:14,000, +:15,500
288 000 458 500 | 66% | JksKA:14,000, +:15,500
288 500 458 000 | 65% | JK:14,500, %:15.500, B:18,000
I 288 500 458 000 | 65% | 14,500, £:15.500, £:16,000
288 000 458 500 | 66% | JsKA:14,000. B:15500
288 000 458
288 000 458
FR (CFIE)=fE W RERCAE) | _J 28H 000 458
288 000 458
288 000 458
288 300 458
288 800 458
[T 288 000 458
288 000 112,600 458
288 000 12, 458
288 800 | 56% 5300, £ H:12,600 458
[ J 288 800 | 53% 5900, £ H:12,600 458 5100 £ H
HRE(PHE)=RE ESICTE] I 28H 800 63% 458 ,300 [ _
288 600 | 49% 800 458 6,800, T H:11,
288 7,600 | 49% 800 458
288 7000 | 51% 800 458
288 900 | 63% 800 458 [:12500. £ H11
288 300 | 59% 458
288 300 | 56% 800+ H:12,800 458 100, £ H:11,800
288 800 | 54% 300, £ H:12,800 458 800, £ H:11,800
LB 288 700 | 60% 458 11,800
288 300 | 56% 458
288 800 | 63% 458
288 800 | 63% 458
288 200 | 56% 458
288 200 | 56% 458
288 400 | 53% 458
[ J 288 900 | 51% 458
R (HE) =8 RERCAE) | _J 288 ,900 55% 250
288 900 | 55% 458
288 500 | 62% 458
288 500 | 62% 458
288 700 | 56% 00, T8 458 10,600
288 000 | 58% |%:14,000, £ H:11,000 458 10,600
288 000 | 58% 00, £ H:11,000 458 100, £ H:10,600
BB 288 300 | 57% 400 458 11,000
288 200 | 60% | H:11.400 458 11,000
288 200 | 60% [T H:11.400 458 11,000
288 200 | 60% | H:12,300 458
288 200 | 60% | H:12,300 458
288 200 | 60% | H:11.400 458 1000
288 200 | 60% 400 458 000 _
KR (FH-ERE | KW (FMH 3 288 000 | 57% ,200, B:12,500 458 % £:12.700, B:11,900
288 500 | 55% |JKA%:13,700, £:15000 458 ; A %:13,000, F:14,500. B:12,300
288 500 | 55% K%:13,700, £:14.700 458 200 | 56% [ A X:13,000, £:13.700, B:12,300
288 400 | 55% 13,500, H:13,700 458 700 | 58% [#:13,000, H:13,500
288 400 | 55% :13,700, :13,500 458 700 | 58% 00, H:13,500
288 400 | 55% +13,500 458 700 | 58% _
288 700 | 54% ,200 450 900 | 5 13.200, £:12.500
BERER 288 400 | 59% 700, B:12,500 458 000 | 60% [ A:11,800, F:12,300, H:11,900
288 400 | 59% [T H:12.700 450 200 00, £:12.300, H:12,100
288 400 | 59% [T H:12.700 450 200 00, £ H:12,300
288 400 | 59% [T H:12.700 450 200 00, £ H:12,300
288 700 | 58% | JoKA:12,400. B:14,200 458 300 | 59% | K:12,200, 11,800, H:13,700
288 200 700, +:13,700, H:15.600 458 400 & H:14.700, +:12
288 200  H:14,400, £:13.700 458 400 & H:13,600, £:12,900
HMEFFR)=-HHR FLIREGTRH 288 .500 458 ,600 .200
288 500 458 600 200
288 500 458 600 200
EE3 288 500 458 600 X 9,200
288 500 458 600 & 9,200
288 500 458 600 x
RE=HAA BRI 288 200 458 200 3
288 300 458 200 3
A 288 300 458 200 3
288 200 ¥ 458 200
TRE=HE BERE 288 600 £:16.600 458 100
288 600 7% |+ 816,600 458 100
288 100 | 53% |[#H:18100 458 600
L 288 6600 | 54% |®H:17,600 458 100
ETES L 288 6600 | 54% |+:17.600 458 100
L 288 7,100 | 53% 458 600
L 288 5100 | 58% 458 600
L 288 4600 | 60% 458 100 :
EE-EE BERE 288 7,000 68% 458 300 3 X A.6,800
288 7,500 66% 458 900 500, H:6.300
288 7,500 66% 458 800 6,300, £:6,900
288 7,000 68% 458 300 7,500
288 7,000 68% 458 300 7,500
288 7,000 68% 458 300 7,500
288 7,000 68% 458 300 7,500
S 288 7.500 66% 7,000, +:8,200, H:7,600 458 ,300 X K:6,800, € H:6.900, 1:7,500
288 7,500 66% 7,000, +:8,200, H:7,600 458 300 K A:6,800, # H:6,900, £:7,500
288 7,500 66% | A7K7,000, £:8200, H:7.600 458 300 K A:6,800, # H:6,900, £:7,500
288 7,000 68% 200 458 300 400, 17,500
288 7,000 68% 17,500, £:7.600 458 300 7k £:6,800, £:6900
288 7,000 68% | k#:7,500, £:7.600 458 300 7k $:6,800, £:6900
288 7,000 68% | K#:7,500, £:7.600 458 300 7k$:6,800, £:6900
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EEHEAR 2019/02/05 ~

6/22-30
£/ITA #185178
=] i B T an B | mpm | BEW =
BAMR | T AR ETHES
BER(FE)=AREM | ®RRCR@E) F[_JLi01 28 H A 300 458 A1 7,700 69%
[ JLi03 | 288 700 458 400 | 55% 1,700, H:10,000
JLi07 | 28 700 458 400 | 55% 1,700, H:10,000
JC 288 900 458 100 | 56% 0,700, £:11,700, H:10,000
JC 288 900 458 100 | 56% 111,000, £:11,700, H:10,000
JC 288 400 458 600 | 58% 11,000, B:10,000
JC 288 400 458 600 | 58% 500, 9,600, B:10,000
JC 288 400 458 600 62% 10,000
JC 288 400 458 600 62% 10,000
JC 288 400 458 600 62% 10,000 _
JC 288 700 458 800 | 53% 500
JC 288 700 458 800 | 53%
[ JLi33 | 288 700 458 800 | 53%
JLi37 | 280 700 100, £:10,400, EI 11,800 458 800 | 53%
JC 288 700 | 50% 200, £:10.400, H:11,800 458 800 | 53%
RIRE () 5 [_JL 288 200 | 52% 458 300 | 55%
L 288 700 | 50% 458 800 | 53%
L 288 700 | 50% 458 800 | 53%
L 288 700 | 50% 458 800 | 53%
L 288 900 | 53% 458 100 | 56%
L 288 900 | 57% 458 100 | 60%
L 288 900 | 57% 458 100 | 60%
L 288 900 | 57% 458 100 | 60%
L 288 900 | 57% 458 100 | 60%
L 288 700 | 58% 458 100 | 60%
L 288 100 | 56% 458 700 | 58% 700
L 288 100 | 56% 458 700 | 58% 700
L 288 900 | 49% 458 000 | 52% 700
L 288 900 | 49% 458 000 | 52% 00
L 288 900 | 49% 458 000 | 52% 100
e ESCEE] I 285 000 | 64% 458 500 | 67% 600, H:20,800
288 500 | 58% ¥ 458 000 | 62% 5:21,600
288 500 | 63% 000, B:20,600 458 000 | 66% |4 17,500, B:19.100
288 500 | 63% 000, B:20,600 458 000 | 66% | %) 17,500, B:19.100
[CIES 28H 500 | 63% 000, B:19.600 458 000 | 66% | %) 18,500, B:18,000
288 500 | 65% 458 500 | 67% 16,900, B:18,500
288 500 | 67% 458 000 | 71% |B% 17,500
[J 288 500 | 67% 458 700 | 71% [H%:13,500, +:16.000. B:17.500
ECEE TR E S CEE] 285 500 | 66% 458 900 | 70% 5,900, £:13,500, +:17,000, H:16,200
288 500 | 64% 458 000 | 68% 14,500, +:18,000. 17 500
288 500 | 64% 458 000 | 68% [H%
288 500 | 62% 458 000 | 65% E 17 500 5:19.100
BLE 28H 000 | 63% % 17,000, 20,000, H19,600 458 500, H:18,000
288 500 | 64% 220,100 458
288 500 | 64% 20,100 458 N 1
[J 288 500 | 66% :19,100 458 1:13.400, K.13,000, &
R AH) B8 | RR(AE) | J 288 900 | 55% 458 1,500, H:10,900
288 900 | 55% 458 00, H:10,900
288 500 | 62% 458 1,600, + B:10,600
288 500 | 62% 458 1,600, T B:10,600
288 700 | 56% 458 10,600
288 000 | 58% 458 10,600
288 000 | 58% 458 100, £ H:10,600
I 288 300 | 57% 458 11,000
288 200 | 60% [T 458 11,000
288 200 | 60% [T 458 11,000
288 200 | 60% [T 458 1,700
288 200 | 60% [T 458 1,700
288 200 | 60% [T 458 000
288 200 | 60% [ E 458 000 _
KR (FR-ERE | KW (R 3 288 000 | 57% [% 200, B13.100 458 £:12,700, H:12.400
288 500 | 55% |J 3700, £:15,000 458 (13,000, F:14,500, H:12,600
288 500 | 55% [JKA%:13,700, £:14.700 458
288 400 | 55% :13,500, B:13,700 458 00, B13.500
288 400 | 55% 3,700, £:13,500 458 00, B:13,500
288 400 | 55% £ H:13,500 458 i
288 700 | 54% 458 13200, £:13.000
BERER 288 400 | 59% 00, H:12.500 458 00, +:12.300
288 400 | 59% 2,700 458 00, £:12.300, H:12,100
288 400 | 59% [T H:12.700 458 1,800, T B:12.300
288 400 | 59% [T H:12.700 458
288 700 | 58% 2,400, B:14.200 458
288 200 | 53% 00, £:14.300, H:16,800 458 4700, £:13500, EI15800
288 200 | 53% 4400, £:14.300 458 E 613,500
ARG TR AR LR G TR A 286 500 | 62 ] 00 456
288 500 | 5% 458
288 500 | 5% 458
EE3 288 500 | 5% 458
288 500 | 5% 458
28H 500 52% 458
#|se | JL2871 | 288 700 48 458
L2877 | 28H ,300 1 458
LI (3 F &) 5|_JL2872 | 2881 300 1 458
L2876 | 28H 700 7 458
BE-ILE Mm% | JL3531 | 28\ 8600 | 62% 458 18,600, £:19,000,
L3537 28H 7,800 64% 458 :17.600, + H:18,100
&S [ JL3530 | 288 7.800 | _64% :17,000, :18.700 458 7700 | 64% 17,600, £:18,100. H:17,300
L3538 28H ,400 60% 1 H:19,700 458 ,700 62%
RE=HAA BRI L3545 | 2880 200 £:19.300 458 ,200
L3547 | 288 300 K A:19.200 458 200
A L3542 | 2880 300 JIKA:19,200 458 200
288 200 £H:19.300 458 ,200
FEET] BRI 288 600 16, 458 100 | 58%
288 600 7 458 100 | 58%
28H ,100 53% 458 ,600 54%
28H 6,600 54% 458 ,100 56%
ETET 28H 6,600 54% 458 ,100 56%
28H 7,100 53% 458 ,600 54%
28H 5,100 58% 458 ,600 60%
288 4600 | 60% 458 100 | 61%
EE-EE BRI 288 7,500 66% 458 300 7% 6,800
28H 7,500 66% 458 ,900 69% 1500, H:6,300
28H 7,500 66% 458 ,800 B:6,300, 1:6.900
28H 7,000 68% 458 ,300 7,500
28H 7,000 68% 458 ,300 7,500
28H 7,000 68% 458 ,300 7,500
28H 7,000 68% 458 ,300 27,500
BIESE 288 7,500 66% 458 300 JK:6,800, % H:6,900. F:7500
288 7,500 66% | 57k7.000, 1 8200, 7600 458 300 6,800, % H:6,900. F7.500
28H 7,500 66% | 8 7K:7,000, j: 8,200, H:7,600 458 ,300 J 6,800, # H:6,900, +:7,500
28H 7,000 68% 0 458 ,300 £:6.400, 7,500
28H 7,000 68% 458 ,300 7K $::6.800, i 6,900
28H 7,000 68% 458 ,300 P 6,800, i 6,900
28H 7,000 68% |7K#:7,500, +:7.600 458 ,300 P 6,800, i 6,900
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BER(FE)=AREM | ®RRCR@E) F[_JLi01 28 H A 500 458 A1 000 7% 0,000, H:8.400
[JLi03 | 288 700 458 400 | 59% 1,700, H:10,000
7 | 288 700 458 400 | 59% 1,700, H:10,000
L 285 300 458 400 | 59% 2,100, £:11.700. H:10000
L 285 300 458 400 | 59% 12,400, £:11.700. H:10000
L 285 700 458 900 1,400 %:11,800, £:11,700. H:10000
L 285 700 458 900 400, £:9,900. H:10,000
L 285 800 458 000 400, 9,901
L 285 800 458 000 400, 9,900
L 285 800 458 000 400, 9,900
L 285 100 800, £:10.400. H:11.800 458 200 | 56% | A:12.400, %:12,900. 9,900, H:11.700
285 100 800 458 200 | 56% 2,400, %:12.900. £:9.900, H:11,700
[JL133 | 288 100 800 458 200 | 56% 2,400, %:12.900. £:9.900. H:11,700
L137 | 288 100 400, £:10.400, F:11.800 458 200 | 56% | A:12.400, %:13,600, 19,900, H:11.700
L 285 100 700, £:10,400, F1:11.800 458 200 | 56% | A:12.400, %:15.200, £:9,900, H:11.700
KR () 56 |_JL 285 500 458 500 | 58% 00, +:10,300, H:10,000
L 285 500 458 500 | 58% 10,000
L 285 500 458 500 | 58% 2,000, $:10.300. H:10,000
L 285 500 458 500 | 58% 2,200, %:10,300, B:10,000
L 285 800 458 400 | 62% 1.400. H:10,000
L 285 200 458 400 | 62% 0,000
L 285 200 458 400 | 62% 1.200. H:10,000
L 285 200 458 400 | 62% 10,
L 285 000 458 400 6%
L 285 000 458 400 66%
L 285 400 458 400 6%
L 285 400 i 458 400 66% X
L 285 500 400, H:11.800 458 500 | 58% 00, £:9.900,
L 285 500 400, F:11.800 458 500 | 58% 00, £:9.900,
N 285 500 . 6:13.200 458 500 | 58% |%:13,600, 19,000, H:13,100
RRCHE) LB | RmCHE)R| JL253 | 28H 900 458 400 | 66%
[ JL2s5 | 288 600 100, T H:13.700 458 700 | 55% 17,100, T H:12,600
[ JL257 | 288 7.600 100, T H:13.700 458 700 | 55% | A%:17.100. £ H:12.600
[ JL259 | 288 7.200 3,700 458 12,600
[ JL261 | 288 400 400, T H:13.700 458 3,800, T H:12.600
[ JL263 | 288 400 458
[ JL265 | 288 400 800, T H:13.700 458 5,300, T H:12.600
1267 | 288 900 300, T H:13.700 458 5,800, T H:12.600
RE&% | Ji252 | 28| 800 : 458 300, T H:12.800
[ JL2s4 | 288 400 458 12,600
[ JL2s6 | 288 900 458 000, £ H:12,600
[JL2ss | 288 900 458 000, £ H:12,600
[ JL260 | 288 500 458 516,400, £ H:12.600
[ JL262 | 288 500 458 516,400, T H:12.60
[ JL264 | 288 500 458 400, T H:12.600
[ JL266 | 288 000 458 100, £ H:12.600
R (HE) =8 RECRME)f[_JL453 [ 288 900 258
[ JLass | 288 900 . 458
[ JLas7 | 288 500 | 62% . £H:11.200 458 800
[ JLaso | 288 500 | 62% 4,100, T H:11,200 458 800
[ JLa6i | 288 500 | 59% |+ H:11.200 458 800
[ JLa63 | 288 900 458 .
L465 | 288 900 458 100, £ H:10800
BB® | Js2 | 288 500 458 11,000
[ JLass | 288 300 458 11,000
[ JLase | 288 300 458 11,000
[ JLass | 288 300 458
[ JLa60 | 288 300 458
[ JLa62 | 288 300 458 1.000
4 | 288 300 458 1.000
BE-A FE L3545 | 28H 300 458 20,200
L3547 | 280 300 4588 :19.200
AR L3542 | 28H 300 4588 :19,200
L3544 | 280 300 458 200
P FE L3811 | 28H 600 458 16,1
L3813 | 28H 600 458 16,100
L3817 | 28H 100 458 17.600
L 285 6,600 458 17.100
HERE L 285 6,600 458 100
L 285 7.100 458 600
L 285 5,100 458 600
L 285 4,600 458 15,100
EE-EE FE 285 7.300 458 :7,000
285 8,700 458 - 7,100, H:6,300
285 7.300 458 £:7,000, £:7,100
285 7.300 458 400
285 7.300 458 400
285 7.300 458 300 100
28H 7,300 458 ,300 7,100
S 285 7.300 700, £:9,100 458 300 *x
285 8000 | 67% 0. B:7,300 458 000
285 7300 | 70% 700, £:9,100 458 300
285 7300 | 70% 0 458 300 7,800, +:8,400
285 7.300 | 70% 458 300 K %:7,000
285 7300 | 70% 458 300 £%:7,000
285 7.300 | 70% 458 300 %:1,000
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BER(FE)=AREM | ®RRCR@E) F[_JLi01 28 H A 300 458 A1 00, H:8,600
[ JLi03 | 288 800, H:10,400 458 400 11.700. B:10.200
7 | 288 458 400 11,700, B:10,200
L 288 458 700 00, 5:10.200
L 288 458 700 600, H:10,200
L 288 458 100 1700, %:12,100. B:10.200
L 288 458 100 700, +:10.100, B:10.200
L 288 458 200 600, +:10,100
L 288 458 200 600, +:10,100
L 288 458 200 £%£:10,600. £:10.100
L 288 114,100, +:10,400, B:11,800 458 400 600, %:13.100, £:10,100, B:11,700
288 800 458 400 600, %:13.100, £:10,100, B:11,700
[ JLi33 | 288 800 458 400 600, %:13.100, £:10,100, B:11,700
L137 | 288 400, £:10,400, B:11,800 458 400 600, %:13.900, £:10,100, B:11,700
288 700, £:10.400, H:11,800 458 400 600, %:15.200, £:10,100, B:11,700
KR (D 5 288 458 800 .900, +:10.300, B:10.200
288 458 800 400, +:10.300, B:10.200
288 458 800 400, +:10.300, B:10.200
288 458 800 400, +:10,300, B:10.200
288 458 600 700, B:10.200
288 458 600 200
288 458 600 400, B:10.200
288 458 600 0
288 458 600
288 458 600
288 458 600
288 458 600
288 458 800
288 458 800
288 458 800
B () =R ESCTE] N 288 458 100
288 458 500
288 458 500
288 458 800
288 458 100
[EES 28H 458 500
288 458 500
288 458 500
288 458 100
[J 288 458 100
B (FE)=LEE RERECABE)%|_J 28H 450 X
288 458 17,100, £:15.400, H:14,500
288 458 17.100, £:15.400. H:14,500
288 458 00, +:15.20°
288 458 800, +:14,000, B:13.100
288 458 800, £:14.000. H:13.100
[J 288 458 100, H:15,100
L267 | 288 458 600, H:14,800
EB% | _J252 | 288 458
[ Ji25a | 280 458
[ JL256 | 28 458 _ H:12,200
[ JL258 | 28H 458 800, H:14,600
[ JL260 | 280 458 14,800
[ JL262 | 280 458 14,800
[ Ji264 | 280 458 14,800
[ JL266 | 280 458 —
R (HE) =8 HECRE) $|_JL453 288 458 2.500
[ JL4s5 | 280 458 3:12,500
[ JL4s7 | 288 200, £ H:12,500 458 12,100
[ JL459 | 280 200, £H:12, 458 12,100
[ JLa61 | 288 458
[ JL463 | 28 700, £ H:12,500 458
L465 | 288 700, £ B:12.500 458
#Ee% | _Ju452 | 28H 900 458
[ JL4sa | 280 100 458 00, B:12,600
[ JL456 | 280 100 458 000 700, H:12,600
458 | 28 700 458 900 3,300
460 | 280 458 900 3,300
462 | 280 458 900 2,500
464 | 288 458
AREFFH=ERE | KMR(FHH R JL2401 | 288 458
288 458
288 458 200 | 56% 13,000, £:15,200
288 458
288 458
288 458
288 458
BERER 288 458 X ) 13,800
288 458 900 | 60% [ 100, £:13,000. H:12.600
288 458 900 | 60% [ 0. +:14,200, H:13,000
288 458 ,900 60% |/ 0. + H:13,000
28H ¥ 458 ,100 57 1 H:15,800
28H ,900 6,200, :15.900, H:17.700 458 ,100 7" 2:15,300, £:15,000, H:16,700
28H ,900 16,200, £:15,900, H:17.700 458 ,100 7" 2X:15,300, £:15,000, H:16,700
RE=1AA BRI L 288 300 % +:20300 458 200 4% % +:20,200
: 288 300 % T H:20.300 458 200 4% | & T B:20,200
AR L3542 | 2880 300 | 524 | kokA:19.300 45B8] | 20200 | 52% |JIKA:19.200
L3544 | 2880 300 | 54% | A% H:20,300 458 9200 | 54% |H%H:20200
FEET] m3E | Jssii | 28\ 600 458 6100 | 50% 7,100
U813 | 28H 600 458 6100 | 50% 1100
[ JL3817 28H ,100 458 7,600 55% ,600
L3819 28H ,600 458 7,100 56% ,100
ETET | JL3810 28H 7,600 458 7,100 56% 0
| JL3812 28H 8,100 458 7,600 55% ,600
| JL3816 28H 6,100 458 5,600 60% ,600
L3818 | 2880 5,600 458 5100 | 61% 100
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BER(FE)=AREM | ®RRCR@E) F[_JLi01 28 H A 00 458 A1 1,600, £:10.200, H:8,600
[ JLi03 | 288 1,800, B:10.400 458 400 | 59% | Jk:11,700, K:13.000, B:10.200
Li07 | 288 800, H:10.400 458 400 11,700, 7K:13,000, H:10,200
L 288 00, B:10.400 458 700 00, %:12.300, H:10,200
L 288 11,800, B:10,400 458 700 300, A %:12,600. H:10.200
L 288 3000, +:11,800, B:10400 458 100 300, AR E:11,700, %:12,100. B:10,200
L 288 10,800, £:10,400 458 100 300, A %:11,700, £:10.100, B:10,200
L 288 10,800, £:10,400 458 200 10,100
L 288 0, B:10400 458 200 10,100
L 288 400 458 200
L 288 0,400, H:11,800 458 400 100, B:11,700
L 288 0400, H:11,800 458 400 100, B:11,700
[ JLi33 | 288 0400, H:11,800 458 400 100, B:11,700
L137 | 288 11,800 458 400 100, B:11,700
288 0,400, H:11,800 458 400 100, B:11,700
KR () 5 288 458 800 200
288 458 800 300, %:12.400 200
288 458 800 300, %:12.400, +:10,300, H:10,200
288 B 458 800 300, %:12.400, +:10,300, H:10.200
288 512,500, 1:11,400, B:10.400 458 600 200, 7K:13.500, %:11,700, H:10,200
288 0400 458 600 200
288 458 600 400, B:10.200
288 458 600 0200
288 458 600 10,200
288 458 600
288 458 600
288 458 600
288 458 800
288 N 458 800
288 ; 400, B:13.200 458 800 X
HRCHE) AL | RmCHE) | _J 288 600 | 65% 100, +:13.800, H:13.600 458 100 | 67% | %)
288 800 | 65% 458 300 | 66% | HA:11,500, JK:14,000
288 800 | 65% 458 300 | 66% | HA:11,500, X:14.000. 7K:14,100
288 300 | 60% 458 800 | 62% | oK:14400, £ H:13.700
288 800 | 56% 400, £:12.600, H:16.200 458 300 | 68% | H:14.100, 7K:14,900, A:14,600, £:12.100. B:15,700
[ 288 000 | 67% 900 458 500 | 68% [ JsK:13.000. £:12.400
288 700 | 59% . 7K:14.900, %:13,200, :15,500, B:12,600 458 500 | 63% | 14,500, 7K:14,400, %:12.700. £:15000, B:12.100
288 800 | 65% | 12,000, %7K:14,600 458 300 | 66% | 11,500, X:13.800, K:14,100
288 800 | 59% 5400, & H:15,300, £:14.100 458 100 | 61% [ JK:14,900, % H:14,800. +:13,600
[J 288 400 | 55% 400, %:16.300, £:15.000, H:15,600 458 500 | 60% | H:14.100, %:15,600, 7K:15.900, 7:14,600. %:15,800
B (FE)=LEE HRCRE) #[_J 288 900 65% 1,900 458 ,400 66% | X}
288 600 | 52% 200, £:16,500, B:15.000 458 700 | 49% [H 17,100, £:15,400, H:14,500
288 7600 | 5% 200, +:16,500, B:15.000 458 700 | 49% [A:16. 117,100, +:15,400, H:14,500
288 7.200 | 54% 14,900 458 700 | 55% |
288 700 | 63% 15,300, £:14.400. H:13,500 458 500 | 64% [k
288 700 | 63% 458 500 | 64% [k
[J 288 400 | 58% 458 900 | 60% | %7} 900, F:14,100, H:15,100
L267 | 288 900 | 57% 458 400 | 58% | %) 00, £:14,600, H:14,800
EB% | _J252 | 288 800 | 63% 458 100 | 65% | %) 13,300
[ Ji25a | 280 400 | 58% 458 900 | 60% | %7} 400
[ JL256 | 28 900 | 65% 458 400 | 66% | %) 3,000, H:12.200
[ JL258 | 28H 900 | 65% 458 400 | 66% | %) 00, +:13.800. H:14,600
[ JL260 | 280 500 | 58% 458 100 | 54% A4 14,800
[ JL262 | 280 500 | 58% 458 7100 | 54% [H%
[ Ji264 | 280 500 | 55% 458 000 | 57% | %)
[ JL266 | 280 000 | 54% 458 300 | 56% | %)
R () B WR(FIE)R[_JL453 | 288 7,700 50% 458 ,900 61% | K}
[ JL4s5 | 280 7,700 | 50% 458 900 | 61% | %)
[ JL4s7 | 288 5300 | 57% 458 700 | 62% | &)
[ JL459 | 280 5300 | 57% 458 700 | 62% | %)
[ JLa61 | 288 7600 | 51% 458 900 | 61% | %)
[ JL463 | 28 7,100 | 5% 458 900 | 61% | %)
L465 | 288 7,100 | 5% 0. £ H:12,500 458 900 | 61% | %)
BB | _J452 | 288 7300 | 51% 900 458 300 | 60% | %)
[ JL4sa | 280 700 | 56% 100 458 000 4t 00, H:12,600
[ JL456 | 280 700 | 56% 100 458 000 0% 700, H:12,600
[J 288 600 | 56% 700 458 900 0%, 3,300
[J 288 600 | 56% 700 458 J
[J 288 600 | 56% 900 458 J
288 600 | 56% 112,900 458 J
KR(FRH-ERE | KR (BFH%| J 286 500 | 58% | 14700 258
288 700 | 55% ,200, 7K:13,500, %:15,800, H:16,700 458
288 700 | 55% ,200, 7K:13,500, %:15,800, H:15,000 458
288 000 | 57% 458
288 000 | 57% 458
288 600 | 58% 13500, B:16.700 458
288 400 | 56% 00, H:16.700 458
BERER 288 000 | 60% 200, £:14,300, B:13.100 458
288 ,000 60% 200, £ H:13,500 458 X
288 500 | 58% R:13,000, £:15.700 458 000 £:12.900, £:14,500
406 | 288 500 | 58% ,000 458 000 KA:12,900
L241 288 200 56% :19,000, 7K:17,600, %:17,200, £:15.700, B:17.700 | 458 ,100 k:18,500, 7K:17,400, 16,300, £:14,500, B:16,700
L2412 | 288 ,900 115,900, B:17.700 458 100 7
L2414 | 288 ,900 ,900, B:17.700 458 100 7
BTk BER L 288 300 458 200 4
: 288 300 458 200 4
AR L3542 | 2880 300 45B8] | 20200 | 52%
L3544 | 2880 300 458 9200 | 54%
Rm-5E m3E | Jssii | 28\ 600 458 6100 | 50%
U813 | 28H 600 458 6100 | 50%
U817 | 28H 100 458 7600 | 55%
L3819 | 288 600 458 7100 | 56%
WM | JL3810 | 288 7,600 458 7100 | 56%
U812 | 28H 8,100 458 7600 | 55%
U816 | 28H 6,100 458 5600 | 60%
L3818 | 2880 5,600 458 5100 | 61%
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B | masm | EUE | sz %
BEFR(HE)=KR (G | RRAE)#|_J 300 7} 458 A1 7KK:11.600, £:10.200
[J 500 7 45H 7 212,300, H:10,300
J 500 B 45H 2 212,300, H:10,300
J 500 B 45H 2 700, #:12,300, H:10300
J 500 B 45H 2 800, £:12,600, H:10,300
J 000 7 45H 2 700, #:12,100, £:11,700, B:10,300
JL 288 000 . 45H [ 700, #:11,700, £:10,700. B:10,300
JL 288 000 . 45H 2 600, £:10,600
JL 288 000 . 45H 2 600, £:10,600
JL 288 000 . 45H 2 600, £:10,600
JL 288 300 . 0,400, H:11,800 45H 2 700, £:13,100, £:10,300, B:11,700
JL 288 300 . 0,400, H:11.800 45H [ 700, £:13,100, £:10,300, B:11,700
[ J 288 300 . 400, B:11,800 45H 2 600, £:13,100, £:10,300, B:11,700
J 288 300 . 45H 2 800, £:13,900, £:10,300, B:11,700
JL 288 300 E. 45H [ 15,800, £:10,300, H:11,700
KBR (7 $e|_JL 288 700 7 4585 7 00, + H:10.300
L 288 700 7 45H 7 00
L 288 700 7 45H 7 00
L 288 700 . 45H 7 00
L 288 800 | 50% 45H 700, K1 11,700, £:11,200, H:10,300
L 288 400 | 59% |4 45H KA:13,500, :11,200. B:10,300
L 288 400 | 59% |7 0,400 45H ki1 3,500, F:11,400, H:10,300
L 288 400 | 59% |} 0,400 45H [k £:10
L 288 400 | 5% |F 45H (B
L 288 200 | 59% | 45H 7
L 288 700 | 58% | 45H 7
L 288 700 | 58% | 45H 7
L 288 700 | 54% | 45H 7 B:11,700
L 288 700 | 54% | 45H 7 B:11,700
L 288 700 | 54% | 45H B H:13,100
RRCAB) =ML | RRCAE) | _J 288 800 |62 | 458
288 800 | 65% | . 45H [k
288 800 | 65% | 400 45H [k
288 300 | 60% | 400, H:14.700 45H [k
288 800 | 56% 400, A:13.400, £:15.300. H:16.200 45H [
[ 288 900 | 64% 45H [k
288 700 | 59% 600, £:15,500, H:14.500 | 458 [k
288 800 | 65% | 45H 7
288 800 | 59% |} 15300, £:14.100 45H );
[J 288 300 | 554 |F 400, :13.500, £:15.100 45H );
HFE(PE)=EE BEREE R[] _J 288 300 61% |} 700 458 ) 12,100, +:14.200
288 600 | 5% |3 00, H:15,000 45H A 100, 17,600 H:14,600
288 7.600 | 5% |7} 100, H:15.000 45H [A:1
288 7.200 | 54% |J X 45H [kt
288 400 | 61% |4 ,300, H:13.500 45H [ . 13,800, B:13,100
288 400 | 61% |4 ,300, H:13.500 4585 [ 00, £:13,800. B:13,100
[ J 288 400 | 58% |} 458 [k
L267 | 288 900 | 57% | 458 [k
EB% | _J252 | 288 800 | 63% | 45H [
[ Ji25a | 280 400 | 58% |} 45H [k
[ JL256 | 28 500 | 64% | 45H [k
[ JL258 | 28H 500 | 64% | 458 [k
[ JL260 | 280 600 | 554 |F 458 [E
[ JL262 | 280 600 | 554 |F 45H [
[ Ji264 | 280 500 | 55% | 45H 7}
| JL266 | 288 000 | 54% |3} 00, £:16.800. H:17.700 458 ]
HRE(PE) =8 BR (FIE) $[_JL453 288 7.700 50% |7} X 458 [
[ JL4s5 | 280 7.700 | 50% |7} 458 B
[ JL4s7 | 288 7.700 | 50% |7} 45H B
[ JL459 | 280 7.700 | 50% |7k 45H B
[ JLa61 | 288 7.700 | 50% |7} 458 B
[ JL463 | 28 7.700 | 50% |7} 45H B
L465 | 288 7.700 | 50% |7} 458 B
BB | _J452 | 288 7300 | 51% |3} 45H B
454 | 280 700 | 56% |3 X 45H [4
456 | 280 700 | 56% | 100 458 [ 7k:20,000.
458 | 28H 600 | 56% | ) ,000, T H:13.700 45H 7K:19.200,
460 | 28H 600 | 56% |7} ,000, T H:13.700 458 7K:19.200, 4
462 | 28H 600 | 56% |} 458 7K:19.200,
600 | 56% | 45H 7K:19,200, 4
RRCAE) R | RRCAB 000 | 58% | 255 3
300 7 45H 7
,900 7 458 E:
,900 7 45H B
,900 . 45H [k
.900 | 53% | 45H B
900 | 50% | 458 B,
B 300 | 54% [J 450 E: 200
.800 53% 458 400, % +:17.300, H:14,800
500 | 56% 450 200
500 | 56% 450 900
.000 55% 458 0, $:15,600, H:17,500
,200 49% 458 ., £:16,000, H:18,500
200 52% 458 400, % H:17,800, £:15,000
R CHE) =4l RER(PE) R 100 53% 458 00
.300 44% 45881 | 0. A:18,500
100 61% 458 500, % 1:16.900, H:18,800
800 | 50% 450 0
000 | 45% 00, +:17.900 450 0, K:18,500, F:17,200
2300 44% 600, £:19.700, H:22.400 45881 | 200, A:18,500, +:19,000
AL 200 | 5% 450 00
200 | 5% 450
200 | 60% 450
300 | 47% 450
500 | 46% 450
500 | 46% 450
AR(FH=ERE | XR(EFH [ ,200 53% 258
.000 42% KB :17,600, £:18,100 458
100 | 47% 17,600, £:18,100 450
700 | 5% 17100 458 K:13 00
700 52% :17.100 458 3,000, 7:13,400, £:14,800
700 | 52% 450 13,000, A:13.400
700 52% 458 13,000, A:13.400
EREH 200 53% 458
200 | 53% £:17.100 450
600 | 46% 100, %:17.200, F:15.700, H:17,700 450
7,600 | 46% 100, $:17.200, £:15.700, H:17,700 450 k1
700 52% 7,900, #:17.200 458 500, :14,200, #:16,300
700 52% £:15.900 458 213,100, 7K:13,700, 7:14.200, $:15.00
700 | 52% 450 J%:13,100, 7K:13.700, :14.200
R FFR)=F HLIR (3 F %) A 800 44% 258
700 | 52% 458 7K:10.800
700 52% 458 7K:10.800
3 800 | 44% 458
700 | 52% 458 FKA:11.200
700 | 52% 458 1,200
EE-FE RER 600 | 57% 458 7,100
600 | 57% 458 17,100
100 | 53% 458 18,600
600 | 55% 458 18,100
ETES 7,600 | 55% 458 8,100
8100 | 53% 458 18,600
6100 | 59% 458 16,600
5600 | 60% 458 16100 _
BR-25 ESEES 7,900 68% 458 K:6,800, 7:7,200, % 17,100, H:7,600
9,200 63% |4 458 7,200, £:7.100, B:7.600
7,900 68% | Al 458 8,300, K
7.900 68% | H:C X 458 :8,300, 7K:6.800, N
7,900 68% | 59,000, A H:8400 458 300, 7K:6,800, 7:7,200, H:7.600
7,900 68% | :9,200, A H:8,400. %:8,200, £:10,100 458 N
8,400 66% | A:9,.200, .900, :8,200 458 , 7K:7.800, A:
B 7,900 68% | /K#:0200, A H:8,400 458 7k$:8.300, A H:7,600
7,900 68% | /K#:9,00, A H:8.400 458 7k$:8,300, A 87,600
7,900 68% |} 200, A H:8.400, £:10.900 458 7k $:8,300, A H:7.600. 1:9,900
7,900 68% | A H:8,400, £:9,201 458 7K:7,00, A H:7,600, :8.300
7,900 68% |} 458 7K:8,300, A H:7.600
7,900 68% |} = 458 7K:8,300, AH:7.600
7,900 68% | A H:8,400, £:0.200 258 7K:7.200, A H:7,600, %:8.300




MEs3l5 158

EER(BA19~25BE%RS)

EFEAE :2019/02/05 ~
§/19-25
=h B 5 = £/ITA - #185178
FH# y —O% F - — o8
wame | EU# | g | % mamE | R | i sl
R CAE)=KIE () | R (AE)F[_JLioi | 2871 700 | 68% | 45B 81 100 7% 100, £:9,100. H:8,600
[ JLi03 | 288 700 | 58% 458 400 | 59% 1200, +:11.700, B:10,100
JLi07 | 28 700 | 58% 458 400 | 59% 1200, +:11.700, B:10100
JC 288 700 | 54% 458 700 | 58% 500, 112,200, %:11,200, H:10,100
JC 288 500 | 55% 458 700 | 68% | H:12.,500, A:12,600, % +:11,600, H:10,100
JC 288 000 7 12,400, %:1 111 800, B:10,400 458 100 | 60% | H:12.500, A:12,100, % +:11,600, H:10,100
JC 288 000 11900, £:10,800, H:10.400 458 100 | 60% | H:12.,500, A:11,700, %:11,000. + H:10,100
JC 288 900 458 100 | 63% 1,400, A 10,600
JC 288 900 458 100 | 63% 1400, A %:10,600
JC 288 900 458 100 | 63% 1400, A %:10,600
JC 288 300 | 52% 0,400, H:11,800 458 400 | 55% | H:13,500, A:12,100, %:13,100, £:10.100. B:11,700
JC 288 300 | 52% 0400, H:11,800 458 400 | 55% 500, 12,100, %:13,100, £:10,100, B:11,700
[ JLi33 | 288 300 | 52% 0400, H:11,800 458 400 | 55% 500, 12,100, %:13,100, £:10,100, B:11,700
JLi37 | 280 800 | 50% 458 400 | 55% | H:13,500, A:12,800, %:13,900, +:10.100, B:11,700
J 288 800 | 50% 458 400 | 55% .500‘ 2: 12.500‘ % 15 200‘ £ 10 100‘ B:11,700
KR () 5 288 800 | 54% 458 900 | 57% EI
288 300 | 52% 458 400 | 55%
288 300 | 52% 458 400 | 55%
288 300 | 52% 458 400 | 55%
288 500 | 55% 458 700 | 58%
288 400 | 59% 600, +:10.300, H:10400 458 600 | 62% [H8100. £9600. B9800 | Eleaoo
288 400 | 59% 600, H:10,400 458 600 | 62% |H:8,100, B:9,800
288 400 | 59% 458 600 | 62% | H:10,700, 10100 EI 9300
288 200 | 59% 458 600 | 62% 00, £:9
288 200 | 59% _ 458 600 | 62% 000 19700 EI soo
288 700 | 58% :10,400, B:11.800 458 200 | 59% | H:10.200, £:10,600, :9,700, H:11,700
288 700 | 58% |J £:10400, B 458 200 | 59% | H:10,200, £:10,600, :9,700, H:11,700
288 500 1 458 600 | 54% 100, %:11.600, £:9.700, B:11,700
288 500 1 K 458 600 | 54% 100, %:11,600, £:9.700, B:11,700
288 500 1 800, +:10400, B:13; 458 600 | 54% 800, +:9,700, B:13,100
R (R -EL R (AE) 5| J 288 200 4 £:14000, B 458 300 | 66% 400, %:13,500, B:13.100
[J 288 700 | 62% 458 800 | 65% 900, 14,000, H:13,600
[J 288 700 | 65% 14,700 458 300 | 66% 400, + H:14,200
[J 288 900 | 59% :14,200, B:14,600 458 400 | 60% 300, %:14.200, £:13.700. B:14,100
288 400 | 57% £:12.600, B:15.800 458 900 | 59% 300, :14,600, 112100 515,300
[ZITE 288 700 | 65% 0 458 300 | 66%
[J 288 900 | 59% 458 400 | 60% 00, %:12,700. 1 512,100
288 700 | 65% 458 300 | 66% 800, %:12.400, 4200 5:14,000
288 400 | 57% 458 900 | 59% 800, £:15.300, T
[J 288 400 | 55% 458 600 | 57%
AR PEH-LE | RRPER| J 288 100 | 65% X 458 500 | 66% 900, % B:11.900, F:12,300
[J 288 800 | 60% 100, 117,600, £:16.700 458 000 | 54% 400, %:17,100, 15,600, B:14,300
[J 288 800 | 60% £:17.600, £:16.700 458 7000 | 54% 400, %:17,100, 1 5,600, B:14,300
[J 288 400 | 53% 458 5:14,300
[J 288 100 | 65% 458 5:13,800
[J 288 100 | 65% 458 3,900, B:13,800
[J 288 300 | 59% 458 15,800
L267 | 288 800 | 57% 458 15,600
EB% | _J252 | 288 200 | 62% 458
L254 | 288 100 | 56% 458
[ JL256 | 28 400 | 64% 458
[ JL258 | 28H 000 | 62% 458
[ JL260 | 280 500 | 58% 458 3
[ JL262 | 280 500 | 58% 458 4300, B:15400
[ Ji264 | 280 500 | 53% 458 4,300, H:15,400
[ JL266 | 280 7,700 | 5% 458
R (HE) =8 RECRE)f[_JL453 [ 288 600 56% 250
[ JL4s5 | 280 600 | 56% 458 .
[ JL4s7 | 288 000 | 61% 458 3500, £ H:11.800
[ JL459 | 280 000 | 61% 458 3500, & H:11.800
[ JLa61 | 288 400 | 57% 458 4,100, £ B:11.800
[ JL463 | 28 600 | 56% 458 11,800
L465 | 288 600 | 56% 458 11,800
BB | _J452 | 288 400 | 57% 458 4,100, T B:11.900
[ JL4sa | 280 700 | 59% 458 12,100
[ JL456 | 280 700 | 59% 458 12,100
[ JL4s8 | 280 200 | 57% 458 3400, £ H:13000
[ JL460 | 280 200 | 57% 400 458 3,800, + H:13.000
[ Jia62 | 280 600 | 56% 500 458 12,100
464 | 280 600 | 56% 500 458 12,100
KR (BFH-ERE | ABR(FH) | J2401 | 288 700 | 61% 15,100, B:12,200 458 . £:14.300. H:11,600
[JL2403 | 28H 600 | 49% £:16.100 458 £:15.300
[JL2407 | 280 000 | 57% 16,600, £:16.100 458 16,100, 15,300
[UL2409 | 28H 400 | 59% ,900, B:15.100 458 3,100, H:14300
L2411 | 288 400 | 59% 100 458 00
L2415 | 288 600 | 61% 700, H:15.100 458
400 | 59% 100, H:15.600 458
BERER 100 | 63% 300 458 2,700
100 | 63% 600, H:13.700 458 4700, H:12,900
000 | 54% 100 458 15,100
000 | 54% 458
200 | 59% :15,600, H:15.100 458 14,700, B:14,300
300 | 50% :13,000, +:13,400, B:16.100 458
300 | 50% :13,000, +:13.400, B:16.100 458
HM B Tm)-hEm L0 (5 Tm) 3 _J2803 | 288 300 | 46% | A:16.700, KA 12700 450
288 700 | 5% 458
288 700 | 5% 458
EHRE 288 ,300 46% | 5:17.200, A AK:12,700 458 X B:13,000, Kk A:9,500
288 700 458 9,500
288 700 458 9,500
RE=HAA BRI 288 300 20,300 458 19200 | 54% |%F:20,200
288 300 K:19,300 45881 | 20200 | 52% |JIKA:19.200
A 288 300 £:19,300 45B8] | 20200 | 52% |XKIKA:19.200
288 300  H:20,300 458 200 4 £ H:20.200
FEET] BRI 288 600 6,600 458 100 1% _[£:16.100
288 600 :16,600 458 100 1% [+ H:16,100
288 100 18,100 458 600 7% % B:17.600
288 6,600 17,600 458 100 | 659% [#H:17.100
HER 288 6,600 17,600 458 100 59% 100
288 7,100 458 600 | 57% E:17,600
288 5,100 458 600 | 62% 15,600
288 4,600 458 100 4 15,100
1ERE== 5 EER 288 7.300 : 700 X IK:8,200 458 6,300 4 ,500, X 7K:7,100
288 8,800 7,800, £:10,300, H:7.300 458 8,000 7 500, :9,600, H:6,300
288 8,200 800, F:10,100, H:7.300 458 7,100 500, £:8,800, H:6.300
288 7,300 :10,100 458 300 £ H:8800
288 7,300 100 458 300 £ H:8,800
288 7,300 100 458 300 £ H:8,800
288 7,300 :10,100 458 300 £ H:8.800
=] 288 7,300 200, 8,800, £10300 458 300 J7K:7,100, &8 ouo £:9,600
288 8,200 300, %:8,800. :10,300 458 100
288 8,200 300, £:8,800, +:10,300, H:10.100 458 7,100 6,300, £:8,000, ;t 9,600, £:8,800
288 7,300 800, £:10,100 458 6,300 000, £:8,800
288 8,200 67% 7,300, £ H:10,100 458 7,100 X:6,300, I H:8.800
288 8,200 67% 7,300, £ H:10,100 458 7,100 X:6,300, I H:8,800
288 8,200 67% 7,300, £ H:10,100 458 7,100 X:6,300, I H:8.800
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rEBEI5 1 EER (8A26~31BERS)
EEWAA . 2019/02/05 ~ S—
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3 P E—28
- PN wdm | R |yl il
ﬁg\gﬂi 700 45E 8L 100 71% [ £:9.000 N
= R e 400 | 59% 1200 £:11.70
e o en 7o gg 400 | 59% 200, £:11,700
o o0 458 700 | 58% 2,000, %:11,200
L e g 458 700 | 58% 2,600, %:11,600. E:11,300
L e 0 458 100 | 60% | A:12.100, %:11,600, £:11,300
L e %00 458 100 | 60% 1.700. %:11.000, £:9,900
L e %00 458 100 | 63% 110,600, £:9,900
L e %0 458 100 | 63% 110,600, £:9,900
L e %0 458 100 | 63% 10,600, £:9,900
L e %0 458 400 | 55% 2,100, %:13.100. £:9.900
L e % 458 400 | 55% | A:12.100, %:13.100, £:9,900
e % 458 400 | 55% 2,100, %:13.100, £:9.900
ST % 458 400 | 55% 2,800, %:13.900, £:9.900
e s %% o 458 400 | 55% |A:12.800, %:15.200. £:9.900
288 300 | 524 000 £:10.400 258 00 [t [R12500, @150
KR () 5 288 800 | 54% L 0 1%
= oo 458 400 | 55%
288 300 | 52% L £
288 300 | 5% L 0 | ok
= T 458 600 | 62%
288 400 | 59% L 500 sk
288 400 | 59% L 00 s
= oo 458 600 | 62%
= T 458 600 | 62% 0
= T 458 200 | 59% 600, £:9,500
= T 458 200 00, £:9,500
288 700 | 58% L 2%
= o 458 600 4 600, £:9,500
= o 458 600 4 800, £:9,500
= T on 458 100 300, %:12,400. 13,500
R kS = oo 458 500 800, %:12,300, E:14,000
, = i g;: 458 500 _£:14,000
= NI ; % 400, %:13.800. 13,700
= o T R gg ;gg g;% 400, %:15.300, +:12,100
288 400 | 57% 800, £:12,600 L 00 o 15500
A = R ; 458 400 | 60% |%:12.700, £:14.200
= o on i 458 500 | 68% |H%:12,300 114,000
= o R 458 700 | 60% 00, %:14,800, £:13,300
288 200 | 58% 300, £:14,300 L 100 T 5o 00, 14500,
285 200 | 55% 300, £:14.300 8 X
RO e - = oo 7.100. £:13,900
B (FE)=LEE RERECABE)%|_J 28 o o igg T
288 7.600 | 52% L A
288 500 | 55% L 500
288 100 | 65% L 500
288 100 | 65% L %
288 300 | 59% io5 400
e m 0T em 700 458 200
252 | 288 200 . 200
EEE L254 | 288 900 | 57% 15,300, £:15.100 323
[ JL256 | 28 400 | 64% E—
[ JL2ss | 288 400 | 66% 400, F:14600 zgg %0, T 15
[ JL260 | 288 800 | 60% 500, +:14,600 io 0. 15500
[ JL262 | 288 800 | 60% 500, £:14,600 io 500,
[ JL264 | 288 900 | 54% 600 io
[ JL266 | 288 400 | 53% ‘938‘ £:14,500 io
()= = (P [ JL4s3 | 280 600 | 56% X
R (HE) =8 iﬂ(ﬂm)ﬁ_,tﬁs 28 o 0 X0 323
[ JLas7 | 288 000 | 61% 200 io
[ JLaso | 288 000 | 61% 200 io
[ JLa61 | 288 400 | 57% 200 L]
[ JLa63 | 288 600 | 56% 200 io
[ JLaes | 288 600 | 56% 200 io
BER 452 | 288 400 | 57% 300 io
[ JL4sa | 280 700 | 50% 500 L]
[ JL456 | 280 700 | 5% 500 L]
[ JL4s8 | 280 100 | 58% T
460 | 288 100 | 58% io : C
i a0 o 458 100 | 60% 600, F:12,100
464 | 288 600 | 56% io . C
AREFFH=ERE | KMR(FHH R JL2401 | 288 700 61% 22
288 500 | 55% io
288 500 | 55% io
288 400 | 59% io
288 400 | 59% io
288 600 | 61% io
288 400 | 59% ,900 LT
BERER 288 100 | 63% 400 ]
288 100 | 63% 900 ]
288 000 54% 100, +:12,900 2
288 000 | 54% 0 00 4o
L2410 | 288 200 | 50% .30 X —
L241 28H ,100 54% 900, £:16,300, +:13.400 :gg R TRERT
L241 288 100 54% [7k:13,900, %:16,300, F:13,400 2 o
i s ¥ o K — 458 20200 | _52% | JKA:19,200
: 288 300 5B [ u;
AR L3542 | 2880 300 455 |
L3544 28H ,300 o
EE-Rm Mm@ | JLesil | 28H 600 24
L3813 28H ,600 o
U817 | 28H 100 ]
[ U819 | 28H 6,600 ]
HmE | Js8i0 | 288 6,600 4o
L3812 28H 7,100 o
U816 | 28H 5,100 ]
[Jssis | 28H 4,600
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P N P N 7/12 7/13 7/14 7/15
= wn | R O A 317 E| ERITA] KRA7E| ERITA] (7B | T A] I
iR | malE | BRM | BR@ | @AW | R4 | SE@ | BRE | GRW | BAA
TR ) KR () | R (FE) % |_JLior | 268 g 5500 o
JL103 28 .700 11,
L107 28 .700 11,
JL 28 700 11,
L 28 ,300 11,
oL 28 300 K
L 28 800 I
28 .200 | 11
28 ,200 | 11
125 | 28 200 11
L127 | 28 900 12
o131 | 28 900 12
[Cuias | 28 100 12
JL137 | 28 700 12
0139 | 28 700 1
KB (7 F[_JL102 | 28 .300 10,
JL104 28 ,900 | 10,
| _JL106 28 .900
JLi10 | 28 900 [ ic
JL 28 400
JL 28 400 X i
JL 28 700 i KK
JL 28 300 o, IEEX
iz |28 200 [Cio. 12,
JL124 28 .100 | 10.! 14,
[JL126 | 28 300 12. [ 5.
[uLize | 26 600 12 5.
JL130 | 28 400 T2 Ts.
JLi34 | 28 200 T2, 15,
JL138 28 4.600 1 1
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P Py 8/1
- . FARIMTA| £1§517B FE A BT
T | e | Ema | EmEa

BEAMAR | MAME A
HR(PH)-E8 HE(PHE) F|_JL: 288 =] 24.900
28 24,900
28 23,700
28 700
28 900
28 .900
28 900
[EEES 28 26700
28 300
28 300
28 500
28 500
28 500
4 | 28 500
RE=A iEm% | JL3545 | 28 ,300
L3547 | 28 300
wmAFE [ JL3542 | 28 .300
L3544 | 28 300
A= EE%x [ JLssi1 | 28 ,600
L3813 | 28 600
L3817 | 28 100
L38 28 600
HpmEs% | JL3s10| 28 7.600
L38 28 8.100
[ JL3816 | 28 6.100
L38 28 5.600
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T 8/10 8711 8/12
= wp A R s A %3 17E| KRITA| RSITE| ERITA] KRILTE
iR | ma g | BR® | ER@ | @8@ | @84 | @ FEr
TR ) KR () | R (FE) % |_JLior | 268 ] 7300 | 6900 a0 |
JL103 | 28 200 | 17.800 13 [ 1
L107 | 28 200 | 17800 13 1
N 28 200 | 1 BE T
L 28 700 | 1 [ 13500 | 1
oL 28 7.700 | 1 13 [ 1
L 28 7700 | 1 E T
28 700 | 1 IE T
28 700 | 1 BRE T
125 | 28 700 | 1 IE T
L127 28 ,700 | 13
JL131 28 700 |13
[uLiss | 28 200 s,
JL137 28 .200 | _13.
JL139 | 28 200 E
KB (7 F[_JL102 | 28 100 12,
JL104 28 ,700 13,
| JL106 | 28 700 13.
JL110 28 ,700 13,
JL 28 700 13
JL 28 700 13,
JL 28 700 13
JL 28 700 13
| JLi20 | 28 700 12,
JL124 28 ,700 12,
| JLi26 | 28 700 12,
[ JLi2s | 28 700 T2
JL130 | 28 700 14
JL134 | 28 700 14
JL138 | 28 700 [ 14
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P N P N 8/15 8/16 8/17 8/18
= wn | R O A | &3 17E| ERITA] KRA7E| AT A] RA(7E| AT A] I

FH FH . . = [ = [ = [
BAME | BAME EEHE | EER EEE | EER EEE | EER EEE | EEH
R CRE)=XKIR () | R CAE) $|_JL101 288 B 8700 | ° | 10 | 10
JL103 | 28 200 | 1 11, 11,
L107 28 200 | 1 11, 11,
JL 28 300 | 1 12, | 12
L 28 300 | 1 12, [ 12
JL 28 700 | 1 12,
L 28 700 | 1 12,
28 700 | 1 |11,
28 900 | 1 | 11
125 | 28 900 | 1 | 1t
L127 | 28 200 [ 1 | 11
JLi31 | 28 200 | 1 | 1t
[ JLi33 | 28 200 | 1 | 11
JL137 | 28 200 | 1 | 1t
JL139 | 28 200 | 1 [ it
KB () F[ JLi02 | 28 .800 11,
JL104 28 ,.800 11,
| JLi06 | 28 .800 11,
JL110 28 ,.800 11,
JL 28 .800 11,
JL 28 800 11,
JL 28 .900 11,
JL 28 .900 11,
| JLi20 | 28 .400 11,
JL124 28 400 11,
| JLi26 | 28 .400 11,
[ JLi2g | 28 400 i1,
JL130 | 28 .400 | 13 X
JL134 | 28 .400 [ 13 | 14,900 700
JL138 28 .400 | 13 14.900 700
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151 IEER (9A2~12BHEESD)

BEBAE :  2019/02/05
9/2-12
=] = FRIMTA e #185178
FH# F - EE
BAME mamg | T | mi sl
RR(FH)=KR(FH) | R (FHH)# 28H B 458 A1 7,900 69% 00, H:8.400
288 458 400 | 55% 1000, 11,700, H:9.900
288 458 400 | 55% 1000, +:11.700, 5:9.900
288 458 400 | 55% 900, %:11,000, £:11,700, H:9.900
288 458 400 | 55% 400, % F:11,300, H:9.900
288 458 900 | 57 800, % F:11,300. H:9.900
288 458 900 7 1400, £:10,800. + H:9.900
288 458 900 1 %:10400
288 458 900 1 10400
288 458 900 1 £:10400
288 458 200 R:11,800, %:12.900, £:9,900, B:11,700
288 458 200 1,800, %:12,900, :9,900, H:11,700
288 458 200 1,800, %:12,900, :9,900, H:11,700
288 400, B:11.800 458 200 | 62% | A:12,600, %:13,600, :9,900, H:11,700
L 288 10400, B:11,800 458 200 | 52% 2,600, %:14.600, £:9.900, B:11
RIRE () 5 [_JL 288 400 458 600 | 54% E
L 288 400 458 200 | 52% 00, 9,40
L 288 400 458 200 | 52% 1,200, £:9.400,
L 288 110,400 458 200 | 52% [%:11,200, +:9.400
L 288 :10,400 458 400 | 55% 0400, $:9.400, B9,
L 288 458 400, H:9.600
L 288 458 600
L 288 458 900, H:9.600
L 288 458 500, H:9,600
L 288 458 500, 9600
L 288 800 458 400, +:9,500, B:11.700
L 288 800 458 700
L 288 800 458 +:9 700
L 288 800 458 1300, +:9,500, B:11,700
[ JC 288 700 458 12,600, £:9,500
B (FE)=LEE RECRE) | _JL253 288 458 2,300
255 | 280 458 6,900, H:12,800
257 | 288 458 6,900, + H:12,800
L259 | 288 458 12,800
261 | 288 458 500, H:13,000
263 | 280 458 500, + H:13,000
265 | 280 458 100, + H:12,900
L267 | 288 458 800, + H:12,800
L% 252 | 280 458 700, B:12,500
254 | 28 458 12,900
256 | 28H 458 900, T B:12,800
L258 | 288 458 900, F B:12,800
260 | 288 458 515,200, + H:12,800
262 | 288 458 515,200, + H:12,80
264 | 280 458 400, + H:12,800
[ JL266 | 280 458 516,700, + H:12,800
RR(AH) @8 | Rm(AH) %[ J453 | 280 458 300, H:10,900
455 | 280 1,700 458 00, H:10900
457 | 280 500, £ H:10,800 458 1600, + H:10,400
1459 | 288 500, £ H:10,800 458 1600,  H:10.400
461 | 280 :10,800 458 10,400
463 | 280 900, £ H:10,800 458 10400
L465 | 288 00, £ B:10.800 458 100, £ H:10.400
I L452 | 288 r 458 11,000
454 | 280 400 458 11,000
456 | 280 400 458 11,000
458 | 28 300 458
L460 | 288 300 458
462 | 280 400 458
464 | 280 400 458
RIR (G- B | KIR (7 36| JL2401 | 28 200, H:12200 456
12403 | 288 5.200 458
288 14,700 458
288 3,700 458
288 £ H:13,700, £:13600 458
288 458
288 113,700, £:12.900 458
BERER 288 B 458
288 458
288 458
288 458
288 458 .
288 3,900, %:15,000, F:13,400, H:15.800 458 3,100, %:14.100, ¥:12,600, H:14,800
288 :13,900, :13.400 458 K:13.100, £:12.600
EE=1AA BRI 288 F 20 458 £:20,200
288 4588 | :19,200
TAA5E 288 458 :19,200
288 458 & H:20,200
FEET] BRI 288 E 458 16,100
288 E3 458 16,100
288 ES 458 600
288 ES 458 100
ETES 288 458 1100
288 458 600
288 458 600
288 458 15,100
tEfE== e 1EE% 288 458 6,300 71% ] Kk :6,900
288 458 7,100 000, H:6900
288 458 900 6,300
288 458 300 600
288 458 300 000
288 458 300 000
288 458 300 1:8,000
BIESE 288 458 900 69% 100, %£:8,000. H:6,300
288 458 900 100, £:8,000, B:6,300
288 458 900 6 300, %:7.100, £:8,000
288 458 300 400, 1:8,000
288 458 ,900 :6,300, £:7,000
288 458 ,900 £:6,300, £:7,000
28H B 458 000 68% k:6,300,  H:6.900




I%/BE5 BERVA17~30AEED)

EFEAE :2019/02/05 ~
9/17-19,9/24-30
=] fiE:] FRIMTA #185178
FH BT e
BARIR BAKIR FUEIES
RR(FH)=KR(FH) | R (FHH)# ot 28 H A 458 A1 7,900 69% 00, H:8.400
| JL103 | 288 458 400 | 55% 1000, 11,700, H:9.900
7 | 28H 458 400 | 55% 1000, +:11.700, 5:9.900
288 458 400 | 55% 900, %:11,000, £:11,700, H:9.900
288 458 400 | 55% 400, % F:11,300, H:9.900
288 45H 900 | 57 800, % F:11,300. H:9.900
288 45H 900 7 1400, £:10,800. + H:9.900
288 458 900
288 458 900
288 458 900
288 10,400, H:11,800 458 200
288 800 458 200
| JL133 | 288 800 458 200
7 | 28H 10,400, H:11,800 458 200
288 400, B:11,800 458 200
RIE () 5% 288 :10.400 458 300
288 :10,400 458 100
288 :10,400 458 100
288 :10,400 458 100
288 0400 458 300
288 458 500
288 458 200
288 458 200
288 458 200 | 60% 500, H:9.400
288 458 300 | 59% 9,500
288 100 800, +:9,800. B:11,800 458 700 | 58% 100, £:9,200. B
288 100 800, £:9,800. B:11,800 458 700 | 58%
288 800 458 800 | 49%
288 500 458 500 | 50%
| J 288 500 458 500 | 50%
B (FE) =8 RERECABE)%|_J 288 ,900 458 .600 65%
288 900 458 600 | 65%
288 500 458 900 | 67% | %:11,600, & B:10500
288 500 458 900 | 67% |%:11600,  B:10500
288 900 458 600 | 65% 10,500
288 000 458 600 | 65% [+ H:10500
288 ,000 458 600 | 65% [#:12.100, £ B:10500
BBR 288 300 458 600 | 65% [+ H:11,000
288 200 458 600 | 65% 11,000
288 200 458 600 | 65% 11,000
288 200 458 600 | 65%
288 200 458 600 | 65%
288 200 458 600 | 65%
288 200 | 60% R 458 600 | 65%
e ESACE ]I 288 200 | 63% 2400, % 1:15000. B:13,300 458 200 | 66% _H:12.300
288 200 | 5% |3:16.400, £:18,700, *:18,100, H:15.100 458 200 | 55% 5400, %:16.700, +:16.100, H:13,600
288 5000 | 58% B 458
288 3200 | 63% 458 H:14,000
288 7.000 | 53% 000, £:15,800 45H 00, £:14,100. B:16,600
288 8500 | 48% 600, F:15.500, H:19.400 45H 7,300, +:13.800, B:16,800
PAITES 288 7,000 | 53% 400 45H
288 000 | 55% 458
288 900 | 61% 1900 458
288 400 | 60% 317,000 45H 3700, £:13.600, B:15.100
288 000 | 53% 100, H:17.600 45H
288 7.000 | 53% 0, B:17.600 458 6,300, £:12.700
AR(FFH=ERE | KREFFHH 288 700 58% 458 11,600
288 700 | 54% 458 2,900
288 700 | 54% [ E: 458 2,900
288 400 | 55% 3,700 458 3,500
288 500 | 55% | H:13,700. £:13,600 458
288 500 | 55% 45H
288 400 | 55% +13,700, £:12.900 458
BERER 288 100 | 60% B 45H
100 | 60% 45H
100 | 60% 458
100 | 60% 45H
700 | 58% 458 .
800 | 51% 3900, £:15,000, +:13,400, H:15,800 458 000 [ 53% [AA:13,100, $:14.100, £:12,600, H:14.800
400 | 52% :13,000, :13.400 458 500 | 65% | JA:13.100, £:12.600
EE=1AA BRI 300 | 51% : 458 200 | 51% |#+:20,00
300 | 49% 45B8] | 20200 | 49% |JIKA:19.200
TAAEE 300 | 49% 458 20200 | 49% | J7KA:19.200
300 | 51% 20, 458 200 | 51% | 5% H:20.200
TEE=A3E) BRI 600 | 57% [ F:16,600 458 100 | 58% [F:16.1
600 | 57% |+ H:16,600 458 100 | 58% 16,100
100 | 53% | @ H:18,100 458 600 | 54% 17,600
6600 | 54% | H:17600 458 100 | 56% [#H:17.100
ETES 6,600 | 54% 458 100 | 56% 1100
7,100 | 53% 458 600 | 54% [&+:17,600
5100 | 58% 458 600 | 60% 600
4600 | 60% 458 100 | 61% 100
tEfE== e 1EE% 7,000 68% 458 6,300 71% ] Kk :6,900
7,700 65% 458 7.100 000, H:6900
7,600 66% 458 900 6,300
7,000 68% 458 300 600
7,000 68% 458 300 000
7,000 68% 458 300 000
7,000 68% 458 300 [5:8,000
S 7,600 66% 700, 1:8,800, H:7.000 458 ,900 69% 100, £:8,000, H:6,300
7,600 66% |4:7,700, £:8,800, H:7,000 458 900
7,600 66% 700, +:8,800, H:7,000 458 900
7,000 68% 458 300
7,600 66% 000, #:7,700 458 ,900 &
7,600 66% 000, #:7,700 458 ,900 69% 46,300, £:7,000
288 7,700 65% | 47,000, I H:7.600 458 000 68% |75 6300, T H:6,900




48 ooy s AE
MEBE5 SEER(0A1~10BHESD)
SEEWEAA : 2019/02/05 ~
10/1-10
=h B - £/ITA -5 - #185178
mamm | =8 il masm | R | s il
BER(FE)=AREM | ®RRCR@E) F[_JLi01 28 H A 500 458 A1 7,900 69% 00, H:8.400
[ JLi03 | 288 700 458 400 | 55% 1000, 11,700, H:9.900
7 | 288 700 458 400 | 55% 1000, +:11.700, 5:9.900
L 288 300 458 400 | 55% 900, %:11,000, £:11,700, H:9.900
L 288 300 458 400 | 55% 400, % F:11,300, H:9.900
L 288 700 458 900 | 57 800, % F:11,300. H:9.900
L 288 700 458 900 7 1400, £:10,800. + H:9.900
L 288 700 458 900 1 %:10400
L 288 700 458 900 1 10400
L 288 700 458 900 1 £:10400
L 288 100 458 R:11,800, %:12.900, £:9,900, B:11,700
288 100 458 1,800, %:12,900, :9,900, H:11,700
[ JLi33 | 288 100 458 1,800, %:12,900, :9,900, H:11,700
L137 | 288 100 400, B:11.800 458 R:12,600, %:13.600, £:9,900, B:11,700
L 288 100 10400, B:11,800 458 2,600, %:15.100, £:9.900, B:11
RIRE () 5 [_JL 288 600 400 458 E
L 288 100 400 458 00, 9,40
L 288 100 400 458 1,200, £:9.400,
L 288 100 110,400 458 511,200, 9,400
L 288 300 :10,400 458 0400, $:9.400, B9,
L 288 200 458 400, H:9.600
L 288 200 458 600
L 288 200 458 900, H:9.600
L 288 200 458 500, H:9,600
L 288 000 _ 458 500, 9600
L 288 400 111,800 458 400, +:9,500, B:11.700
L 288 400 111,800 458 700
L 288 300 111,800 458 +:9 700
L 288 300 111,800 458 1300, +:9,500, B:11,700
[ JC 288 300 112,700 458 12,600, £:9,500
RR(PE)-LS | R (PE) | JL253 | 28H 400 458 2,300
[ JL255 | 28 600 00, £ B:13.800 458 6,900, H:12,800
[ JL257 | 288 7.600 00, £ B:13.800 458 6,900, + H:12,800
[ JL259 | 288 500 458 12,800
[ JL261 | 288 900 :14,000 458 500, H:13,000
[ JL263 | 28 900 200 458 500, + H:13,200
[ JL265 | 28 300 ,900, B:14.100 458 100, £ H:13,100
L267 | 288 800 458 800, + H:12,800
RE&% | Ji252 | 28| 700 458 600, H:12,500
[ Ji25a | 280 300 458 - 513,000
[ JL256 | 28 400 458 900, T B:12,800
[ JL258 | 28H 400 458 900, F B:12,800
[ JL260 | 28 800 458 515,200, + H:12,800
[ Ji262 | 288 800 458 515,200, + H:12,80
[ JL264 | 280 400 458 400, + H:12,800
[ JL266 | 280 900 458 700, + H:12,800
HRE(PHE) = WR(FIE)R[_JL453 | 288 .900 ¥ 458 .900
[ JL4s5 | 280 900 2,300 458 3:10,900
[ JL4s7 | 288 500 4500, £ H:11,500 458 600, £:11,100
[ JL459 | 280 500 | 62% 500, £ H:11,500 458 600 :11,100
[ JL461 | 288 900 | 55% 11,600 458 11,200
[ JL463 | 28 000 | 58% 4,900, £ H:11,500 458 11,100
L465 | 288 000 | 58% 00, £ B:11.500 458 100, £H:11,100
BB | _J452 | 288 300 | 57% K 458 11,200
[ JL4sa | 280 200 | 60% 1600 458 11,200
[ JL456 | 280 200 | 60% 1600 458 11,200
[ JL4s8 | 280 200 | 60% 700 458
[ JL460 | 280 200 | 60% 700 458
[ Jia62 | 280 200 | 60% 1700 458
464 | 280 200 | 60% 1700 458
KR (FRH=ERE | KIR(FFH [ JL2401 | 288 700 58% ,200, H:12,200 458
[JL2403 | 28H 700 | 54% 5.200 458
[ 288 700 | 54% [ F:14,700 458
[ 288 400 | 55% 3,700 458
288 500 | 55% |#H:13.700, 13,600 458
288 500 | 55% 458
288 400 | 55% £ H:13.700 458
BERER 288 100 | 60% 2,700, B:12.200 458
288 100 | 60% 2,700, B:12.500 458
288 100 | 60% f H:12.700 458
288 100 | 60% £ H:12,700 458
288 700 | 58% 4,200 458
288 900 | 54% 800, %:15.700, E:13.400, H:15,800 458 00 %:14.700. £:126
288 900 | 54% +14,400 +:13.400 458 13500, £:12.600
EE=1AA BRI 288 300 | 51% F:20,300 458 .200
288 300 | 49% 4588 | 200
TAA5E 288 300 | 49% 19, 4588 | 200
288 300 | 51% 20, 458 0,200
FeE T BEHE 2880 600 57% | +:16,600 458 A
288 600 | 57% | H:16600 458 100
288 100 | 53% |[#H:18100 458 600
28H 6,600 54% |#H:17,600 458 ,100
T3 28H 6,600 54% 458 100
28H 7,100 53% 458 600
288 5100 | 58% 458 600
288 4600 | 60% 458 15,100
EE-EE BRI 288 7,600 66% 458 6,300
28H 17,700 65% 458 000, H:6.300
28H 7,600 66% 458 300
28H 7,000 68% 458 900, H:7,600
288 7,000 68% 458 900, 68,000
288 7,000 68% 458 000, 68,000
288 7,000 68% 458 300 [£:7,000, H:8000
BIESE 288 7,600 66% 458 900 69% 7,100, £:8,000
28H 7,600 66% 458 ,900 100, £:8,000
28H 7,600 66% 458 ,900 100, +:8,000
28H 7,000 68% 458 300 100, £:8,000
288 7,600 66% 458 900 69% | H 6,300, %:7,000
288 7,600 66% 458 900 69% | A X:6,.300, %:7.000
288 7,700 65% 458 000 68% | /5 6,300, T H:6,900




[£525| BEXR(10815~26BEFSH)

EEHEAR 2019/02/05 ~

10/15-17,10/23-26
£/ITA #185178
=] i B T an B | mpm | BEW =
BAMR | T AR LS
BER(FE)=AREM | ®RRCR@E) F[_JLi01 28 H A 500 458 A1 7,900 69% 00
[ JLi03 | 288 700 458 400 | 55% 000, £:11,700
Li07 | 288 700 458 400 | 55% 1000, +:11,700
L 288 300 458 400 | 55% 900, %:11,000, £:11,700
L 288 300 458 400 | 55% 00, % +:11,300
L 288 700 458 900 | 57 800, % F:11,300
L 288 700 458 900 7 1400, %:10.800, £:9.900
L 288 700 458 900 1 %:10400
L 288 700 458 900 1 10400
L 288 700 458 900 1 £:10400
L 288 100 458 200 R:11,800, %:12.900, £:9.900
L 288 100 458 200 1,800, %:12,900, :9,900
[ JLi33 | 288 100 458 200 1,800, %:12,900, :9,900
L137 | 288 100 400, £:10,400 458 200 | 62% | A:12,600, £:13,600, 1:9.900
L 288 100 | 48% 200, £:10,400 458 200 | 62% | A:12.600, £:15.100, £:9.900
RIRE () 5 [_JL 288 600 458 600 | 54%
L 288 100 458 200 | 52%
L 288 100 458 200 | 52%
L 288 100 458 200 | 52%
L 288 300 458 400 | 55%
L 288 200 458 400 | 59%
L 288 200 458 400 | 59%
L 288 200 458 400 | 59%
L 288 200 458 400 | 59%
L 288 000 458 400 | 59%
L 288 400 458 000 | 56%
288 400 458 000 | 56%
288 300 458 400 | 51% +:9
L 288 300 458 400 | 51% 300, +:9,500
L 288 300 458 400 | 51% | £:12,600, £:9,500
KR () =18 KR (A 5| J 288 .300 458 200
288 11,500 458 10,900 11,400
288 300 458 200 12,100
288 300 458 200 11,800, 112,100, £:11,500
S 288 .300 258
288 300 458
288 300 458
[V 288 300 458 K
B (FE)=LEE RERECHE)%|_J 288 2,400 458 300
288 7,600 458 900, :12,800
288 7,600 458 900, +:12,800
288 500 458 800
288 900 458 500, £:13,000
288 900 458 500, +:13,000
[J 288 300 458 100, +:13,100
L267 | 288 800 458 516,200, £:12.800
EB% | _J252 | 288 700 458 400
[ Ji254 | 280 300 458 112,800
[ JL256 | 28 400 458 900, :12,800
[ JL258 | 28H 400 458 112,900, +:12,800
[ JL260 | 28 800 458 N 8
[ Ji262 | 280 800 458 515,200, £:12.800
[ Ji264 | 280 400 458 700, :12,800
[ JL266 | 280 900 458 516,700, £:12.800
R (HE) =8 RECRE)$|_JL453 288 ,900 458 00
[ JL4s5 | 280 900 458 00
[ JL4s7 | 288 500 458 600, £:10,600
[ JL459 | 280 500 458 600, :10,600
[ JLa61 | 288 900 458 600
[ JL463 | 28 000 458 500
L465 | 288 000 458 400, £:10,500
BB | _J452 | 288 300 458
[ JL4sa | 280 200 458
[ JL456 | 280 200 458
[ JL4s8 | 280 200 458
[ JL460 | 280 200 458
[ Jia62 | 280 200 458
464 | 280 200 458
RIR (G- B | KIR (G 36| JL2401 | 28 700 456
[JL2403 | 28H 700 458
[JL2407 | 280 700 | 54% [ F:14,700 458
[UL2409 | 28H 400 | 55% 458
288 500 | 55% 458
288 500 | 55% 458
288 400 | 55% 458
BERER 288 100 | 60% 458
288 100 | 60% 458
288 100 | 60% 458
288 100 | 60% 458
288 700 | 58% | 458
288 ,400 55% 4,800, JKA:13,900, #:15,700 458 ,000, 7k :13,100, £:14,700
288 400 | 52% [ JKA:13900, £:13400 458 3,100, £:12.600
BE=RA E=EES 288 : 458
288 458
AR 288 458
288 458
1= E=EES 288 458
288 458
288 458
288 458
ETE3 288 458
288 458
288 458
288 458
1BE=E E=EES 288 458
288 458
288 458
288 458
288 458
288 458
288 458
BIESE 288 458 900 69% 7,100, £:8,000
288 458 900 100, £:8,000
288 458 900 100, +:8,000
288 458 300 7 100, £:8,000
288 458 900 69% | 6,300, £:7,000
288 458 ,900 6! 300, £:7.000
288 458 000 300, £:6900




rERJE5 EEROA1BERS) JAL

BEEAE : 2019/02/05 ~

P Py 9/1
= &% i::: A i::: NI
AR | mAame | ERE | EAE
R (PE)=XIR (FF) | RECRE) F[_JL101 28H =] 700
JL103 | 28 400
L107 28 ,400
L 28 400
L 28 ,400
L 28 400
L 28 ,400
28 400
28 ,400
28 400
28 .800
28 800
28 .800
28 800
28 .800
KR (R %[ J 28 400
28 ,400
28 400
28 ,400
28 400
28 ,400
28 400
28 ,400
28 400
28 ,400
28 800
28 .800
28 800
28 .800
28 700
RRCAE)=LE RRCHE) % J 28 400
28 800
28 ,.800
28 800
28 000
28 000
28 ,.900
28 800
LEB% 28 ,000
28 900
28 ,400
28 400
28 ,.800
28 13.800
286 13.800
286 13.800
KR (FH=ERS | KRG % 28H 12,200
286 13.700
28 13,700
286 13700
28 13.700
286 13500
28 13.700
BERBR 28H 12.200
28 12.500
286 12700
28 12.700
286 14200
28 15.800
286 14,400
RS EES 28H 19.300
286 20300
A% 286 20,300
286 20300
ERm=8m BER 28H 15,600
286 16.600
28 18.100
286 17,600
BER 286 16.600
286 17.100
28 16.100
286 15,600




MEB8E5 1 BER(9A13~15BEES) JAL

BEEAE : 2019/02/05 ~

RPN R 9/13 9/14 9/15

R &% i:ij]” 5\’::9;'73 EIMTA| K917 B| a7 A| K17 B| Sms1IA| %517 B

AR | BAE EEE | EEE | EEH | EEE | B84 | 8858

RRCRE)=KR(ER) | TmCaE) $[_JLioi 288 B 9000 | 8200 13,300 [ 12.800 9,700 9.100
JL103 | 28 .00 1.400 | 15.000 400 11,
L107 | 28 700 1.400 | 16,000 400 11,
JL 28 700 1.400 | 16.000 400 | 11
L 28 800 IE [ i
JL 28 800 1 I
L 28 300 1
28 .00 I
28 700 1
125 | 28 .700 K
L127 | 28 400 13,
JLi31 | 28 400 13.
[ JL133 | 28 200 13,
JL137 | 28 200 13.
JL139 | 28 200 13,
KB () F[ JLi02 | 28 900 11,
JL104 | 28 800 11,
| JL106 | 28 800 11,
JL110 | 28 800 |12 1,
JL 28 400 1 11,
JU 28 600 12 11,
JL 28 300 |_12. [ 10
JL 28 300 KR [ 0.
| JLi20 | 28 300 11 |10
JLi24 | 28 600 1 11,
| JLi26 | 28 700 10. [ 12
[ JLi28 | 28 700 10, [ 12
JL130 | 28 .000 11, 14,
JL134 | 28 000 11, 13,

JL138 | 28 4.100 1 13.700




MEB8E5| 1 BER (9A20~22BEFES) JAL

BEEAE : 2019/02/05 ~

PRI DA 9720 /21 /22
R &% i:ij]” 5\’::9;'73 EIMTA| K917 B| a7 A| K17 B| Sms1IA| %517 B
BAME | BAME EEH EEH EEH EEH EEH EEH
R (PE)=XIR (FF) | RECRE) F[_JL101 288 B 9000 | 8200 13300 | 12.800 10, -
JL103 | 28 700 1400 | 15,000 400 | 11700 | 1
L107 | 28 700 1,400 | 16,000 400 1, 1
L 28 700 1400 | 16,000 400 | 12200 | 1
L 28 800 INE 12 1
L 28 800 1 12 1
L 28 300 12 1
28 700 12 1
28 700 12 1
125 | 28 700 12 1
L127 | 28 400 13 1
JL131 | 28 400 13 1
o133 | 28 200 13,
JL137 | 28 200 13,
JL139 | 28 200 13
KB () F[ JLi02 | 28 400 11,
JL104 28 ,100 11,
[Jiios | 28 100 1.
JLi10 | 28 100 11,
I 28 200 1.
JL 28 500 IEK
I 28 200 :
JL 28 200 i
[Ji20 | 28 200
JL124 28 .200 K
[Jii26 | 28 000 13,
[ JLi28 | 28 000 13,
JL130 | 28 900 13
JL134 | 28 900 K
Ji138 | 28 4,000 [ 13




TEBEE EER(10811~12BES) JAL

BEEAE : 2019/02/05 ~

RPN D 70711 10712
5BIMTA| %B87B

R s ::] B R A 57 B RHTA] 5T B
e | waoE | EE® | EE® | EEW | 8EW
R CRE)=XKIR () | R CAE) $|_JL101 288 [ 458 ,000 13,000
JL103 | 28 700 14.800
L107 | 28 700 15.000
JL 28 700 15.000
L 28 700 [_13.800
JL 28 700 [_13.000
L 28 200 13.000
28 100 12.500
28 100 [_11.300
125 | 28 100 [_10900
Li27 | 28 300 [_10.900
JL131 | 28 400 [_10.900
o133 | 28 400 10900
JL137 | 28 200 [_10.900
JL139 | 28 200 [_10.900
KR (7 % |_JLi02 | 28 700 [_10.500
JL104 | 28 300 [ 10500
[ JLios | 28 300 10500
JLi10 | 28 300 10500
JL 28 400 [_10.500
JL 28 400 [ 10500
JL 28 200 10.500
JL 28 200 11.000
| JLi20 | 28 200 [_10.600
JLi2a | 28 ,200 [ 10600
[ JLi26 | 28 200 10.600
[ Jcios | 28 200 10.600
JL130 | 28 400 10.600
JL134 | 28 400 10.600
JL138 | 28 4.600 [_10.600




TEBE5 ESER (10818~21AEES)

SEFEMAE : 2019/02/05 ~
. P 10/18 10/19 10/20 10/21
= wy | R O s A 317 E | ERITA| ZRA7E| ERITA] (7B | 7 Al ERITE
WaoE | maoE | EE® | BEW | EEW | 8AW | EAW | 8AW | AW | 8AW
RE(HE) =X (FF) | RECHE) & L101 288 =] 8,500 | 9.000 8,700 400 | 8500 [ 7.900
JL103 28 .700 1.700 10400 | 9.900 11.700 .400
L107 28 .700 1,700 10400 | 9.900 11.700 .400
JL 28 .200 1.700 10400 | 9.900 12.300 .400
L 28 ,200 | 11,300 10400 | 9.900 12.300 .400
JL 28 .200 | _11.300 10400 | 9.900 11.700 .900
L 28 1600 [ 9.900 10400 | 9,900 11,700 | 10,900
28 200 [9.900 10400 | 9,900 10,700 9.900
28 1200 [ 9.900 10400 | 9,900 10,700 9,900
28 .200 | 9900 10400 | 9.900 10.700 9.900
28 800 [ 9.900 11,800 1,700 13100 | 12.200
28 .800 | _9.900 11.800 1.700 13.100 200
28 800 [ 9.900 11,800 1,700 13100 | 12.200
28 .400 | 9.900 11.800 1.700 13.100 200
28 .200 | 9.900 11.800 1.700 13.100 200
RIR (FF) 5[ 28 500 [_9.400 10.400 | 9,600 12,600 600
28 100 [_9.400 10400 | 9.600 13, 200
28 .100 | 9.400 10400 | 9.600 13,
28 100 [_9.400 10400 | 9.600 13,
28 .200 | 9.400 10400 | 9.600 12.
28 200 400 10400 | 9.600 11
28 .200 10.400 10400 | 9.600 11,
28 200 [_9.900 10400 | 9.600 11
28 200 9,500 10.400 | 9,600 1.
28 1000 [ 9.500 10400 | 9,600 11
28 .200 | 9500 11.800 1.700 11
28 200 [ o 11, 1.700 11,
28 200 o 1. 700 | _13.
28 200 [ o 11, 700 |13
28 .500 | 12, .600 13.
RRHE)-GE | AR AR 28 400 12, 12,
28 600 KE 7.
28 7.600 IE [ 17,
28 500 RE [ 6.
28 300 [ 14 [ 12,
28 300 [ _1a [ 2.
28 800 14 15,
28 700 RE N
e 28 700 IEEX 13,
28 300 E 15.
28 .400 13 12,
28 .400 13 12
28 200 E [ 14,
28 16.200 RE 12
286 17,400 13
286 17.900 RE
EEAE R TR FEAETES 288 14,900 [
286 14,900 1
286 14,500 1
286 14,500 K
286 14,900 K
286 14,900 10
286 15,300 10
ERRE 288 14300 11,
28H 13.200 11,
28H 13.200 11
28H 13.200 12
28H 13.200 12
28H 13.200 11,
28H 13.200 11
TE-A EEES 266 20,300 1o,
28H 20.300 20.:
WARFE 28H 20.300 20.300
28H 20.300 20.300
1RfE=E E RS 28H 15,600 15,600
28H 15.600 16.600
28H 18,100 18.100
28H 17.600 17.600
RS 28H 16.600 16.600
28H 18.100 17.100
28H 16.100 16.100
28H 15.600 15.600
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4/1-15
=40) — A%
g | BE e
EIEIES
RR(CRE) =K () | R CHE) % 7.000 | 72%
,900 7 400, £:11.300. H:9.300
.900 7 400, £:11.300. H:9.300
800 7 300, %:10.400. £:11,200. H:9.300
800 7 :9.300
300 | 59% :9.300
300 | 59% :9.300
7.000 72%
7.000 72%
9,300 63% | A%:9.800
500 . 0 100
500 K:11,200, %:12.201 100
500 A:11.200, 0 .100
500 K:11.900, %:12.901 600
500 A:11.900, 0 600
RER(FH % | J 7.000 b
500 £:10.600. +:8.800. H:9.000
500 3 10,600, +:8,800. H:9.000
500 £:10.600, +:8.800. H:9.000
800 3 :9.800, F:8.800, H:9.000
9.800 1% | +:8.800. H:9.000
7.000 2%
7.000 72
7.000 72%
9.800
400
400 800, +:8.900,
700 0700, +:8.900,
.700 110700, +:8.900.
700 111,900, 18,900,
BRCRE)=#IR k)| RECEE R | J 9.300 75% 9.700
300 | 73% 200,
300 | 70%
L300 | 70%
500 | 67%
500 | 67%
700 | 69%
000 | 71%
100 | 70%
100 | 70%
100 | 70%
100 | 70%
000 | 68%
700 | 66%
.700 | 66%
000 | 71%
500 | 64% |A:
+LIR (3T T 8%) 5 000 | 68% |@: 3200, H:11,000
000 | 65% |%: 100, H:11.500
000 | 68% |@: .200. H:11.500
000 | 71% |%:11.500. £ H:12.000
500 | 72% |&: 1500, H:13.000
.500 | 72% | % ,000
000 | 71% &
500 | 69% |
800 | 69% |@:
000 | 68% |
000 | 68% |@:
000 | 68% | %
000 | 68% |@:
000 | 71% |#
300 | 73% |%:12.000, +:9
.300 75% | %:11.000. £:8!
700 74%
HRCRE)=k#&5 HERCRE) % .400 B
.900 B
10.700 E:
ES e 11.700 E:
700 E:
.900 7:9.000, £:8.700, H:13.500
HECRE) =R HECPE)# .500 900, +:9.400. H:8.800
600 100. H:8.800
11,700 %:13,200, £:11,900. H:13,700
12.600 K K:12.400, £:14.100, £:12.500. H:13.700
JCIIES 13,300 3,600, H:13.100
.800 300, +:8.900, H:9.200
600 +10,100, £:10,000. H:11.100
700 200, £:9.100. H:10.200
HR CHE) =S R (FE) 5 800 200
.900
700 %:10,200, £:9,600, H:13,300
EEES 500 £:9.800. £:9.600. H:10.200
9,900
8.400 81% |%:8.600. £:8.800. H:9.200
HECRB)=HIE RECRE) & 79% [£:9.100, 1:10,100, H:9,200
76% :10.000. +:10.100
74% | %:11,000, £:11,100, B:11,900
72% | H:12.000. 7K:12.200, £:13.200. H:15.400
WILRE 74%
76%
76%
78% | H:10.000. %:10.600, £:10.400. H:11.600
R CRE) =BfE HECPE)# 72% [£:11,500, F:14,500, H:12,000
72%
62% |%:15.100. £ :14,900
EES 72% | H:10500. :11.100, £:12.600. H:9.100
71% [£:11,300, /
56% |%:14.100, 1:11,800, H:16,800
HECAB)=LES RECRE) R 73%
61% |7:13.800, £ H:11.400
61% |A:13.800, £ H:11,400
61% |+ H:11.400
75%
68%
65% |%:12500, £:11,300. H:11.500
64% |%:12.900, £ H:11.400
3E 73%
65% |+ A:11.400
71% _|&H:10.400
75%
71% |%:13.300. H:11.400
65% :11.400
63% +11.400
61% :11.400
RE(CRE)=K5 HR(FE)F [ JL661 | 70% g
66% 000, £:14.100. H:12.600
68% |A%£:13,100. H:12,600
69% |&H:13100
68% | F7K:13.000. %:13,700, H:14.500
67% |%:14.000. H:14.300
K% 69% |£:12,800, 1:13,300, H:12,000
69% |4:12.800, :13.300. H:12.000
69% |2 +:12.900, H:13,300
69% |4 +:12.900. H:13.300
65% 14,100, £:14.700, £:13,000, H:14.600
69% |%:13.100, +:12.000. H:13.800
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4/1-15
=40} T A%
EEE B51% &
RR(CRE) =R BRCRE) % |_JL605 | .200 72%
600 | 73% |4
400 | 72% |/kA:12.900. % +:13.100, H:12.800
400 | 72% |/KA:12.900. % £:13.100, B:12,800
900 | 70% | H:13.100. k: H:13.700. £:12.200
900 | 70% | H:13.300, 4,200, +:12.200. H:14,000
WS 900 | 70% |#:13500, 2.300
900 | 70% |$:13.600. :12.300
200 | 72% | H:12.600. 2500, H:14.000
600 | 73% [H:13.600
600 | 67% K:14.500 %:15.000, +:13.300. H:14.900
900 | 70% |#:13,900, +:12.200. H:14,100
R (FE) =R HERCAE) [ J 100 | 73% |£:11.300. £:12.600
000 | 71% |$:12.200. +:13.500
9.900 76%
600 | 72%
600 | 7%
500 | 70% 3,000, £:12.200. H:13.300
800 | 69% |k7K:12.500. %:13.300, £:12.000. H:13.800
000 | 68% |sk: £:12.600, H:14.500
A% 900 | 69% |%: 2.600
300 | 68% |A: % +:14.000. H:12.900
500 | 70% |A: 13,500, +:13.800, H:12.800
9,900 76%
600 | 72%
900 | 69% |2:14.700. F:12.600, H:14.600
100 | 68% [%:14.800, £:12.600. H:15.200
800 66% 2,200, 7K:13.300, A:14.300, H:14.100
ER(CRE)=515 ERCRE)FE| J .200 70%
200 | 70% . £:13.100
800 | 69% | k7K:12,000. A:12.200, £:12.700. £:13.000
200 | 70% +:12,700, H:14.000
200 | 70% | H:13000. %:12.800, £:13.700. H:14.000
400 | 70% +:12.200, %:13,700, H:14.500
ECES 800 | 69% | H:12.400. K H:12.200, £:13.000. £:14.500
200 | 70% |A:12,900. %:12.800. +:13,000
200 | 70% 2.400
200 | 70% 12,400, H:13,100
200 | 70% .800. H:13.700
000 | 7% 800, H:13.100
ER(PAE)-ERSB BERCRE) % 9.600 78%
11000 | 75% :12.100
11.000 | 75% :12.200, £:12.600. £:13.100
900 7%
100 | 77%
600 | 76%
100 | 77% |#H:11.100
100 | 77% |®H:11.100
BERBR 9.700 0.700
11000 | 75% |+£:11.100
10100 | 77%
10.600 | 76%
9.900 17%
11,000 | 75% |A:11.100. H:14.000
11.000 | 75% |£:14.000. H:13.800
10.600 | 76% | H:12600
B () =ALUR (37 T2 2 o 2 (R Eh) 300 | 78% [4:11.300. £:15.100
100 1% | %:9.700. £:9.500
800 1% | %+ 5:8.600
800 4% _|% H:8.400, £:8.200
.000 86% | %:7.000. +:7.200. H:8.400
4L (37 F &%) 5_JL3100 | 800 84% 8.400. +:8.200
Ji 800 81%
500 80%
.300 78%
500 80%
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4/16-25
=40) — A%
g | BE e
5%
RR(CRE) =K () | R CHE) % 7.400
900 :9.300
.900 :9.300
800 :11,200, H:9.300
800 :9.300
,300 :9,300
300 :9.300
RER(FH % | J
BRCRE)=#IR k)| RECEE R | J
FLIR (BT FR%) __JL500 |
HRCRE)=k#&5 HERCRE) %
ESTRIES
HR CRE)=he)I ERCRE) % H . 1:10. A
10.100 19,600, £:10.700, H:9.800
11,700 12,400, £:13,300, %:12,000, H:13,700
12,600 K K:12.400, £:14.100, £:12.500. H:13.700
TBIIZE 13,300 3,600, H:13.100
10.300 300, £ 19,400, H:11.200
600 110,000, H:10.600
700 £:9.100. H:9.700
R CRE) =8IEE HECRE) R ,300 400, £:9.700
13.400 300, £:15.400. H:12.300
10,100 0,200, %:11,200, £:10,000. H:13,300
EEES 10.000 .200. H:10.600
12,100 13,100, H:12,300
8.800 000, £:9 ]
HECRB)=HIE RECRE) & 9,400 0,500,
11.700 400,
12,600 1% 12,500, :12,800, H:11,900
11900 | 72% |A:12.000. 7k:12.200. %:13.200, H:15.400
R 13,800 68% |7K:13,700, A:13,400, £:16,500, 1:17,000, H:13,300
11900 | 72% |&+H:12.600
11,900 | 72% H:12,600
10000 | 77% 110600, £:9.400. H:12.100
R CRE) =BfE HECPE)# 11,800 66% £:14,500, B:12,300
11.800 | 66% 112,600, H:12.800
13,500 62%
WER 11.000 | 69%
10800 | 69%
15400 | 56% .800. H:16.800
HECRB)=K% RECRE) R 11,900 70% |+:13,900
3500 | 66% 4,000, £:14.100. H:12.700
12,900 68% +:13,100, H:12,700
2700 | 68% K:12.900. % H:13.100
12,900 68% F7K:13.000, £:13,700, H:15.300
3000 | 67% |£:14.000. H:15.100
RKnF ,200 69% |A:12,500, %:13,100, £:13.600, H:12,000
500 | 69% |7K:12.800. %:13.400. £:13.900
,800 68% [ +:12,900, H:13.600
700 | 68% | +:12.900. H:13.600
13,900 65% 14,100, 14,700, £:15,100, H:15.300
12500 | 69% |%:13.100. H:14.600
RRCAB)=RK HRCRE) % 12,500 71% 14,100
14000 | 68% |X:13.800. 7K:13.900. :15.000, +:14.700. H:13.000
,100 70% K:12,700, 7K7AR:12,900, H:13,600
100 | 70% | 2k:12.700, 7KA:12.900. H:13.600
200 | 70% [ :13,000, 214,200, £:12,700, H:14,100
700 | 71% | H:13! 2900, A:13.000, %:14.200. H:14.800
R ,000 70% Bl :14,300, 1:14,800
900 | 70%
,600 1% B :13,100, H:14,800
000 | 66% | 3.900, £:14.700. £:13.300, H:15.400
15,000 66% |7k :13,300, H:15.400
12.900 | 70% |£:13.900. +:12.700. H:14.100
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4/16-25
=40} T A—N—%F
ERE | gz ookl
ECAC:E ERCRE)FE| J .700 72% |&
600 | 69% |%: :12.500
700 | 67% 2.500
000 | 68% 114,800, H:13.700
900 | 69% 00
800 | 69% |& 00
500 | 70% |A 2.800, £:14.100. H:14.600
,000 68% Iz :14,600, +:12.700, H:15,300
AR .900
,.900
.900
.900
.000
900 :15.300
100 :15.300
.800 K#::14.300. H:14.100
ER(CRE)=51H ERCRE)FE| J .700
700
.900 . ££:13.000. B:13.100
.900 69% £:13,100, 7:13,000, H:14.200
700 | 69% 3.000, A:12.900, £:13.700. H:14.700
900 69% &:13,700, H:14.700
S 100 | 68% 2900, A:13.200, %:13.700. £:14.700, H:12.700
700 69% 3.10
700 | 69% 310
700 69% #:12.900
700 | 69% 3.700
500 | 70%
ER(PAE)-ERSB ERCRE) % 9.600 78%
000 75% 212,100
000 | 75% :12.400, £:12.600. £:13.600
100 75%
100 | 77%
600 | 76%
100 7% & H:11.100
100 7% £ H:11.100
BRB%E 9700 | 78% 0700
000 5% 1.100
100 | 77%
600 | 76%
100 | 72% &+:11.100. H:13.100
.000 75% :11,100, H:14.000
000 | 75% |&H:14,
600 | 76% |% H:12.600
KR (D =l& KR () % 10.200 1% 10.800
10200 | 71% 11,000
10200 | 71% 10.500
10200 | 71% 10,500
10200 | 71% 11.000
10200 | 71% 11,000
10200 | 71% 11.000
10200 | 71% 11,000
[=ES 10.200 1% 11.000
10200 | 71% 11,000
10200 | 71% 10.500
10200 | 71% 10,500
10200 | 71% 11.000
10200 | 71% :10.800
10200 | 71% 10.800
10200 | 71% 10.800
AR(PH-ERE | KRB 9.300 69%
10800 | 64% 900
10800 | 64% 1.400
9,300 69% 0300
10800 | 64%
10300 | 66%
10800 | 64%
ERE% 9300 | 69% |+:9.800
10300 | 66%
9.300 69% | £:9.800
9.300 69% | £:0.800
10300 | 66% |H:11.400
12,200 59% |+:11,700, H:13,200
11400 | 62%
BT 2 (P ER) =ALIR (37 T |2 & B (R D) 9300 | 78% 1,300, £:15,100
8100 1% 700, :9.500
7,800 1% |4 H:9,400. £:9,200
800 4% |4 H:8.400, +:8.200
100 85% 000, +:7.200, H:8.400
+LIR (37 T 8 5 800 84% | % H:8.400. 1:8.200
7,800 81% 59,400, £:9,200
8500 80% |A:
9,300 78%
8.500 80%
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5/7-17
=R B4 FH A—/\—%1§
s ”” e
RR(CRE) =K () | R CHE) % 7.400
900 :9.300
.900 :9.300
L 800 :11,200, H:9.300
JL 800 :9.300
L ,300 :9,300
JL 300
L 9.300
JL 9.300
L 9.300
JL 500 100
.500 .100
500 .100
.500 .600
500 600
RER(FH % | J .000
500
.500
500
.800
.800
,800
.800
,800
800
400
400
.700 . K
.700 700, £:8.900, B:11.600
.700 2:11.900, 1:8.900,
BRCRE)=#IR k)| RECEE R | J 6.900
0,200
1.200
3,800
4.000
.500
500
,000
400
,400
400
700
.700
100
14.000
14,000
13.000
18600 | 50% .
FLIR (37 T 2%) 3__JL500 14500 | 61% X 15, £:14.800. H:12.700
JL502 15000 | 60% . 15, £:15.700. H:12.900
JL594 15.000 | 60%
JL504 14500 | 61%
JL506 900 | 63%
JL508 900 | 68%
JL5 900 | 68%
JL5 400 | 6%
JL5 000 | 63%
JL5 300 | 62%
JL518 500 1
JL520 500 3
JL522 500
JL524 500 3
JL526 400
JL528 900 | 68%
JL530 900 | 71%
JL598 000 | 68%
HRCRE)=k#&5 BN CPIE) % |_JL565 -800
JL567 300
JL569 200
Ximpl% | _JL562 | .000
JL564 200 !
JL566 .000 I . 2.900
= CRE) =M.l BR (CPIE) % |_JL551 13,500 g 00, +:15,000, H:13,700
JL553 14500 | 67% | XJKA:14.000, £:15.500
JL555 14200 | 68% [#£H:15,600
JL557 14500 | 67% |XA:14.300. %:16.000. 1:14.400. H:15.600
pENIE 3 JL552 15,200 66% +:15,500, H:15,000
JL554 12.100 | 73% |&:12. 00,
JL556 11,500 74% 00,
JL558 10.600 | 76%
R CRE) =8I R CRE) % |_JL541 11,200 74%
JL543 14.800 | 66%
JL545 12,800 1%
EEES JL540 12700 | 71% | k13!
JL542 13,500 69% 1
JL544 10.100 | 77% |2 . %:11,000. H:12.500
HECRB)=HIE HR(PE) & [_JL673 11,300 74% ,900, +:12,500, H:11,100
JL575 13.000 | 70% 00
JL577 13,000 70%
JL57 14500 | 66%
ETR 3 JL5T! 15,000 65%
JL57. 13.000 | 70%
JL574 13,000 70%
JL576 10.800 | 75%
R (CRE) =K BRCPE) % |_JL585 | 12,400 65%
JL587 12.000 | 66%
JL589 13,700 61%
WER JL584 11.600 | 67%
JL586 12,800 | 64%
JL588 15.600 | 56%
RECRB)=ES HR(PFHE)F [ JL253 10,000 7% =l
JL255 13900 | 60% |A& +15.400, £ H:11.400
JL257 13,900 60% | A:14,300, £:15.400, + H:11.400
JL259 13500 | 61% |£:14.900. £ H:11.400
JL261 11,100 68% |#:11,300, £ H:11,400
JL263 12.900 | 63%
JL265 12,500 64% |$:13,900, 1:11,300, H:11,400
JL267 13.000 | 62% |£:14.900. £ H:11.400
LB JL252 11,200 68% 1,500, H:10,700
JL254 12500 | 64% 11.400
JL256 11,100 68% 11,400
JL258 11100 | 68% :11.400
JL260 12,200 65% :11,400
JL262 12200 | 65% :11.400
JL264 13,400 61% :11,400
JL266 13.900 | 60% :11.400
B (FE)=AS R (FM) % |_JL661 13,500 66°% :12,500
JL663 13500 | 66% |£:14.000. +:14.900. H:12.700
JL665 13,400 66% |&1:13.900, H:12,700
JL667 13.000 | 67% |t . %:13.400, H:15.100
JL669 13,000 67% 13,600, 5%:13,900, H:15,300
JL671 13.000 | 67% |A:13.600. %:14.000,
PE JL662 ,000 67% X:14,600, 5:13.600, 112,500
JL664 000 | 67% | X:14.600. %:13.600, 112,500
JL668 ,800 68% X:15,100, 5:13.100, 114,100
JL670 700 | 68% | X:15.100. %:13.100, :14.100
JL672 14,100 65% X:15,100, 5:14.700, :15,300
JL674 12500 | 69% | X H:14.600. %:13.900
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5/7-17
=40} — Z—I\—%/
EE | sz ol
RR(CRE) =R BRCRE) % |_JL605 | 2.500 DES
4,100 68% g :14.600, #:15,000, +:14.700, H:13,000
900 | 68% |A: 2.900, A:13.000. H:13.600
,.900 68% A: :12,900. ZK:13.000, H:13,600
000 | 70% |A: 4.200. B:14.800
,000 70% B 4,200, H:14,800
"I 000 | 70% |k 800
000 | 70% [k 800
600 | 71% |A: 00, £:13.100, H:14.800
900 | 66% |/ 00, %:15.400. +:14,100, H:15.300
400 | 67% 400, £:14.100. H:15.300
,400 69% X 2,700
RR(CRE) =R ERCRE)FE| J .700 72% X 3.400
,300 68% 112,500
300 | 68% 112,500
700 | 69% |B 114,300, +:14.800. B:13.700
700 | 69% |A: £:13.800. 1:14.600
000 | 68% |4l
600 | 67% |k
,000 68% [H:
AR 300 | 68% |k
800 | 64% |A: 00, H:13.600
800 | 69% |A: 100, £:14.600
.000 68% 4,600
400 | 65% 4,100, £:13.200. H:14.800
700 | 69% |H: 5300
2700 | 69% [A:13. :15.300
4.600 64% KA :15.100.
R (FE) =25 HERCPAEFE [ J 700 69% 13,400
.700 69% :13,400, 1:13,900
000 | 68% :14.100, 7K:12.600. H:13.600
,000 68% 14,600, H:14.800
700 | 69% 3600, A:13.000, £:14.300. H:14.800
.200 68% 114,500, H:15.300
ECES 200 | 68% 3.000, A:13.600, %:13.800. £:15.300, H:12.700
.700 69% e +:13.400
700 | 69% 3.000, H:13.200
.700 69% £:15.600, H:13.900
700 | 69% . H:14.500
.500 70% 3,600, H:13,900
ER(PAE)-ERSB BERCRE) % 9.600 78% 210,600
100 | 75% . £:12.100. £:13.100
300 | 74% |A: :13.000. A£:12,600. £:13.600
300 | 74% |AJ
100 | 77% [ 00
600 | 76% | 00
100 | 77% |2 00, H:13.100
100 | 77% | 00. H:13.100
BRB%E 9.700 78% |k 700
100 | 75% |k
100 | 77% [k
600 | 76% |%¢:15.100, H:11.600
100 | 72% [k&£:11.300. H:13.100
100 | 75% |X:12.800, £:11.300. H:14.800
11300 | 74% |X:14.000. % H:14.600
10.600 | 76% |X:14.000. % H:13.600
AR(PH-ERE | KRB 9.300 69% 11.400
12,000 | 60% 3.200, H:11.600
12.000 | 60% 2,700, B:11.600
9.300 69% 0,900, H:11.400
11500 | 62% 12.000
11400 | 62%
11.700 12000, £:11.300
ERE% 9.300 69% 10,900
10900 | 64% 0.600. £:11.40
9.300 40
9.300 40
11400 | 62% :11.100, H:12.700
12200 | 59% 3:13.500. £:11.700
12700 | 58% 0. £:11.700
B 2 (R ED) =ALIR (3 T | & & 2 (D) 15.800 9,700, +:18.100. H:15.200
8.100 81%
100 81%
500 82%
500 84%
FLIR (BT %) 3 .200 85%
7,900 81% 700, £:7.500
13400 | 68%
13,400 68%
10000 | 76%

JAL



TR—N\—%FGIEERGAI1B~IIBEEN)

EREEAA : 2019/02/05 ~
5/18-31
P B4 A—R—%F
B &
RR(CRE) =K () | R CHE) % 7.400
,900 :9.300
.900 :9.300
L 800 :11,200, H:9.300
JL 800 :9.300
L 300 :9.300
JL 300 :9.300
L 9.300
JL 9.300
L 9,300
JL 500 100
500 100
500 .100
500 600
500 600
RER(FH % | J .000
500
500
500
800
.800
.800
.800
.800
800
400
400
.700 X
.700 110700, +:8.900, H:11.600
700 :11.900, 1:8.900,
BRCRE)=#IR k)| RECEE R | J 6.900
0,200
1.200
3,800
4.000
500
500
,000
400
400
400
700 | 66%
700 | 66%
100 | 65%
14000 | 63%
14000 | 63%
13.000 | 65%
18,600 | 50%
FLIR (3 T 3% 3_JL500 14500 | 61% _1:14.800. B:12.700
JL502 15,000 | 60% £:15.700. H:12.900
JL594 5000 | 60% 5700, H:12.900
JL504 4500 | 61% 4,800, H:13.500
JL506 400 | 64% :13.800
JL508 .900 | 68% 114,000
JL5 .900 | 68% 600 B:15.400
JL5 400 | 64% ,600. H:16.900
JL5 000 | 63% 600, H:20.000
JL5 300 | 62% ,600. H:20.000
JL518 500 1 600, H:20.400
JL520 500 3
JL522 500
JL524 500 3
JL526 400
JL528 .900 | 68%
JL530 .900 | 71%
JL598 000 | 65%
HRCRE)=k#&5 BN CPIE) % |_JL565 -800
JL567 300
JL569 .200
LiwHFE | JL562 000 3
JL564 200 4
JL566 000 | 78%
= CRE) =M.l BR (CPIE) % |_JL551 13,500 70% 8 5,000, H:13,700
JL553 14500 | 67% | AJK:14.000. :16.000, :16.500, £:15500
JL555 14200 | 68% [#£H:15,600
JL557 14500 | 67% |XA:14.300. %:16.000. 1:14.400. H:15.600
JEIES JL552 15200 | 66% |+:15,500. H:15.000
JL554 12.100 | 73% 00,
JL556 11500 | 74% 900,
JL558 10.600 | 76% 00,
R CRE) =8I HECPE)H |_JL541 11,200 74% 00,
JL543 14.800 | 66% :16.800.
JL545 12,800 | 71% 600,
FEES JL540 12.700 | 71% 400,
JL542 13500 | 69% 3:13,70
JL544 10.100 | 77% 00,
HECRB)=HIE RRECPE)F | _JL573 11,300 74% ,500,
JL575 13.000 | 70% 00,
JL577 13,000 | 70%
JL57 14500 | 66%
BILE JL57 15000 | 65%
JL57. 12500 | 71%
JL574 12500 | 71%
JL576 10.800 | 75%
R CRE) =BiE B (PE) & [_JL685 12,400 65%
JL587 12.000 | 66%
JL589 13700 | 61%
EES JL584 11.600 | 67%
JL586 12,800 | 64% 1400, H:15,500
JL588 15.600 | 56% 114600, +:12,000. H:17.000
RECRB)=ES R (FIE) % | JL253 11,100 68%
JL255 5400 | 55% |+t H.11.400
JL257 15400 | 55% [t H:11,400
JL259 4800 | 57% |£:14.900. £ H:11.400
JL261 11,100 | 68% [#:11.300, £ H:11,400
JL263 2.900
JL265 13900 11.400
JL267 4200 4,400, £:14.900, F H:11.400
LB JL252 12,400 11500
JL254 3.900 11400 _
JL256 11.100 £:12,100, T H:11,400
JL258 11100 | 68% |£:12.100. £ H:11.400
JL260 13200 | 62% [#:14.000, £ H:11,400
JL262 3200 | 62% |£:14.000. £ H:11.400
JL264 14900 | 57% 5400, £ H:11,400
JL266 4900 | 57% 115400, + B:11.400
RECRE) =K% m CPIE) % [_JL661 13,500 66% 1:14,000, H:12,500
JL663 3500 | 66% 114,000, +:14.900. H:12.700
JL665 13400 | 66% [#+:13.900. H:12,700
JL667 3000 | 67% 7K:12.700, £:13.400. H:13.900
JL669 13000 | 67% 13,600, £:13.900, H:15.300
JL671 3000 | 67% |H:13.600. %:14.000. H:15.100
KH% JL662 000 | 67% |A:15100, £:13,600, £:14,100. H:12.500
JL664 000 | 67% |H:15.100, 4,100, H:12.500
JL668 800 | 68% [%£:13.100. :15.100
JL670 700 | 68% |%:13.100, :15.100
JL672 14100 | 65% |£:14.100, :15.300
JL674 12500 | 69% |£:13.900.
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TR—N\—%FGIEERGAI1B~IIBEEN)

EE#EMAA : 2019/02/05 ~

5/18-31
=40 i 23 T A%
EE | sz ool
RR(CRE) =R ERCRE)FE| J 2.500 T1% |t
4.000 68% B:
900 | 68% [AH:
,.900 68% B:
700 | 71% |-
,700 1% B:
RIEF .000 70% | &
000 | 70% &
600 | 71% [A: :13.100. H:14.800
900 | 66% |2 3,900, %:15.400, F:14,100. H:15.300
900 | 66%
,400 69%
RR(CRE) =R ERCRE)FE| J .700 72%
,300 68%
300 | 68% :12.500
700 | 69% |H: 114,800, H:13.700
700 | 69% |H:(3. :14.600
,000 68% | AJKA:12,700, H:14.100
600 | 67% | ki E:12.500. H:14.600
000 | 68% |H: 115,100, H:15.300
RAR .300 68% | &
800 | 64% |H: 3,800, H:13.600
000 | 68% [H:
000 | 68% |A:
000 | 68% |A:
700 | 69% [H:
700 | 69% [A:
600 64%
ER(CRE)=515 ERCRE)FE| J .700 69%
700 | 69% 3900
000 | 68% :12.600. H:13.600
000 | 68% 3:14.800
700 | 69% 3600, A:13.000, £:14.300. H:14.800
,.200 68% #:14,500, H:15.300
ECES 600 | 67% 3.000. £:13.800. £:15.300. H:12.700
700 | 69%
700 | 69% 3.200
700 | 69% 3:13.900
700 | 69% :14.500
.500 70% 3.900
ER(PAE)-ERSB BERCRE) % 9.600 78% .600
100 | 75% 1300, #:12.100. £:13,100
300 | 74% |H:11.600. A%:12.600. £:13.600
100 |_75% +:11.300
100 | 77% |H:11.100
600 | 76% |H:12.600
100 | 77% [#:11.100. H:13.100
100 | 77% 100, H:13.100
BRB%E 9.700
100 | 75%
100 |_77%
.600_|__76% 1600
100 | 72% [k&+:11.300. H:13.100
100 | 75% [%:11.300. A:14.800
11300 | 74% 14,600
10600 | 76% [%H:13.600
KR (FFD-ERE | KRB % 100 | 63% £:11.400. H:10.700
000 | 60% 3200, B:11,600
,000 2700, H:11.600
.900 +11.400
11.500 12,000
11,400
11.700 12,000, £:11.300
BERBR 10.900 :10.700
10.900 +11.400
11,000 E; 3:11.400
11.000 E; 3:11.400
11400 | 62% |A: 2.700
12700 | 58% |t H:13.500. £:11.700
12700 | 58% |kl £:11,700
B 2 (R ED) =ALIR (3 T | & & 2 (D) 16.100 121,700, +:18.800. H:15.200
13.400
6,700
6.200
5,200
FLIS (BT %) $_JL3100 | 6.200
6,700
13.400
13,400
10.000
BE=EH BER 5,400
6.600
5,900
5.400
5,400
5.400
5400 | 76% |H
EEE 5.900 73% | F B:5.400, £:6.600, £:6.900

5,900 73% [ H:5.400, £:6,600, +:6,900

5.900 73% 400, #:6.600, 1:6.900, B:6.000
5,400 76% 600, 1:6,900
5.400 76%
5,400 76% | K
JL3642 5.400 76% | K
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RRPE)R | J
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22.700

7.100
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22,700

.800

ihHIF
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22.500

17.100
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17.100

el e
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S

,800

17.100

RECRE) =R

RROPE)R | J

.400

700

.400

400

JEIES

.600

.500

.300

,300

R CRE) =8IE%

RRECRE)#

.500

.600

.500

ElEES

900

.600

.300

RECRB)=HIA

RRECRE)#

.300

600

.600

.500

.400

300

.300

.300

R CRIE) =EE

RERPE)R | J

.300

900

.400

R

.100

.900

,000

R CRE)=RER

RERPE)R | J

.200

.600

.600

.600

.600

100

.100

100

RAR

.400

.100

.100

.400

.400

.900

5.900

7.700

RER(PAE)-ERE

RERPE) %

3.700
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IR—N—%BIEERGAI~6BEFES)

SEEAE : 2019/02/05 ~
5/1 5/2 5/3 5/4 5/5
=40} A—ri—%8 | A—1—%H/ | A—1—%8 | 2——%B | 2~ %8
W | ERE | B | ER I
RROAB)=%HH | ®mr@E [ J 7.100 7,100 7.100 20,100 19500 | 1
7.100 7.100 7.100 20,100 19.500 | 1
7.100 7.100 7.100 22.700 22.700
KB 7. 7 7.
7 7
RROAE) BN | RRCHE) % | J X
2
[ 2
|2
FEIES 16.
16.
16
16,
WRCAE) -0 | RRCHE) % 20
20,
19,
EEE] [ 15,
15,8
[
RROAE) =BG | RRCAE) % e
2
20.100
|22
HILSE |16
1
1
T
RROAE) A | RRCAE) % | T
16.!
1
1
16.(
AR
ERH)-ERE | BR(GE)® 5.800
5.800
5.800

BERBR

JAL



[R——%BEERGA1~14REBED)

EREEAA : 2019/02/05 ~
6/1-14
P B4 ,.‘, A—IN\—5%1§
g | BE i
5%
RR(CRE) =K () | R CHE) % 7.400 71 0
900 :9.300
.900 :9.300
L 800 :11,200, H:9.300
JL 800 :9.300
L ,300 :9,300
JL 300
L 9.300
JL 9.300
L 9.300
JL 500
L131 .500
JL133 500
L137 .500
JL139 500
KR (7 36 |_JL102 | 000
JL104 500
[JL106 ] 500
JL 500
JL ,.800
JL 800
JL ,800
JL 800
JL ,800
JL 800
JL 400
L 400
.700
.700
.700
BRCRE)=#IR k)| RECEE R | J 9.800
0700
1.700
4.100
600
000 00. +:19.700, H:13.700
.000 00, +:19.700. H:13.700
500 7.800. +:17.700, H:14,000
.000
700
700
700
.700
600
14.500
14,500
13.300
15,000
FLIR (F7 F %) $__JL500 14000 | 63% | AJK:13.500. %:14.500. E:14.800. H:12.700
JL502 14500 | 61% | AJK:14.000. %:15.000, &:15.500, H:13.200
JL594 500 | 61% |9ksk:14.000. %:15.000. £:15.500. H:13.200
JL504 000
JL506 .900
JL508 400
JLS 12.700
JL5 14,000
JLS 15.100
JL5 15,100 :14,000, H:20.000
JL518 15.300
JL520 14,000
JL522 000
JL524 000
JL526 .900
JL528 400
JL530 1400 13.
JL598 500 4% | B:14.500
R CHE)-ZB% | BR ()3 |_JL565 000 7% | A H:15.300. £:15.500. £:16.500
JL567 500 | 66% | kskA:15.000. £:16.500
JL569 300 | 69% [%:15.500, £:15.000. H:17.200
Zwal%E | JL562 000 | 70% | k7KZA:13.500, H:16.000
JL564 13500 | 71% _+:13.900. H:16.000
JL566 12500 | 73% |&: .900. H:16.000
= CRE) =B B CFIE) % |_JL551 14,000 68% | A 500, £:16,500
JL553 16300 | 63% | H:16.500. :16.400, % H:17.000. £:18.000
JL555 14,500 67% X 7K:14,000, %:15,000, H:15.800
JL557 14500 | 67% | AJK:14.000. %:15.000, H:15.800
pENIE 3 JL552 14,500 67% X K:14,000, £:15.000, £:15,500
JL554 13500 | 70% |4
JL556 13,000 T1% p
JL558 12400 | 72% |%&:
R CRE) =8I R CRE) % |_JL541 13,000 70%
JL543 15700 | 64%
JL545 14,300 67%
EEES JL540 14200 | 67%
JL542 14,400 67%
JL544 12500 | 71%
HRCHE)=HIE HRCRIE) 5 [_JL573 12500 [ 71%
JL575 14000 | 68% |/
JL577 14,000 68% p £:15,000
JL57 14500 | 66% |/ 5.000. H:17.500
HLE JL57 14,500 66% | XJK:14,000, £:15,000, 1:15,500
JL5T 14000 | 68% | AJKA:13.500, H:15.000
JL574 14,000 68% X IKA:13,500, H:15,000
JL576 12300 | 71% $:13.000, +:12,900, H:14.000
R CRE) =BiE B (PE) & [_JL685 12,700 64% [£:15,500, £:16,500, H:12,100
JL587 12300 | 65% |A:12.500, %:13.100, +:13,500. H:13.300
JL589 14,000 60% |£:15,600, +:13,500, H:15,400
WER JL584 12600 | 64%
JL586 13,500 62% H:14,000, £:13,600, +:12,800, H:16.000
JL588 15900 | 55% |£:14.600. £:12.300. H:17.300
RECRB)=ES HR(PFHE)F [ JL253 11,100 68%
JL255 15400 | 55% [ H:11.400
JL257 15,400 55% |+ H:11,400
JL259 14800 | 57% |%:14.900. £ H:11.400
JL261 11,100 68% |#:11,300, £ H:11,400
JL263 12900 | 63%
JL265 13,900 60% 4 11,400
JL267 14,200 4,400, £:14.900. T H:11.400
LB JL252 12,400 11,400
JL254 13,900 11.400 _
JL256 11,100 £:12,100, :11,400
JL258 11100 | 68% |£:12.100. & H:11.400
JL260 13,200 62% |5:14.000, :11,400
JL262 13200 | 62% |%:14.000. T H:11.400
JL264 14,900 57% |5:15.400, :11,400
JL266 14900 | 57% |%:15.400. £ H:11.400
EAC L) R (FM) % |_JL661 13,500 66% |#:14,000, +:14.100. B:12,500
JL663 13500 | 66% |%:14.000, T:14.900. H:12.700
JL665 13,400 66% |&1:13.900, H:12,700
JL667 13000 | 67% |ok:12.700 %1 H:13.900
JL669 13,000 67% 13,600 115,300
JL671 13000 | 67% [H:13.600. 15,100
PE JL662 ,000 67% |5:13,600, 112,500
JL664 000 | 67% [%:13.600. :12.500
JL668 ,800 68% |:13,100, 114,100
JL670 700 | 68% [#:13.100. 14,100
JL672 14,100 65% |5%#:14,700, :15,300
JL674 12500 | 69% |%:14.600.

JAL



[R——%BEERGA1~14REBED)

EREEAA : 2019/02/05 ~
6/1-14
R E% — A
EE | sz il
RR(CRE) =R BRCRE) % |_JL605 | 2.500 71%
4.100 68%
900 | 68%
,.900 68%
200 | 70%
,700 1%
RIEF .000 70%
000 | 70%
600 | 71% :13.100, H:14.800
900 | 66% |/ 3,900, £:15.400. F:14,100, H:15.300
900 | 66%
,400 69%
RR(CRE) =R ERCRE)FE| J .700 72%
,300 68%
300 | 68% :12.500
700 | 69% |H:13l 114,800, H:13.700
700 | 69% [H: :14.600
,000 68% [
600 | 67% |%k7K:13.000. %:14.100, £:12.500. H:14.600
000 | 68% |H:13.600. 7K:14.000, £:15.100. H:15.300
RAR 300 68% [£:13.800, .
600 | 67% [A:13.700. K
700 | 69% | kK:13000. %
.000 68% H:13.400. J}
000 | 68% |H:14.400. 7
700 69% H:13.000, &
700 | 69% | AH:13.000. &
600 64%
ER(CRE)=515 ERCRE)FE| J .700 69%
700 | 69% 3900
000 | 68% :12.600, H:13.600
000 | 68% 3:14.800
700 | 69% 3600, A:13.000, £:14.300. H:14.800
,.200 68% #:14,500, H:15.300
ELES .600 67% 3,000, %:13.800, +:15.300, H:12.700
700 | 69%
700 | 69% 3.200
700 | 69% 3:13.900
700 | 69% :14.500
.500 70% 3.900
ER(PAE)-ERSB BERCRE) % 9.600 78% .600
100 | 75% 1300, #:12.100. £:13,100
300 | 7% .600. A%:12.600. £:13.600
100 | 75% |A%+:11.300
100 | 77%
600 | 76% | H:11.600
100 | 77% |%:11.100. H:12.100
100 | 77% |#:11.100, H:12.100
BERBR 9.700 78%
100 | 75%
100 | 77%
600 | 76% | H:11.600
100 | 75% |H:12.100
100 | 75% |H:14.800
11300 | 74% |[#£H:14.600
10.600 | 76% | H:13.600
AR(PH-ERE | KRB .100 63% 11.400. H:10.700
000 | 60% 3200, B:11.100
.000 | 60% 2,700, B:11.100
.900
11.500
11,400
11.700 :11.300
BERBR 10,900 :11.100, H:10.700
10.900
11,000 1400
11.000 400
11,400 600, H:12.700
12.200 .00
12,200 12,700 £:11,700
B 2 (R ED) =ALIR (3 T | & & 2 (D) 18.100 21,700, 20700, A:17.100
8.900 114,600, +:10.300. H:10.600
7,800 £:10,000. +:9,300
6.900
5,900
FLIS (BT %) $_JL3100 | 6.900
7,800
17.600
19,000 55% H:18,700
10000 | 76%
BE=EH [EEES 5,400 X
6.600 £:7.300, A:5.400
5,900 % H:5400, 1:6,000
5.400 H:6.600
5,400
5.400
5,400
EEE 5,400 5900, %:6.600. £:6.900. H:6.000
5,400 7K:5,900, £:6,600, £:6,900, H:6,000
5.400 5900, £:6.600, +:6.900. H:6.000
5,400 100, 1:6,900
5.400 15,900,
5,400 K%:5,900,
JL3642 5,400 7k %:5.900.
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EREEAA : 2019/02/05 ~
6/15-21
P B4 ,.‘, A—IN\—5%1§
g | BE i
5%
RR(CRE) =K () | R CHE) % 7.400 71 0
,900 :9.300
.900 :9.300
L 800 :11,200, H:9.300
JL 800 :9.300
L 300 :9.300
JL 300
L 9.300
JL 9.300
L 9,300
JL 500
L131 500
JL133 500
L137 500
JL139 500
KR (7 36 |_JL102 | 000
JL104 500
| JL106 | 500
JL 500
JL 800
JL .800
JL 800
JL .800
JL 800
JL 800
JL 400
[ UL 400
700
.700
700
BRCRE)=#IR k)| RECEE R | J 9.800
0700
1.700
4,100
600
000 00. +:19.700, H:13.700
.000 00. £:19.700, H:13.700
500 7800, +:17.700. H:14.000
.000
700
700
700
.700
600
14500
14,500
13.300
15,000
FLIR (F7 F %) $__JL500 14000 | 63% | KJK:13.500. %:14.500. £:14.800. H:12.700
JL502 14500 | 61% |XJK:14.000. %:15,000, £:15.500. H:13.200
JL594 500 | 61% | k7K:14.000. £:15.000, +:15.500. B:13.200
JL504 000
JL506 .900
JL508 400
JL5 12.700
JL5 14,000
JL5 15.100
JL5 15,100 114,000, H:20.000
JL518 15.300
JL520 14,000
JL522 .000
JL524 .000
JL526 .900
JL528 400
JL530 1400 13.
JL598 500 4% | H:14.500
R CHE)-ZB% | BR ()3 |_JL565 .000 7% | A H:15.300. £:15.500. £:16.500
JL567 500 | 66% | kskA:15.000. £:16.500
JL569 300 | 69% [%:15.500, £:15.000. H:17.200
LiwHFE | JL562 000 | 70% | k7KA:13.500. H:16.000
JL564 13500 | 71% _ £:13.900. H:16.000
JL566 12.500 | 73% .800. H:16.000
R (PE) e R CFIE) 5 |_JL551 14000 | 68% 500, +:16,500
JL553 16.300 | 63% :16.400, % H:17.000. £:18.000
JL555 14500 | 67% :15.000, H:15,.800
JL557 14000 | 68% :14.500, £:15.000. H:15.800
JEIIES JL552 14500 | 67% 115,000, +:15.500
JL554 13500 | 70% 00 +:13.900, H:15.000
JL556 13,000 | 71% H:14,000
JL558 12.400 | 72% &:13,000. H:14.000
B (HE) =% HRCRE) [ JL541 13,000 70% +13,500, 1:15,500, H:12,700
JL543 15700 | 64% :17.700. H:14.600
JL545 14300 | 67% . £:14,600, H:15,600
EEES JL540 14200 | 67% +£:14.700. H:14.500
JL542 14400 | 67% 3:14,600
JL544 12500 | 71%
HRCHE)=HIE HRCRIE) 5 [_JL573 12500 [ 71%
JL575 14000 | 68% |
JL577 14000 | _68% | 15,000
JL57 14500 | 66% |2 5,000, H:17.500
BILE JL57 14500 | 66% |JK:14,000, %:15,000, £:15,500
JL57. 14000 | 68% | AJKA:13.500, H:15.000
JL574 14,000 | 68% |JKJKA:13,500, B:15.000
JL576 12.300 | 71% 13,000 +:12.900, H:14.000
R CRE) =BiE B (PE) & [_JL685 12,700 64% [£:15,500, £:16,500, H:12,100
JL587 12300 | 65% |A:12.500. %:13.100, £:13.500, H:13.300
JL589 14000 | 60% |£:15,600, +:13500, H:15,400
EES JL584 12.600 | 64%
JL586 13500 | 62% |/:14,000, £:13,600, £:12,800, H:16,000
JL588 15900 | 55% |£:14.600. £:12.300. H:17.300
RECRB)=ES HR(PFHE)F [ JL253 11,100 68%
JL255 15400 | 55% |+t H:11.400
JL257 15400 | 55% [t H:11,400
JL259 14800 | 57% |£:14.900. £ H:11.400
JL261 11100 | 68% [£:11,300. £ H:11.400
JL263 12.900 | 63%
JL265 13900 | 60% [EH:11,400
JL267 14.200 4,400, £:14.900. T H:11.400
LB JL252 12,400 11.400
JL254 13.900 11400 _
JL256 11.100 %:12,100, & B:11,400
JL258 11100 | 68% |£:12.100. £ H:11.400
JL260 13200 | 62% |%:14,000. £ H:11.400
JL262 13200 | 62% |£:14.000. £ H:11.400
JL264 14900 | 57% [%:15.400. £ H:11.400
JL266 14900 | 57% |£:15.400. £ H:11.400
RERCHE)=K5 R& (PM) % |_JLe61 13500 | 66% |£:14,000, F:14,100. H:12,500
JL663 13500 | 66% |£:14.000. £:14.900. H:12.700
JL665 13400 | 66% |#1:13,900. H:12.700
JL667 13000 | 67% |JJK:12.700, &:1 H:13.900
JL669 13000 | 67% 13,600 :15.300
JL671 13.000 | 67% |A:13.600. :15.100
KH% JL662 000 | 67% |%:13.600, :12.500
JL664 000 | 67% |%:13.600, :12.500
JL668 800 | 68% |%:13.100. :14,100
JL670 700 | 68% |%:13.100, :14.100
JL672 14100 | 65% |£:14.100. :15.300
JL674 12500 | 69% |% H:14.600
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6/15-21
=40) L R Z—IN—%1F
EE | sz okl
RR(CRE) =R BRCRE) % |_JL605 | 2.500 71%
4.100 68%
900 | 68%
,.900 68%
200 | 70%
,700 1%
"I 000 | _70%
000 | 70%
600 | 71% :13.100, H:14.800
900 | 66% |2 :13.900, +:14.100. H:15,300
900 | 66% +15.300
,400 69% 114,100
RR(CRE) =R ERCRE)FE| J .700 72%
,300 68% 112,500
300 | 68% :12.500
700 | 69% |H:13l 114,800, H:13.700
700 | 69% [H: :14.600
,000 68% [
600 | 67% |%k7K:13.000. %:14.100, £:12.500. H:14.600
000 | 68% |H:13.600. 7K:14.000, £:15.100. H:15.300
RAR 300 68% [£:13.800, .
600 | 67% [A:13.700. K
700 | 69% [2ksk:13.000. &
,000 68% H:13.400. J}
000 | 68% |H:14.400. 7
700 69% H:13.000, &
700 | 69% | AH:13.000. &
600 64%
ER(CRE)=515 ERCRE)FE| J .700 69%
700 | 69% 3900
000 | 68% :12.600, H:13.600
000 | 68% 3:14.800
700 | 69% 3600, A:13.000, £:14.300. H:14.800
,.200 68% #:14,500, H:15.300
ECES 600 | 67% 3000 £:13.800, £:15.300. H:12.700
700 | 69%
700 | 69% 3.200
700 | 69% 3:13.900
700 | 69% :14.500
.500 70% 3.900
ER(PAE)-ERSB BERCRE) % 9.600 78% .600
100 | 75% 1300, #:12.100. £:13,100
300 | 7% .600. A%:12.600. £:13.600
100 | 75% |A%+:11.300
100 | 77%
600 | 76% |H:11.600
100 | 77% |%:11.100. H:12.100
100 | 77% |#:11.100, H:12.100
BRB%E 9.700 78%
100 | 75%
100 | 77%
600 | 76% | H:11.600
100 | 75% |H:12.100
100 |_75% [H:14.800
11300 | 74% |[#£H:14.600
10600 | 76% [%H:13.600
AR(PH-ERE | KRB .100 63% 11.400. H:10.700
000 | 60% 3200, B:11.100
.000 | 60% 2,700, B:11.100
.900
11.500
11,400
11.700 :11.300
ERE% 10,900 :11.100, H:10.700
10.900
11,000 1400
11.000 400
11,400 600, H:12.700
12.200 .00
12200 | 59% % H:12.700. £:11.700
B 2 (R ED) =ALIR (3 T | & & 2 (D) 18.100 | 57% |£:21.700. +:20.700. A:17.100
14600 | 65% |A:14.700. :14.800. £:18.900, H:17.900
10,000 | 76% |+ H:10,500
9.000 | 79%
8,000 81%
+LIR (37 T 8 5 9.000 79% .
10000 | 76% H:10,500
18300 | 56% |A:18.500. %:19.000. £:17.100, H:19.600
19,500 53% |+:18500, H:21,000
10000 | 76% |+:10.600. H:14.600
R [EEES 5.400 B KA:5.900
6.600 £:7.300, A:5.400
5,900 % H:5400, 1:6,000
5.400 H:6.600
5,400
5.400
5,400
EEE 5,400 5900, %:6.600. £:6.900. H:6.000
5,400 7K:5,900, £:6,600, £:6,900, H:6,000
5.400 5900, £:6.600, +:6.900. H:6.000
5,400 100, 1:6,900
5.400 15,900,
5,400 K%:5,900,
JL3642 5.400 7k %:5.900.
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6/22-30
) B4 A—I—%5
B %5
RR(CRE) =K () | R CHE) % 7.400
900
.900
L 800 :11,600, H:9,700
JL 800 :11.600, H:9.700
L ,300 . H:9.700
JL 300 :9.300. H:9.700
L 9.300 63%
JL 9.300 63%
L 9.300 63%
JL 500 :11.600
L131 .500 1:11,600
JL133 500 :11.600
L137 .500 1:11,600
JL139 500 :11.600
KR (7 36 |_JL102 | 000 | 56%
JL104 500
[ JL106 | 500 3 600, .
JL 500 600, £:9.800. H:9.700
JL 800 3 9,800, H:9.700
JL .800
JL ,800
JL .800
JL ,800
JL 800
JL 400
[ UL 400
.700
.700
.700
BRCRE)=#IR k)| RECEE R | J 9.800
0700
1.700
4.100
600
,000
.000
.500
.000
700
700
700
.700
600
14500
14,500
13.300
15,000
LR (37 F %) 3_JL500 14,000
JL502 14,500
JL594 500 % |2 00. £:15.500. H:13.500
JL504 .000 % 00
JL506 .900 | 66%
JL508 400 | 67% 500
JL5 12700 | 66% :13.400. B:16.600
JL5 14500 | 61% |/ 5:18.300
JL5 15.100 :14.500. H:20.500
JL5 15,100 116,600, +:14,500, H:20.500
JL518 15.300 114,500, H:21.000
JL520 14,000 . %:17.000. H:21.000
JL522 .000 H:21.000
JL524 000 :14.100, H:21.000
JL526 .900 1.000
JL528 400 7.300
JL530 1400 13, 7.300
JL598 500 :16.600
HRCHE)=%ES | B CRE) % [ JL565 | 000 +15.300. %:15.500. £:19.000
JL567 000
JL569 100
Zwal%E | JL562 500
JL564 13.500
JL566 12.500 ]
Rm (PE) e R CPIE) % [_JL551 14,000 :21,800, H:20,000
JL553 16.300 7.000. £:24.300, H:20.800
JL555 14,500 7,000, H:18,500
JL557 14000 5,000, +:17.000. H:18.500
pENIE 3 JL552 14,500 8,000, H:17,500
JL554 13500 00. H:18.000
JL556 12,500 :17,000
JL558 12.400 5400, H:17.000
RE (PE)-SIE TR CPIE) % [_JL541 13,000 6,900, A:12,700
JL543 15.700 :19.900
JL545 14,300 67% P , H:18,500
EEES JL540 14200 | 67% Xt . £:15.900. H:14.600
JL542 14,400 67% |4
JL544 12500 | 71% 1900
HECRB)=HIE HR(PE) & [_JL673 12,300 71% ,900, +:16,500, H:15.700
JL575 13500 | 69% | H%:14.000. +:17.500. H:17.000
JL577 13,500 69% A £:14,000, +:17,500, H:17,000
JL57 14500 | 66% |XAK:14.000. %:15,000, £:17.000. H:18.500
ETR 3 JL5T! 14,000 68% | F:16,700, A:14,500, £:15,000, £:18,000, H:17,500
JL57. 13500 | 69% | H%:14.000. £:16.500. H:18.000
JL574 13,500 69% A £:14,000, t. 00, H:18,000
JL576 11.900 | 72% 00 7:12.500, £:13.000. £:15.500, H:16.900
= (FIE)-EE B CFIE) % |_JL5685 12,700 64% | 00, B:12,100
JL587 12300 | 65% |A:12.500. 00. £:15.200, H:13.800
JL589 14,000 60% |£:15,600, +:15,700, H:18,100
WER JL584 12.600 | 64%
JL586 13500 | 62% 14,000, £:13,600, £:13,400, H:19.100
JL588 15.900 | 55% 14600, +:15.700. H:21.900
RRCAB)=ES R CRME) % [_JL253 11,100 68% 11,200
JL255 15400 | 55% 11.400, H:12.200
JL257 15,400 55% 112,200
JL259 14800 | 57% :11.400, H:12.200
JL261 11,100 68% 211,400, H:12,200
JL263 12.900 | 63%
JL265 13,900 60% 112,200
JL267 14200 | 59% 114.900, £:11,400. H:12.200
LB JL252 12,400 64% :11,800
JL254 13.900 | 60%
JL256 11,100 68% 4
JL258 11100 | 68%
JL260 13,200 62% 112,200
JL262 13200 | 62% :12.200
JL264 14,900 57% 112,200
JL266 14900 | 57% :12.200
EAC L) R (FM) % |_JL661 13,500 66% :12,500
JL663 13500 | 66% :13.600
JL665 13,400 66% 13,
JL667 13.000 | 67% |AJK:12.700. %:13.400. H:13.900
JL669 13,000 67% 213,900, H:15.800
JL671 13.000 | 67% :15.500
RN JL662 ,000 67% 112,500
JL664 000 | 67% :12.600
JL668 ,800 68% 114,500
JL670 700 | 68% :14.600
JL672 14,100 65% :16,500
JL674 12500 | 69%
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6/22-30
=40) L R Z—IN—%1F
EE | sz il

RR(CRE) =R ERCRE)FE| J 2.500 71%
4.600 67%
900 | 68%
,.900 68%
200 | 70%
.100 68%
RIEF .000 70%
000 | 70%

600 | 71% 00, H:15.200

.900 66% 00, i'14:500‘ H:17.100

900 | 66%
,400 69%
RR(CRE) =R ERCRE)FE| J .700 72%

.300 68%
.300 68%
.700 69%
.700 69%
.700 69%
.600 67%

:14.100

:14,800, H:15.200
:14.800. H:14.300
:14,500

2.500, H:15.100

000 | 68% |H:13 14, :15.100. H:15.800
RAR .300 68%
.800 64%
.000 | 68%
000 | 68%
000 | 68%
700 | 69%
700 | 69%
600 64%
ER(CRE)=515 ERCRE)FE| J .700 69%
700 | 69%
600 | 69%
.000 68% :14.800

3,600, A: 3,00’0\ £:15.100, B:15.200
:14,500, H:15.500
3.000. A:15.100, £:13.800. +:15.300, H:13.100

.700 69%
.200 68%

ELES .200 68%
700 | 69%
700 | 69%
200 | 68% A:12.700, H:13.900
700 | 69% 113.200. H:14.500
500 | 70% .600. H:13.900
ER(PAE)-ERSB BERCRE) % 9.600 78% .600
100 | 75% 1300, #:12.100. £:13,100
300 | 74% |H:11.600. A%:12.600. £:13.600
100 | 75% [ A% +:11.300
100 | 77%
600 | 76% | H:11.600
100 | 77% [%:11.100. H:12.100
100 | 77% |#:11.100, H:12.100
BERBR 9.700
100 | 75%
100
.600 111,600
100 :12.100
1100 4.800
11.300 4.600. H:14.800
10,600 :13.600
AR (R =-ERS KR () % 100 63% 11.400, B:11.200
000 | 60% 3.200, H:11.400
,000 2,700, B:11.400
.900
11.500
11,400
11.700 :11.800
ERE% 10.900 :11.100, H:10.800
10.900 : 11
11,000 10, 3:11.400
11.000 10, 3:11.400
11,400 X K:10.600, H:12.700
12.200 2300, H:14.500
12200 | 59% % H:12.700. £:12.300
B 2 (R ED) =ALIR (3 T | & & 2 (D) 18.100 57% :21.700. 1:25.100. H:20.800
14600 | 65% |A:14.700. :14.800. £:18.900, H:17.900
10,000 | 76% [+ H:10,500
9000 | 79% 9,500
8,000 81% 500, H:9.500
+LI% (37 F &) 5_JL3100 | 9.000 9.500
10,000 :10,500
19.500 500, H:21.000
19,500 8,500, H:21,000
10.000 600, H:15.900
HIRFFR) =38 HBRR 10,600 ,000
10.600 ,000
HLIR (37 F %) 3 11,500 ,500
10600 ,000
BE=-LE BER 15,900 100, £:16,900, H:16.700
17.100 400, %:15.900
[=E 16,700 5,400, £:15,900, H:15,600
17.000 t H:17.700
EE-=E EES 5,400 K K:5,900
6.600 +£:7.300, A:5.400
5,900 5400, 1:6.000
5,400 600
5,400 900
5,400 900
5,400 900
EEES 5,400 5900, %:6.600. £:6.900. H:6.000
5,400 7K:5,900, £:6,600, £:6,900, H:6,000
5,400 5900, £:6.600, +:6.900. H:6.000
5,400 100,
5,400 £:5.900.
5,400 15,900,
JL3642 5.400 5900,
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7/1-11
P B4 — A——%5
A | mizix il
RR(CRE) =K () | R CHE) % 7.700 72%
900 61%
7 900 | 61%
L .100 60%
JL 100 | 60%
L ,600 62%
JL 600 | 62%
L 9.700 65%
JL 9.700 65%
L 9.700 65%
JL 800 | 57
L131 .800 7
JL133 800 7
L137 .800 7!
JL139 800 7
KR (7 36 |_JL102 | 200 | 59%
JL104 200 | 59%
[ JL106 | .200 59%
JL 200 | 59%
JL 100 63%
JL 100 | 63%
JL 100 63%
JL 100 3
JL ,100 7%
JL 100 7
JL ,100 7%
[ UL 00 7
11,200 59%
11200 | 59%
11,200 59%
R CRE) =) ERCRE)FE| J 26.000 44%
25,000 46% RE
7.000 | 64%
7.000 64%
TR 7.000 | 64%
6500 | 65%
25000 | 46%
.500 67%
HERCRE)=%HL ERCRE) % .500 66%
.500 64%
500 | 64%
000 | 63%
ETR3 7.000 | 63%
6500 | 64%
16.500 | 64%
15500 | 66%
ER(CRE)=K5 BN CRE) % |_JL661 14.400 66% .500
JL663 14900 | 65% 400, % £:15500. H:13,600
JL665 13400 | 68% |A ,900. :14.100, %:15.000. £:14.500
JL667 14100 | 67% |7 400, £::14.600. +:13.800, H:13.900
JL669 14600 | 66% |9
JL671 13600 | 68% |A:
RH% JL662 13.600 | 68%
JL664 13600 | 68%
JL668 13.400 | 68%
JL670 13400 | 68%
JL672 14900 | 65% :14.700. B:16.500
JL674 13000 | 69% :15.000
ER(CRE)=RIF BRCRE) % | JL60s | 14.600 68% 14,100
JL607 14800 | 68% 6.300, H:14.600
JL609 14600 | 68% ]
JL611 14600 | 68% 13,600, A:14.100. £:15.000
JL613 14700 | 68% |X:13.400. 7K:13.900. A:14.100, £:15.000. E:14.600. B:15.700
JL615 14400 | 69% |H:14.700. %:15500. £:14.600, H:15.700
W% JL606 100 | 69% 15.300
JL608 100 | 69% 200, H:14,500
JL 300 | 69% 00, 00 £:14.700. H:15.200
JL 000 | 65% 500, 7K:15.500, £:16.500. £:14.900. H:17.100
JL 5500 | 66% 500,
JLi 3400 | 71% 900, %:17.000, £:14.100. H:15.300
ERCRE) =R BN CRE) % |_JL623 3.400 69% 4.200
JL625 4400 | 67% 5.100, H:14.600
JL627 14,500 67% 15,100, H:14,100
JL629 5200 | 65% 400, :14.700
JL631 15,000 | 66% 00, £:15,200, H:14,600
JL633 14100 | 68% 400, 7K:13.200, %:15.100. H:14.500
JL637 15,100 65% 1:14,100, £:14,600
JL639 14100 | 68% |A:15.100. K:13.900, A:14.600. % H:15800
A% JL622 14,100 68% | :14,300, A:14,500, £:14,800, +:15,500
JL624 14700 | 66% | H:14.600. 7K:15.100, % F:15.200
JL626 14,300 67% | KJK:14,600, 115,100
JL628 13.600 | 69% | A H:14.600. k:13000. %:14.100
JL630 15,100 65% | 4:14,700, 7K:14,500. 7:14.600, % H:15,200
JL632 4700 | 66% |H:15.100. :14.400, A:14.900. £:15800. H:16.500
JL634 14,700 66% 15,100, $K:14,400, 7:14,900, £:15,800, H:16,500
JL638 15100 | 65% |JK:14.600
HECRB)=EH B (PE) & [_JL6s7 13,100 70% _[£:14,000, +:14,100
JL689 3600 | 69% | 4,100, £:14.600. H:13.100
JL69T 14,100 68% | 00, 7:13,900, £:14,200, 1:14,600
JL693 3900 | 68% :13.600, £ A:14.700. £:14.100
JL695 14,600 67% 00, t:14,100, H:15,200
JL697 14100 | 68% . %:15.000. H:15.500
EHEES JL688 13,600 69% . £:15,500, B:13,100
JL690 13100 | 70% . £:14.700, A:13.600
JL692 13,100 70% 00
JL694 13100 | 70% . £:13.600. H:14.700
JL696 13,100 70% . £:13,400, H:15,200
JL698 3000 | 70% . %:13.600, £:13.100. H:14.600
RERPIE)-ERS HECPE)H |_JL641 9,600 79%
JL643 11.100 | 76% 13.100
JL645 .600 75% t:13.600
JL647 100 | 76% #:12.100
JL649 100 78%
JL651 600 | 77% 1600
JL653 100 78% .100, H:12,100
JL655 100 | 78% .100. B:12.100
BRER JL640 9,700 79% 700
JL642 100 | 76%
JL644 100 78%
JL646 600 | 77%
JL648 100 76% :
JL650 100 | 76% |H:14.100
JL652 .600 75% | :X:11,300, £:15.100, H:14,800
JL654 600 | 77% |&H:13600
KR (B -ER KR (B % [_JL2401 11,200 66% |#:12,300, +:13,200
JL2403 3300 | 59% |/K:12.400. £:13800. H:11.400
JL2407 12,400 62% 13,300, £:13.800, H:11.400
JL2409 0900 | 66% | H:11.700
JL2411 10,900 66% |5%:12,700, H:13,600
JL2415 10.900 | 66% |%:11.800. H:13.600
JL2419 11,800 64% |5#:12.900, H:12,700
BRER | JL2400 0900 | 66% |+:11.700. H:10.800
JL2402 10,900 66% 10,800
JL2404 1.200 | 66% |&: :12.700. H:11.800
JL2406 11,200 66% |& 3:11,800
JL2410 12100 | 63% |k 111,900, £ H:13.600
JL2412 12,300 62% |£:14,100, H:14,500
JL2414 2300 | 62% |£:14.100. H:14500
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7111
2—"—5%H
@wm E oM %

=40]

#51%
7.400

7.400 E

7.400 E:

10.100 62% | XKAK:7.400
E
2

HLIR BT i) =F FLIR (3 F %) 54

7.400
7.400
5.400
7.100
.400
400
.400
400
.400
400
.100
.400
.400
.400
.400
.400

BE=E ik [EEES

7100, £:8.100
100, H:5.400
%:7.100. 1:8.100
70
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7/16-24
=R B4 FH A—N—%HF
E—75 Bz
5% "
RR(CRE) =K () | R CHE) % 71%
61% :9.900
7 61% |2 :9.900
L 59% 9,900
JL 59% :9.900
L 1 1,600, F:9.900
JL 1 :9.900
L 4
JL 4
L 4
JL 56 600
L131 56% 600
JL133 56% 600
L137 56% 600
JL139 56% 600
KR (7 36 |_JL102 | 59%
JL104 59%
| JL106 | 59%
JL 59%
JU 63%
JL 63%
JU 63%
JL 3
JU 7%
JL 7
JU 7%
[ UL 7
59%
59%
59%
R CRE) =) ERCRE)FE| J 41%
40%
53% :22.700. £:22.600, H:23.900
53% 122,700, £:22.600. H:23.900
JEIES 53% . £+:22,500. H:22.700
54% :23.300
43%
57%
HERCRE)=%HL ERCRE) % 62%
61%
61%
59%
HILSE 5%
61%
61%
63% | A7K:16.300. 00, H:18.300
R CRE) =R HR(HE) % [ JL231 7 500, H:11.900
JL233 7 t H:10.700
JL237 7 t H:10.700
JL239
JL241 114,400, £:11.000. H:14.200
[EIES JL232 111,400
JL234 :13.600. B:11.000
JL: £ H:10.700
JL: £:12.400
JL: :14,900, H:14.200
RRECAB)=LES BRCRE) % |_JL25
JL255 800
JL257 800
JL259 200
JL261 100
JL263 100
JL265 N .800. H:14.800
JL267 61% | 15,200, %:15.500, £:13.300
LR% JL252 67% 900
JL254 62% 0
JL256 70% 200, B:11.400
JL258 70% . £:13,000, H:13.800
JL260 63% . B:14.500
JL262 63% . H:14500
JL264 59% . £:13.600. H:14.500
JL266 59% . B:14.200
HRCRE)=K5 BN CRHE) % |_JL661 64%
JL663 64% :16.200, £:17.000, H:14.900
JL665 64%
JL667 64% . i
JL669 63% :15,100, H:17.000
JL671 66% 5,100, % H:16.200
KH% JL662 66%
JL664 66%
JL668 65%
JL670 63% .
JL672 62% 6,600, H:17.200
JL674 67% :15.600, H:16.000
R CRE)=RER RECPE)F |_JL623 67%
JL625 65%
JL627 66%
JL629 62% +15.600, 7K:15.400. 7:15.900
JL631 65% 2 +:16,000, H:15,600
JL633 65% :14.400
JL637 64% £:15,100, :14,600
JL639 65% :14,900, K:15.600. & H:17.100
AR JL622 65% +15,500, +:17,100
JL624 62% |A: K H:16.100
JL626 64% |F (B:16.100
JL628 64% : 14,600, £:15.100
JL630 62% | B 5,500, 7:15,600
JL632 64% |E 7.000, H:17.100
JL634 64% |7 :17.100
JL638 63% |
HECRE)=EH m CPIE) % [_JL687 67% | A:14,600, £:14,900, +:15,100
JL689 67% |/KH:14.400. A%:15.100. £:15.600
JL691 65% |K: :15,300, +:15,600
JL693 66% | A t:15.100
JL695 64% |k 4,600, £:15,600, +:15,100, H:16.500
JL697 65% 4,400, %:16.000, H:16.500
S JL688 64% . B:14.400
JL690 67% :14.600
JL692 67%
JL694 67% 115,500, +:14.900. H:16.100
JL696 67% A :
JL698 68% |2
RECRE)=ER HRCRIE) 5 |_JL64t 66% |A:
JL643 66% |A:
JL645 68%
JL647 73% |A:
JL649 68% :
JL651 68% |1
JL653 70% |5
JL655 70%
BERBR | _JL640 67%
JL642 67% g
JL644 78% |A:
JL646 7% _|A:
JL648 68% |H: 5,600
JL650 68% |A: :15.800
JL652 70% _|B: 4,200, B:15,800
JL654 70% |H: 4,200, B:15.800




TR—N—%FGIHEER(TA16~24BEFEN)

EREEAA : 2019/02/05 ~
7/16-24
=40} B4 FH 2—"—5%H
BAHR [ g E—OH
EEE B51% %5
RRFH-ERE | KAR(FD % 55 800 | 64% | X:12.900. & £:13.500
55 500 | 58% |sK:12.400. F:14,600, H:13.100
55 500 | 58% |7K:12.400. £:14.600, B:12.000
55 400 | 65% | kH:12.500
55 400 | 65% | X:12.700. H:14.500
55 400 | 65% |X:12,700. H:14.500
55 400 | 62% | X:13.500. £ H:14.500
ERER 55 1400 65% | XA 1:12.500
55 400 | 65% | k&
55 800 | 64% |k -700. £:13,500, H:12.400
55 800 | 64% |/ 111,700, £ H:12.400
55 ,900 3:14.500
55 .900 £:13.800. H:15.400
55 ,900 £:13,800, H:15.400
HRFHTFR)=HH  [fLIEFHTFR) 5 55 7.400
55 7.400 72%
55 7.400 72%
HHER 55 10.300 61%
55 7.400 72%
55 7.400 72%

JAL



[R—/—%BIBER(TA25~31BERS) AL

EE#EMAA : 2019/02/05 ~

7/25-31
P B4 — A—N\—%1§
A | mizim sl
RR(CRE) =K () | R CHE) % 7.900 71% |5t
900 | 61% [% :9.900
7 900 | 61% [% .900
L 300 | 59% |J ,900
JL 300 | 50% | :9.900
L 800 1% |4 :11,600, H:9.900
JL 800 1% _[J
L 9.900 4% [
JL 9.900 4%k
L 9,900 4% [
JL 00 | 56% |k
L131 00 | 56% |4
JL133 00 | 56% |4
L137 00 | 56% |4
JL139 100 | 56% |k
RO () 3 |_JL102 | 400 [ 50% [k
JL104 400 | 59% |k
[ JL106 | 400 | 59% |k
JL 400 | 59% |k
JL 300 | 63% X
JL 300 | 63% |4
JL 300 | 63% |
JL 300 e
JL .200 7% | . H:9.900
JL .200 7% |4
JL .200 7% ] :11,600
[ UL 200 7%k 600
400 | 59% [k ,600
400 | 59% |k 600
400 | 59% [k 000
R CRE) =) ERCRE)FE| J 500 41%
28,100 | 40% +:31.
00 | 53% 25700, £:22.700, £:22.600. H:23.900
00 | 53% 25700, £:22,700. +:22.600. H:23.900
FIIES 00 | 53% 26,600, % H:22.700, £:23.900
400 | 54% £:22.100. B:23.300
26.500 | 43% K:26.700. £:30.600. H:29.400
20000 | 57% B 100. $:20.800, H:22.100
HERCRE)=%HL ERCRE) % 7.300 62% | 900
7.900 | 61% 00
7.900 | 61% . 00
8900 | 58% :27.900, :18.400. H:20,000
ETR3 8400 | 59% :18.900. £:20.000
7.900 | 61% 8,400, B:1
17.900 | 61% 18.400. H:19.400
16.800 | 63% 7.300. H:
ER(CAR)=LES BRCRE) %[ JL253 | 11.200 70%
JL255 15400 | 58% £:15.100, H:12.800
JL257 15400 | 58% :15.100, H:12.800
JL259 15200 | 59% £:14,900, H:13.200
JL261 12.600 | 66% :15.000, 2:12,800. £:13.000. H:12.100
JL263 12.600 | 66% +15,000, £:12,800, F:13.000, H:12.100
JL265 14000 | 62% 115,000, +:12.800. H:14.800
JL267 14500 | 61% 00. £:13.300
LR% JL252 12200 | 67% 2400, B:11.900
JL254 14000 | 62% 2500
JL256 11200 | 70% 2200, B:11.400
JL258 13.000 | 65% :12.900, H:13.800
JL260 13.600 | 63% 00, H:14.500
JL262 13600 | 63% 00. F:14.500
JL264 15000 | 59% 00, £:13.600. H:14.500
JL266 15300 | 59% 00, 1:14.100, H:14.200
HECAB)=K% BN CRE) % |_JL661 15.400 :13.500
JL663 15.900 3 115600, £:16,200. £:17.000, H:14.900
JL665 15.100 £:16.000. B:14.400
JL667 15.100 3 :15.900, £:15.600. F:14.800, H:14.900
JL669 15.600 3 :15.400, A:15.100. H:17.000
JL671 15.400 4% 115100, 2 H:16.200. £:14.600
RH% JL662 14600 | 66 15.100, £:15.600. H:14.000
JL664 14600 | 66% :14.900, £:15.100. +:15,600. H:14.000
JL668 14400 | 66% X £:15.100
JL670 14900 | 65% 14400, £ 1:15.100. H:15.600
JL672 15,900 63% :16, 115,400, £:16,600, H:17,200
JL674 14000 | 67% 4,600, £:15.600, H:16.000
HRCRE) =R HRCPE) % |_JL623 | 14,400 67%
JL625 15100 | 65%
JL627 14900 | 66%
JL629 6.600 | 62%
JL631 15400 | 65%
JL633 15100 | 65%
JL637 15,600 | 64% :15,900, A:14,600. £:15,100
JL639 17.100 | 61% :15.900, A:15.600. £:15.100
JL622 15100 | 65% L, £:17,100
JL624 16.100 | 63% :16.500, % £:16.600
JL626 15,300 65% 0. 7K:15,500
JL628 14600 | 67% | A H:15.600. k14900, %:15.100
JL630 16.100 63% | 4:15,800. 7K:15.900. 7:15.600, & H:16,600
JL632 15900 [ 64% [F:16.100, :15.400, £:17.000, H:17.100
JL634 15900 | 64% |A:16.100. X:15.400, £ H:17.100
JL638 16.100 | 63% |XE:15.600
ESACEIEET Hm (FE) 5 |_JL687 14400 | 67% |H:14,600, 7k:16.600. £:14,900, £:15.100
JL689 14600 | 67% |7K:16.500. A%:15.100, £:15.600. H:14.400
JL691 15,100 65% ,600., 7K:17,100, :14,900, £:15,300, F:15,600
JL693 14900 | 66% :17,000, £ H:16.000. £:15.100
JL695 15500 | 64% 117,000, A:14,600, %:15.600, £:15,100. H:16.500
JL697 14900 | 66% :15.100, £:16.000. H:16.500
EEES JL688 15500 | 64% 6,500, H:14.400
JL690 14400 | 67% :16.000. H:14.600
JL692 14400 | 67% 5,200, % £:14,900, H:15.100
JL694 14900 | 66% :15.600, A:14.400, %:15.500, H:16.100
JL696 14400 | 67% | A 5,500, H:16.500
JL698 13500 | 69% | A %:14.600. H:15.600
T CHE)-RR H& (PE) % |_JLedl 15600 | 66% [/7:14.200, 7k:17.100, % 315300, H:14.600
JL643 15600 | 66% | A:14.200, 7k:17.100. £ +:15.300, H:14.600
JL645 14,800 | 68% |7K:16.800. A:15. ,300, H:14,600
JL647 12300 | 73% | A %:14.600. 7
JL649 14600 | 68% K:12,300. 7}
JL651 14600 | 68% :15.300, 7K:
JL653 14000 | 70%
JL655 14000 | 70%
BERBR | _JL640 15100 | 67%
JL642 14000 | 70%
JL644 14200 | 69%
JL646 14200 | 69% :14.800,
JL648 12300 | 73% 115,300, &
JL650 14200 | 69% 4,000, &
JL652 12,300 [ 73% [B:15.100, A&+:14.200, 216,100, H:15.800
JL654 12300 | 73% |A:15.100. A+£:14.200, £:16.100, H:15.800




TR—N\—%FGIHEER(TA2~31BEEN)

EREEAA : 2019/02/05 ~
7/25-31
=R B4 FH A——%5
BAHR [ g E—75
EEE B51% %5
KR (BFH=-ERS KB (5 % 55 .800 64% X :13.500
55 ,.500 58% B: 00, 7K:12,400, £ H:14,500
55 500 | 58% |A: 00. 7K:12.400, £:14.500. H:13.800
55 .400 65% K ,500
55 400 | 65% | k- 500
55 400 | 65% [kE:14)
55 400 | 62% | X:15300. £ H:14.500
BREH 55 400 65% | X:14,700, A£:12,500
55 400 | 65% | X:14.700. %:12.500
55 .400 62% X:16.300, 7KA:11.800, 1:13.300
55 400 | 62% | X:16.300. KA:11.800
55 ,900 k:17.100. 7K:16.000, £:15.000, £:13,300, H:15.400
55 .900 113.800, H:15.400
55 900 3,800, H:15.400
WIREFTFR)=-FH |fLIREFTR A 55 7.400
55 7.400 72% ..
55 7.400 72% 300
HHER 55 10,300 61% 7.400, 7K:9,000
55 7.400 72%
55 7.400 2%

JAL



[R——5%1G1IEER(BA2~8HEES)

EREEAA : 2019/02/05 ~
8/2-8
=40) L =T A—I—%5
EEE B51% %5
RR(CRE) =K () | R CHE) % o1 9.300 66% |7t
103 | 300 | 59% | :10.200
7 300 | 59% | :10.200
L 300 | 59% |k :11.600, H:10.200
JL 300 | 59% |k 1,600, H:10.200
L 800 1% [k
JL 800 1%k
L 9.900 4%k
JL 9.900 4%k
L 9,900 4%k
JL 100 | 56% |
L131 100 | 564 |1 . H:11,600
JL133 100 | 56% |k :10.200, B:11.600
L137 100 | 56% |k :10.200, B:11.600
JL139 100 | 56% |k :11.600
KR (7 36 |_JL102 | 400 [ 50% [4
JL104 400 | 59% |
[ JL106 | 400 | 59% |
JL 400 | 59% | :10.
JU 300 | 63% | :11.300, B:10.200
JL 300 | 63% |
JL 300 | 63% |
JL 300 | 63% |
JU 300 | 63% |A: :9.800. H:9.900
JL 9.500 66% |/ 900
JU 9.800 64% |7 1.600
[ JLi28 | 9.800 64% |/ 1,600
130 | 400 | 59% |4 0.200. H:11.600
400 | 59% |
400 | 59% |7
R CRE) =R ERCRE) % .800 65%
900 | 67% |4
900 | 67% |7K:12.800. A:11.800
500 | 65% |A:13.300. K:13,900, A:11,800. H:13.700
4400 | 60% | A:12.900. A:11.800. %:14.300, H:15.200
RIS .900 67% |7t 2,200
500 | 65% | £:14.500. H:13.500
.900 7% | .
.900 4% | X:13.800, 7K:14.400. A:11,500, £:13.900. £:13.200, H:14.300
,900 4% [ 00, %:14.900, %:14.200. B:15.300
AN ERCRE)FE| J .300 7 7 .700
400 | 58% | 100. +:16,000, H:13.200
400 | 58% | 00. £:16.000. H:13.200
200 | 59% |/ 111,100, H:13.500
13100 | 65% |A: :11.100, £:12.800. H:12.300
13100 | 65% |A: 1,100, %:12.800, H:12.300
14000 | 62% [k: H:14.900
14500 | 61% |kK: 400 H:15.800
EB% 12.400 66% |A: 00
14000 | 62% |kK: 600
12200 | 67% |k 500
12200 | 67% [kK: 2900, H:13.600
15200 | 59% .300. %:15.600. H:16.100
15200 | 59% 5
15.000 | 59%
16200 | 56%
RRCAB)=-E5 RER(PE) R 13.500 62
13500 | 62%
13500 | 62
13500 | 62%
13500 | 62
13500 | 62%
500 | 62%
[ 700 | 62%
400 | 62% :12.200
400 :12.200
400 :12.900
400
13.300
13.300
RRCRE) == RERPE) % 9.900
6.200
11,100
3,000 & 1:14.300. H:14.900
13,000 +:14,300, H:14,900
5500 . £:13.300. H:16.800
16,500 :15,500, £:17,100, £:14,300, H:17.400
I3 13.100 .400. H:13.60
15,700 20,200, :13,800, £ +:16.700, H:14,300
10.600 400, H:11.40
10,600 13,800, H:14.40(
13.300 600, /K:13.800. £:13.600, H:15.000
17.100 (H:17.200, 7K:21,300, #:13,800, £:15500
6.200 :20.900, A:13.800. % H:17.100. £:14.500
TR CRE)=# R (FE) % 21,400, 4:14,500, £ +:17.800
. 20,900, 7K:23,500, A:16,500
13,600 23,400, :16,500, £ %:16,000. H:17.800
1.800 17700, H:20.30
18,800 : 19,900, 7K:23,700, :16,500, +:16.700
19.100 | 50% |:X:21.400. k25500, £:16.500, +:18.500
EATIE S :14,600
3:14.600
. £A:16.100
19,100 | 50% . A:13,100, £:18,300
19100 | 50% . A:13.100, +:18.300
RRCAB) =K% HRCAE) % 21,800 49% $::20,100
24000 | 43% :23,000. £:26.100
24000 | 43% 23,000, 1:24,800
23700 | 4% 0, 7 . £:22.800. H:24.300
24000 | 43% 100, 00, £:22,800, H:23.700
23300 | 45% |K:22.900. £:26.300. %
KH% 15500 | 63% 6000, A:15.900, % £:17.600
5900 | 63% :16.000. A:16.900. & £:17.600
17100 | 60% %:17.400, H:17.700
17.100 | 60% 117400, H:17.700
17.900 | 58% 17,600, 18,300, %:19,400, H:19,000
6400 | 61% |A:16.100. X:17.100, A %:17.600. H:18.100
HECRB)=R& HRCRE) % 24,600 47% _|7K:25,100, A:26.300, £:21,600
26100 | 43% X:25.600. £:26.700, £:23.400
25200 | 45%
25200 | 45%
24,800 | 46% 00. +:24,000
25600 | 44% :24.000
W5 7600 | 62% :18.000
7.600 | 62% :18.000
9100 | 59%
9400 | 58%
400 | 58%
000 | 59% & H:19.400
R CAE) B CRE) % 700 50% 4,700, £:21,000, +:22,600
300 | 47% 1.300. & H:22.900
300 | 47%
800 | 43%
800 | 43% 00, £:22,800
400 | 4% 00. £:26.300, £:22.600
23300 | 47% |A:26.300, £:21.300
25600 | 41% [JK:26.100, A:26.700. %:23.400, £:24.700. H:25800
AR 7100 | 61% |A:18.100, 7K:16.900, 7:16.,400, £:18.500. £:19,900, H:19.400
9500 | 55% 600, :18.900, £:19.000. £ H:19.400
7600 | 60% 500
6.600 | 62% |X:17.100. JK:15.600, A:17.400. £ H:17.600
7.800 [ 59% [:X:18.600, 7k:17.100, 7:18.400, £:18.100, F:18,800, H:19.400
7.600 | 60% |sK+:17.100. A:16.900. H:18.500
7600 | 60% |/K:17.100. A:16.400, H:18.500
7.600 | 60% |7K:16.100. AH:18.100

JAL



[R——5%1G1IEER(BA2~8HEES)

EREEAA : 2019/02/05 ~
8/2-8
=40} = A—N—%F
EEE B51% %5
R (FAE)-EE HERCAE) [ J 700 | 46% |7K:25.100. £:26.300, £:22.400. +:23.800, H:23.500
400 44% [ X:24,700, 7K:25200, A:26,300, £:22.400, +:24,200
800 | 43% :24.700, A:26.700. £:22500 _
.700 43% :22.800., H:25.200
25.100 | _42% :
.800 43%
ECES 500 | 60%
400 62%
400 | 62%
.600 60% X !
600 | 62% 7.500. %:16.900, H:18.500
600 62% 7100, #:17.600, H:17,500
ER(PAE)-ERSE RERCRE) % .300 52% :22.900
,.300 52% :22.900
300 | 52% :21.500, 1:23.300. H:22.900
23.300 49%
23100 | 50%
23,100 | 50%
23100 | 50%
3 :22,000, H:23.300
BRB% 7.800 | 61% 00. :14.300. H:17.100
7.600 62% 7.300
7100 | 63% [H:7. : 7300, H:17.600
7.100 63% HER N . #+:17.300, H:17.600
7600 | 62%
7300 | 62% 117,700, H:17.100
7100 | 63% KH:17.600. £:18.100
7.100 63% K H:17.600. £:18.100
KR (FF-ERE | KRB % 400 | 65% | H:13000. A:11.800, H:11.900
000 | _45% 4,500, 16,800, H:16.300
900 | 60% 3.200, £:14.500. £:16.800, H:16.300
900 | 63% | 13.000
900 | 63% |/ 3.500
900 | 63% |
900 | 63% |/
BEREH .400 65% |7K: .900
400 | 65% | 113.000, H:11.900
.100 57% X :15,000, +:13.300, H:15.400
100 | 57% |k 00. H:15.400
.900 63% J 00
900 | 63% |k 00
900 | 63% |k&EL
WIREFTFR)-FH |[fREFTRH .300 1% [7K:10.700.
7.400 2% _|7K:9.600. £:9.000
7.400 2% 600. 7:9.000
EHRRE 10.300 .200. 7:10.600
7.400 .200. :10.600
1400 .200. 7:9.000
R BER 100 :6.000, £:6.300. £ +:6.900. H:7.400
100 :6.300. 1:6.900. H:7.400
.900 :7.400
.900 7.
.900 7 ZE :6.300. H:7.400
.900 72% B . :6.300. H:7.400
.900 7 CE :6.300. + H:7.400
EE 900 72% |7} E
.900 72% |4
.900 72% |7
.900 72% |k
.900 72% | 7k%:8.100. H:7.400
.900 72% _|7k%:8.100, A:6.800, H:7.400
.900 72% _|7K:6.400, :6.800, £::8.100, H:7.400

JAL



TR—N\—%FGIHEER(BA19~25BEFEN)

ERABAE - 2019/02/05 ~
8/19-25
P B4 — A——%5
A | mizix il
R AR AR (B | R (HE) % 7,800 B
900 £
.900 £
L .300 B: :11,600. H:9.800
JL .300 B: :9.800
L 800 B: :9.800
JL .800 B:
L 800 B:
JL 800 B:
L 800 B:
JL .100 B:
L131 ,100 B:
JL133 .100 B:
L137 .100 B:
JL139 .100 B: 114,500, £:9.800. H:11.600
KR (PPN 3 |_JLi02 | 600 B: 9200, H:9500
JL104 .100 B: 200, H:9.500
[ JL106 | 100 B: . £:9.200. H:9.500
JL .100 B: :9.200, H:9.500
JL .300 :9,200, H:9.500
JL .300 63%
JL .300 63%
JL .300 63%
JL .300 63%
JL .300 63%
JL 900 61% :9,300, H:11.600
| JL .900 61% 00, H:11.600
.300 55%
.300 55%
.300 55%
RRAB-@L | RR(PEE 100 | 6o%
600 68% 2,900, H:12.400
.100 69% :12.900
,.200 64% :12,400, H:12.700
.900 62% i:14.400, 1:11.000, H:14.200
[EITES 100 69% £:11.800
.800 62% :13.600, H:11.000
.100 69% :12,900, H:12.700
4.000 61% 1:12.900, H:14.400
4.500 60% t:13.900
RRIB)-LE | RR(AER | J 300 | _6o% 1,100
.800 57% 5,400, £:15.300, H:12,700
.800 57% . :15.400, +:15.300, B:12.700
.200 59% +:14,500, H:12.900
.300 69% :11.600. £:12.900, H:12.800
.300 69% 1,600, +:12,900, H:12.800
.900 62% 214,300, £:12.100, H:14.800
.400 61% . & H:15.300
LE% 2.700 66% 3:11.300
4.300 1% t:13.900. H:12.400
.100 7%
200 7% 12,600, £:12,900. H:13.600
.500 4% 214400, .900, H:15.100
.500 4% :14.400, :
300 | 50% 415700, B:1
.300 59% :15.90( 400, H:14.900
R GHE) R A% |_JL623 200 | _65%
JL625 .600 4%
JL627 400 7% [A:16.100, £+ H:15.100
JL629 .600 4% 16.100, £+ H:15.900
JL631 15.600 | 64% :16.100. £+ H:15.900
JL633 15.100 65%
JL637 .100 65% | A £ H:15.600
JL639 .100 65% | B:15.400, £ H:16.400
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JL628 .300 51%
JL .300 51%
JL .300 51%
JL .300 51%
JL .300 51%
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JL689 15.100 65% 5.400, 1:15.900
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JL653 4,600 68% A% H:14.800
JL655 4.600 68% A< 0:14.800
BREBR JL640 300 54%
JL642 .300 54%
JL644 .300 54%
JL646 .300 54%
JL648 .300 54%
JL650 .300 54%
JL652 .100 54%
JL654 .100 54%
P AC KR () % |_JL2401 900 66% |2:11,800, £:13.100, H:10,500
JL2403 .400 53% K H:12.900. +:14.100
JL2407 ,900 60% A X:14,400, £:15,400, 1:14.100
JL2409 .400 65% :12.500
JL2411 11,400 65% 13,100
JL2415 0.800 67% |<:11.400, H:13.100
JL2419 11,500 65% |$::14,200, 1:12,200, H:13,500
BRER JL2400 0.800 67% |A:10.400, £:12.500, H:11.600
JL2402 10,800 67% | 7%:10.400. 211,900, £:13,000, H:11.800
JL2404 13.100 60% #:13.800. 3.500, H:14.000
JL2406 13,100 60% F£:13,800, 3,500, H:14,000
JL2410 1.900 63% F:14.700. A:11.400. £:13.500. H:13.100
JL2412 13,100 60% F:15,000., 7K:12,000, £:14,200, £:11,500, H:14.000
JL2414 13.100 60% £:15.000. 7k:12.000, £:14.200. +:11.500. H:14.000
R TR -BF | (F T3 5 JL2803 10,300 61% | /KA:7.400
JL2805 7.400 72%
JL2809 7.400 2%
BEHR JL2804 0.300 61% | AA:7.400
JL2806 7.400 2%
JL2810 7.400 72%
EE-E5 e JL3621 5,400 78% ,300, 4 7K:6,200
JL3625 7.200 T1% 800, 1:9.000, B:5.400
JL3629 6,200 75% 800, £:7,700,
JL3631 5.400 78% 7.700
JL3633 5,400 78% 7,700
JL3639 5.400 78% 7.700
JL3641 5,400 78% 7,700
S JL3620 5.400 78% | XJK:6.200, £:7.200, 1:9.000
3622 ,200 75% 5,400, 7,200, £:9,000
| JL3626 .200 75% 400, #:7.200, £:9.000, B:7.700
3630 400 78% 200, £:7.700
L3632 .200 75% A X:5.400, + B:7.700
| L3634 200 75% | B %:5.400, £ H:7.700
L3642 .200 75% A X:5.400, + B:7.700
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L 59%
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L 4
JL 4
L 4
JL 56
L131 56%
JL133 56%
L137 56%
JL139 56%
KR (7 36 |_JL102 | 58%
JL104 56%
| JL106 | 56%
JL 56%
JU 59%
JL 63%
JU 63%
JL 63%
JU 63%
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JU 61%
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7% _[A:
71% |A:
65% | B 10
60% |A: .00
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7% 8- .70 400
63% |A: .90 .900
60% |- .70 ,900
AN ERCRE)FE| J 7% |11
58% | B .60
58% |- .60
61% : .50
69% : .90
69% | % 90!
62% .10
61% 60
EB% 66% : 80
62% A .80
67%
71% _|A: 12,100, £:12.900
65% |A: 114401
65% | B 114,40
60% |A: 5400, £:12.900
59% : 3.20
HECAB) =K% BN CRE) % |_JL661 66% |t
JL663 66%
JL665 66%
JL667 67% |F%:14400. :14.200
JL669 68%
JL671 66% |2:14.700, £:13.400
KH% JL662 67% .700
JL664 67% 700
JL668 66% :14.900
JL670 66% | H:14.900
JL672 63% | H :16.100. 7K:15.900
JL674 63%
RRCRE) =K R (FE) % [ JL623 69%
JL625 67% |2:14500, £:14.700
JL627 67% £:14.700
JL629 67% |%:14.900. £:15.200
JL631 67% 4,900, £:15,000
JL633 69% £:14.100
JL637 69% 14,600, 1:14.100
JL639 67% 115400
AR JL622 64% |£:15800
JL624 64%
JL626 64%
JL628 67% | A:15.600. 7K:14.000, £:15.100. +:13.600
JL630 64% 16,100, 7K:15,500, :15,900, +:15,100
JL632 64% | :15.900
JL634 64% |:15900
JL638 64%
HECRB)=EH B (PE) & [_JL6s7 69% [£:14,500, +:14,100
JL689 69% .900
JL691 68% :13,000, +:13.400
JL693 69%
JL695 68% 214,600
JL697 68% 800
EHEES JL688 66% £:15,500, £:15,100
JL690 67% 115100, +:14.700
JL692 67%
JL694 64%
JL696 64%
JL698 64%
"R (PE)-ERE R (CPM)F [_JL641 71% | AR#:13,500, +:13,800
JL643 70% | A% +:13.800
JL645 70% _|7K:13.600
JL647 75% £:12.600
JL649 75%
JL651 72% A4
JL653 70% |F
JL655 70% |5
BERBR | _JL640 70% | &
JL642 68% X
JL644 68% | %:14.800
JL646 67% 15.300
JL648 73% 16.100, 7K:14,600. %:15,600, 113,600
JL650 67% | k7K:14500. K£:15.100
JL652 67% |%:15.300
JL654 67% |%:15.300
R Tm) -5 |fLR (5T 3 JL2803 61% |/kK:7.400, £:9.400, £:9.200
JL2805 72% _|%:6.100
JL2809 72% 0
BHR JL2804 61% | X7K:7.400, £:9.400. 1:9.200
JL2806 72% 6.700
JL2810 72% | %:6.700
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JL .800 .400
L 1400 .400
JL 1400 .400
L 1400 .400
JL 800 |_11.800
L131 800 |_11.800
JL133 700 |_11.800
L137 .700 |_11.800
JL139 .700 |_11.800
KR () % |_JLi02 | 300 .
JL104 800 [ o
| JL106 | 800 | o
JL 800 [ o
JL .200 [
JL .200
JL .900
JL 600
JL 500
JL .200
JL 600
[ UL .900
.900
.900
600
R CRE) =R ERCRE)FE| J 29.900
31,000
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ER(CRE)=RIF BN (CPIE) % |_JL605 .600
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JL609 7.300
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W% JL606 500
JL608 500
JL 100
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JL 7.100
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JL627 6.500
JL629 7.100
JL631 6.500
JL633 6.500
JL637 6,600
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AR JL622 6.500
JL624 6.600 | 1 17.100
JL626 6.100 19,200 16,100
JL628 6.000 16.100 16.600
JL630 7,000 16,600 17,100
JL632 6.500 16.500 . 19.200
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JL .400
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JL104
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JL
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JL
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RERPE)R | J

:15,500, H:13.600

114700, +£:14.500
:13.900
:15.800
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:13.900
7% 100, H:14.600
3 :14.400, %:15.200, B:15.800
7% 115,100, H:14.200
AR ERCRE)FE| J 7 :14.200
66%
66%
63%
64% ]
66% |5 3,400, 7K:13.100
67% |B:15. :14.100, £ H:14.600
66% A +13.600. A:14.600, % H:15.800
A% 66% | & 115,500
64% |- 15,200
65% | Jok4 £:15.100
7% (A :13,000, £:14.100
14,700, 7K:14.500. A:14.600. % H:15.200
%[ H:15.100, X:14.400, A:14.900, % H:15,800
A:15.100. %:14.400. A:14.900. % B:15.800
%[ K:14.600
REER(PAE)-ERE | BRR(PE) [ JL641 1.100
JL643 100
JL 2.600. £:13.600
JL
JL
JL651 |
JL65 #:11.100. B:12.
JL655 £:11.100, H:12.100
BERBR JL £:10.700
JL
JL
JL 1600
JL648 -300. H:14.100
JL650 :14.100
JL652 #:15,100, H:14,700
JL654 % H:13.600
KR (FFD-ERE | KB (G 5 | JL2401 11,400, H:10,500
JL2403 .200. H:11.700
JL2407 12,700, H:11,700
JL2409 H:11.400
JL2411 £ H:12,000
JL2415
JL2419 £:11.100
BRER | JL2400 £:11.100, H:10.500
JL2402 :11,400, £:10,900, H:10,700
JL2404 £ H:11.400
JL2406 £ H:11.400
JL2410 112,700
JL2412 :13,000, £:11,500, H:13,700
JL2414 & A:12.000, £:11.500
EE-E R BEX JL3621 & A:6,000
JL3625 £:7.800. H:6.700
JL3629 £ H:5.400
JL3631 Z]
JL3633
JL3639
JL3641 [
S JL3620 £:6.800. 1:6.900. H:5.400
JL3622 [#:6,800, 1:6.900, H:5400
JL3626 H:5.400. %:6.800. £:6.900
JL3630 £:6,100, 1:6,900
JL3632 A 5400, %£:6.100
JL3634 H :X:5.400, ,100
JL3642 A X:5.400. T H:6.000
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500, A:14.600. € H:15.200
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JL689 67% 13.400, 100, 1:14.600, H:13.100
JL691 66% . K:13.900. £:14.600
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JL695 64% .100. H:15.200
JL697 66% 000, B:15.500
e JL688 62% 14.500. H:13.500
JL690 66% .700. H:13.600
JL692 66%
JL694 64% 113,600, £:14.500. H:14.700
JL696 64% 4.100. 7K:13.100, A +:13.600, B:15.200
JL698 68% 14,100, X H:14.600
HER(RE)-ERE BRCRE) % |_JLedt 78% .100
JL643 72% .300, £:13.100
JL645 73% 1,300, A£:12,600, 1:13,600
JL647 75% 600
JL649 75% .300
JL651 76% 200
JL653 7% 100, 11,100, H:12,100
JL655 7%
BEREBR | _JL640 78%
JL642 75%
JL644 77%
JL646 76% :11.600
JL648 72% .300, H:14,100
JL650 75% +13.100, H:14.100
JL652 1% :15,100, B:14,700
JL654 76% 3:13.600
AR (RFH=-ERS KB (75 % |_JL2401 64% 3:10,500
JL2403 60% 3,00, B:11.700
JL2407 60% 12,700, B:11,700
JL2409 64% | H:11.400
JL2411 61% |4 H:12,000
JL2415 62%
JL2419 62% |4 [H:12,000, £:11,100
ERB% [ JL2400 64% £:11.100, B:10,500
JL2402 64% 111,400, £:10,900. H:10.700
JL2404 64% £ H:11.400
JL2406 64% £ H:11,400
JL2410 62% 112,700
JL2412 57% 13,000, 11,500, H:13,700
JL2414 58% £:11,500
BE-E5 FES JL3621 76%
JL3625 69%
JL3629 73%
JL3631 76%
JL3633 76%
JL3639 76%
JL3641 76%
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JL3630 76% 100, 16,900
JL3632 73% :X:5.400. %:6.100
JL3634 73% | B %:5,400, £:6.100
JL3642 72% | B X:5.400, £ A:6.000
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900 :9.600
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JL 600
L 9.600
JL 9.600
L 9.600
JL 800 400
L131 .800 .400
JL133 800 400
L137 .800 .600
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JL 100
JL 700
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ER(CRE)=K5 ERCRE)FE| J .300
400 :16.300, H:14.100
400 | 66% |H: 5,000, £:14.500
.400 66% A: :13.900
600 | 63% |k 115,200, £:13,900. H:16.000
000 65% A: :15.300
AO% 600 66% |JK:
,600 66% [k
400 | 66% |A
100 | 65% |
900 | 63% [A: 4400, £:15.800. H:16.500
,100 67% A: . %:15.100, H:14.900
AR ERCRE)FE| J .400 67% | :14.200
400 | 6% |&
14.700 4% | A0K:14.400. %:15.100. T H:14.800
15,900 1% £:14.900
15.000 4% 4,600, 7:14.900. £:15.300
13,400 7% . 4,400, H:13.900
14.700 4% 100, :13.700, +:14.200
14100 | 66% 400, :14.600, % H:16.400
AR 14500 | 65% :15.000, 1:16.200. H:14.100
15500 | 62% |A:14.900. kK H:15000
14.900 4% _[7K:14.600. A H:14.300.
14,700 : 100, %
15.300
15,000
14.900
15.100
HECRB)=EH FHR M) & |_JL687 13.400
JL68Y 14,400
JL691 14.500
JL693 13,900
JL695 15.000
JL697 14,700
BB JL688 14.500
JL690 13,400
JL692 400
JL694 900
JL696 300 | 65% 3.900. 7K:
JL698 400 | 67% | H:14.100. & 14,400, £:13.300, H:15.500
HERCHE)-ERE | BExCRE) X [_JLedi 9,600 2100
JL643 12100 | 72% |A%:13.100, £:14.300
JL645 12100 | 72% |A%:13,100, £:14,300
JL647 11600 | 73% [A+£:11.700, %:12.600
JL649 11,600 73% XIKAK:11,300
JL651 10.600 | 76% 600
JL653 10,100 77% |$:12,100, H:14,100
JL655 10.100 | 77% |&H:14100
BERBRE | _JL640 10200 | 77% |2:11,100, E:13.100
JL642 11100 | 75%
JL644 10,100 7%
JL646 11,100 | 75% |H:12.100
JL648 12,100 72% | K:11,300, H:14,600
JL650 11100 | 75% |4 :14.800
JL652 13,100 70% p. :13,000, £:15,200, H:14.800
JL654 11100 | 75% |4 3:14,
KR (B -BRE KR (B ) % [_JL2401 10,900 64% 5:10,500
JL2403 12.000 | 60% 3.200, H:11.700
JL2407 12,000 | 60% 12,700, B:11.700
JL2409 10900 | 64% |H:11.400
JL2411 11,600 61% | H:12,000
JL2415 11400 | 62%
JL2419 11,500 62% | & H:12,000, F:11,900
BRER | JL2400 10800 | 64% :11.100, H:10.500
JL2402 10,800 64% |4 +:11,400, H:10,700
JL2404 10800 | 64% |4 £ 8:11.400
JL2406 10,800 64% |4 £ H:11.400
JL2410 11400 | 62% |A: B:12.700
JL2412 12,000 60% p. 213,500, £:11,500, H:13,700
JL2414 12000 | 60% | K& H:12.700, £:11.500
Fre] P E S JL3621 6,000 73% |#+ H:5400
JL3625 6.800 69%
JL3629 6,000 73%
JL3631 5.400 76%
JL3633 5,400 76%
JL3639 5.400 76%
JL3641 5,400 76%
EEES JL3620 6.000 73%
JL3622 6,000 73%
JL3626 6.000 73%
JL3630 5,400 76% A
JL3632 6.000 73% 400, %:6.100
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L131
JL133
L137
JL139
KR (7 36 |_JL102 |
JL104
| JL106 |
JL
JL
JL
JL
JL
JL
JL
JU .200
[ UL 58% .200
52% 200
52% .200
52% 200
KR (53) =18/ KR (751 % 63%
60% 0,700, :10500
63% 11.000
63% :10.800. £:11,000, +:10.500
FES 63% 10.400
63% 110,000
63% |%:10.000
63% |£:10,000
ER(CRE)=K5 ERCRE)FE| J 65% :14.400,
64% 100,
66% 100
63% 400,
66% 400,
66% 400,
ES S 63%
63%
65%
67% 114,100
63% 400, %:15.200
67% 600, #:15.100
FR (FE) =R AR HRCPHE)H [_JL623 | 67% 00, +:14.600
JL625 66% 600
JL627 66% .400
JL629 64% |7K:14.400, & 1:15.200
JL631 64% [}
JL633 66% |1
JL637 64% |/ K:13.600
JL639 66% |/ +14,600, £:15.800
A% JL622 63% |/ :14.100, £:14.600. £:15.800
JL624 64% |2 £:15.200
JL626 63% | . A:14.300
JL628 7% 100
JL 7
JLi D
JL 4
JLi 3
HECRB)=EH RRECPE)F |_JL68T 68
JL689 66%
JL691 64% 300
JL693 64% .700, +:14.100
JL695 64% 100
JL697 66% 000
EEES JL688 67%
JL690 66%
JL692 68% L £:14,100
JL694 67% 113,100, £:14.500
JL696 67% :13,100, £:14,600
JL698 68% 112,10
RERPIE)-ERS HRCRE) & |_JL64l 78% 500, 1:12,100
JL643 70% :13.000. +:14.300
JL645 70% :13,600, +:14,300
JL647 74%
JL649 74%
JL651 76%
JL653 74% 100, £:12,100, +:11,100
JL655 74% 100, £:14,100, £:11.100
BRER JL640 67% 200, £:11,100, +:13,100
JL642 75% T
JL644 7%
JL646 75%
JL648 74% 00
JL650 75% k:13,200. %:13.100
JL652 70% :13,000, #:15,100
JL654 75% 113,000, £:15.100
AR (RFH=-ERS KBR (75 % |_JL2401 64%
JL2403 60%
JL2407 60%
JL2409 64%
JL2411 61%
JL2415 62%
JL2419 62% |4
ERB% [ JL2400 64% |4
JL2402 64% |4
JL2404 64% |k
JL2406 64% |4
JL2410 62% |k
JL2412 62% | X:12.900, JKA:12,000, %:13.500
JL2414 58% | Jkk:12.000. £:11.500
F FE JL3621 73% |%+:5.400
JL3625 69%
JL3629 73%
JL3631 76%
JL3633
JL3639 76%
JL3641 76%
EEES JL3620 73%
JL3622 73%
JL3626 73%
JL3630 76% |4
JL3632 73% |2
JL3634 73% |2
JL3642 72% | X:5.400, +:6.000
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=40]

9/1

2= i—%18

ERE

RECRE)=RER

RRPE)R | J

.200

,600

.100

,200

.000

,100

.600

.800

RAR

.100

,700

.300

,600

.200

.800

.300

100

RERPE)-ERE

RRECRE)#

9,600

,100

.600

.100

.100

.600

.100

.100

BERBR

9.700

.100

.100

.600

.100

.100

.600

.600
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[R—/{—%BIEBEROAI13~16BERS) AL

EE#EMAA : 2019/02/05 ~

9/13 9/14 9/15 9/16
=40 B4 FH A= | 2—i—5@ | 25l | 2—1—5#
RR(CRE) =K () | R CHE) % 8.000 [ 8900 9.
.900 .700 |10
.900 700 |10
L .200 700 |11,
JL 500 700 |11
L 500 .700 |11
JL .000 700 |11
L 600 1
JL 600 I
L 600 K
JL 200 |12
L131 500 |12
JL133 100 12,
L137 100 [ 13.
JL139 100 13.
KR () % |_JLio2 | 500 o
JL104 300 T
| JL106 | 300 [ 0.
JL 300 [ 0.
JL 1400 [ ic
JL .400 [ic
JL 100 [ to.
JL 100 [ 1o
JL 100 12
JL .200 |12
JL 9.700 12,
[ UL 9.700 | 14
1,600 14
1.600 14
600 12
ER(BE)-K7 | RRCAE %R | J 400 K
.000 16
500 IE
500 [ s,
.000 19
.700 X
P 500 s,
500 15,
100 16
100 1
600 20.
.700 2
HER(CRE)=-RIF ERCRE)FE| J .000
600
.000
.000
500
500
RIGH 5.600
5,600
.000
500
500
500
R CRE)=RER R CHE) & |_JL623 4.200
JL625 5.100
JL627 5.100
JL629 6.000
JL631 5500
JL633 6.000
JL637 5100
JL639 7.700
A% JL622 5500
JL624 6.100
JL626 5.000
JL628 5,000
JL 600
JLi 100
JL 100
JLi 700
HECRB)=EH FHR M) & |_JL687 5.600
JL689 5,600
JL691 6.000
JL693 6.100
JL695 6.000
JL697 6.000
EEES JL688 5,000
JL690 4.900
JL692 4,900
JL694 5500
JL696 6.100
JL698 5100
HRCAE)-ERE | ®RCAE)F [ _JL6d1 43800
JL643 4.800
JL645 4,800
JL647 5100
JL649 4,800
JL651 4.800
JL653 300
JL655 300
BERB% | _JL640 ,500
JL642 .200
JL644 3,200
JL646 4.300
JL648 5,000
JL650 4.300
JL652 4,800
JL654 7.700




TR—N—%FGIHEER(OA20~23BEFEN)

EREEAA : 2019/02/05 ~
9/20 9/21 9/22 9/23
(=45 ;23 A= 5% | 2——%@® | 2% | 2—/—%#
R (RE)-AR(BFR) | RRCHE) % 8.000 8800 | o
.900 [ 10800 [ 10
.900 [ 10.800 | 10
L .200 | 10800 [ 11
JL 500 [ 10.800 | 11
L 500 [ 10800 [ 11
JL .000 [ 10.800 | 11
L .600 [ 10800 [ 11
JL 600 | 10800 | 1.
L .600 | 10800 [ 11
JL 200 [ 12.300 | 12
L131 500 [ 12300 [ 12
JL133 100 | 12200 | 12
L137 100 [ 12200 | 13
JL139 100 | 12200 | 13,
KR (5 % |_JL102 | .200 |_10.800 | 10,
JL104 .900 1 [ic
[JL106 | 900 ] [0,
JL .900 | 1 [ 0.
JL .200 | 1 |10,
JL .400 | 1 10.
JL 100 [ 1 10,
JL 100 | 1 10.
JL 100 1 12
JL .200 12
JL ,000 12,
L .000 [ _1a
.500 | 14
500 14
600 | 14
ER(CRE)=K5 ERCRE)FE| J .400 14.
500 15,
500 15,
500 | 18
.700 19
700 |19,
X% 500 s,
500 |15,
100 T
100 T
600 2
,600 2
HER(CRE)=-RIF ERCRE)FE| J .000 1
600 1
5.500 IE
5.500 IE
5.700 K
5.700 I
RIGFE 5.000 X
5.000
.000
500
500
500
R CRE)=RER R CHE) & |_JL623 4.200
JL625 5.100
JL627 5.100
JL629 6.000
JL631 5.500
JL633 5.100
JL637 5.100
JL639 6.600
A% JL622 5.000
JL624 5.600
JL626 5.000
JL628 5.000
JL 600
JL 100
JL 100
JL 700
HECRB)=EH FHR M) & |_JL687 5.000
JL68Y 5.000
JL691 5,100
JL693 5.500
JL695 5,000
JL697 5.500
S JL688 4,500
JL690 3.900
JL692 3,900
JL694 5.000
JL696 5,600
JL698 5.000
HR(RE)=-ERE R CRE) % |_JL64t 4.800
JL643 4.800
JL645 4,800
JL64T 5.100
JL649 4,800
JL651 4.800
JL653 ,300
JL655 300
BERB% | _JL640 500
JL642 200
JL644 3,200
JL646 4300
JL648 5,000
JL650 4300
JL652 4,800
JL654 7.700
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EE#EMAA : 2019/02/05 ~

10/11 10/12 10/13 10/14
=40 B4 FH A= | 2—i—5@ | 25l | 2—1—5#
RR(CRE) =K () | R CHE) % 9.100 8.900 9.
.900 700 |10
.900 700 |10
L 000 700 | 11,
JL 700 700 |11
L 700 700 | 11
JL 200 700 |11
L 100 700 | 11
JL 100 I
L 100 [ 11
JL 200 13.
L131 ,500 13,
JL133 500 13.
L137 ,200 13,
JL139 .200 13,
KBR (5 % [_JLi02 | .600 10.
JL104 200 10.
| JL106 | .200 10,
JL 200 10.
JL .300 10.:
JL .300 10.
JL 200 10.:
JL .200 10.
JL .200 | 11
JL .200 12,
JL .200 |12,
[ UL .200 T
300 IE
300 14
600 |14
ER(BE)-K7 | RRCAE %R | J 400 K
000 | 16
.000 IE
500 IEEX
.000 19
.600 [ 19
K% 100 14
100 | 14
.000
,000
600
700
R (FE)=-RE HERCPAEFE [ J 4.600
7.400
6.800
6.500
7.000
7.000
RIGH 5.200
5,000
.000
600
.600
1400
R CRE)=RER R CHE) & |_JL623 4.200
JL625 5,200
JL627 5.200
JL629 6.000
JL631 5.500
JL633 6.000
JL637 5.100
JL639 6.600
A% JL622 5.600
JL624 6.100
JL626 5.000
JL628 5,000
JL 600
JLi 100
JL 100
JLi 700
HECRB)=EH FHR M) & |_JL687 4.500
JL689 5,000
JL691 5,500
JL693 5500
JL695 5,500
JL697 6.000
S JL688 5,500
JL690 5,000
JL692 5,000
JL694 5500
JL696 ,000
JL698 .000
HR(RE)=-ERE R CRE) % |_JL64t ,700
JL643 .200
JL645 4,800
JL647 5,200
JL649 4,800
JL651 4700
JL653 4,800
JL655 4.800
BERB% | _JL640 3,400
JL642 3.200
JL644 3,200
JL646 4.300
JL648 3,600
JL650 4.600
JL652 5,200
JL654 7.700
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[R—/I—%BHEEXR(10A18~22BEES)

=40]

10/18

10/19

10/20

10/22

2= i—%18

2=

2—ri— %1

2—ri— %4

ERE

ERE

ERE

ERE

R CRE) =XIR (#F)

RRECRE)#

7.600

8.700

.100

700

,600

.700

700

.000

.000

.500

100

.100

100

.600

,600

.600

,300

.500

KR (B F|_J

400

.900

RECRR)=R&

RERPE)R | J

RIEF

R CRE)=RER

RRERCPE) R |_JL623 |

BAR

RER(PE)-ERS

RERPE) %

BERBR
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TS %RBIEER(AA21~25BBFES)

EREEAA : 2019/02/05 ~
4/21-25
=40 T ISR E
EE | gz sl
BERCAE) =R G Fm)| RERCEE) R |_J 9.300 75% .000, H:9.600
9,800 74% ,000
200 | 70% :10.300
.300 | _70% +11.200
500 | 67% :11.200
500 | 67% . B:11.200
000 | 71% . £:13.500
300 | 73%
.800 7
.800 7
.800 7
800 7
700 | 71
000 | 68%
000 | 68%
400 | 72%
500 | 67% |A:11.
FLIR (T FiR) 59 .900 68% +12.200. H:9.800
000 | 65% | kK:12.500. :12.700. £:12.800. H:10.300
000 | 68% |& +11.900, H:10.600
000 | 71% |%:
300 | 73% |& .700
9.800 74% 000
000 | 71% 000
500 | 69% 00
800 | 69% 500
000 | 68% |%: .000
000 | 68% |%: 000
000 | 68% |%: .000
000 | 68% |%: 000
000 | 71% |%: .000
300 | 73% | 700
.400 83%
400 83%
HERCAR)=-%ES | ERCAE %[ J 400 80% 3.000. £:13.100. H:10.100
900 79% ,600. H:10.600
10200 | 78% +13.100, £:13.200. H:14.300
ESC RIS 11.700 75% 12,500, H:13.500
700 79% | £:10.600. £:10.500. H:11.900
.700 85%
HR (F@) =Rl HERCHE) [ J 500 81% 800, +:9.900. H:8.600
600 78% 100, %:9.500. +:10,600, H:9.700
11200 | 75% |:11.700. %:13.200. £:11.900. H:13.300
12200 | 72% |X:12000, $:13.700, £:12.100, H:13.300
FENIES 12.900 3.200. H:12.700
800 800, £1:9,300, H:11.100
500 900, +:9.500. H:10.500
700 85%
R CRE) =8I RERPE) % .300 81% |£H:9.200. 1:9.600
13,000 | 70% |£:14.900. £:15000. H:11.900
9.700 78% | %:11.100. £:9.900. H:12.900
FEES 9,500 78% 100, £:9,900. H:10.500
11700 | 73% 12700, B:11.900
6.700 85%
HECRB)=HIE RERPE) % 9.000 79% [£:10.400.
300 | 76% |%:12.300.
L300 | 74% 500, .
500 | 73% |A:11.600. 7K:11.800, £:12.800. H:15.000
BILF .300 74% [£:15.500. 1:16.000. H:12.900
400 | 76% |%&+ H:12.500
400 | 76% | %+ H:12.500
6.700 4%
R CRE) =EiE RERPE) % 9.500 3% | F:9.400. X:10.200. £ H:11.400. +:13.500
10.300 1 :11.100, £:11.700. £ H:11.900
12.600 4 114200, +:12.100. H:14.000
B 9,500 73% | 2:11.000, 00. H:10.000
7.500 79% | %:11.800. 00. H:11.700
6.700 81%
HECRB)=R& RERPE) % 11.800 73% |+:13.100
12000 [ 72% [F:13.100, :13.600, £:13,800, +:13.300
12200 | 72% |KA:12.000. B:12.600
12200 | 72% |JXJKA:12.000. A:12.600
12,000 | 72% |/:12,700. %:13,100, H:13,800
2000 | 72% |A%:13.100. H:13800
RIGFE 12,000 72% | £:12,800, 1:13.300
2000 | 72% 800, +:13.300
12,000 | 72% 12,200, £:12,600. H:13.800
3600 | 69% 200, 7K:12.000, :12.600, %:12.800. F:13.100, H:13.800
13,600 69% | :X:12,200, K:12,000, Z:12,600, £:12,800, +:13,100, H:13,800
12000 | 72% | H:13.100
RRCRE)=fEX HRCAE) % 11,600 72% 11,800, %:12,90¢
12000 | 71% :13.300, H:11.800
12,000 | 71% 112,800, +£:13,100. H:11.800
2000 | 71% 13.100, +:13.600. H:12.600
12,000 | 71% :13,600, H:12,600
2000 | 71%
12,000 | 71% 12,600, %:13,100, £:11,800. H:13,600
2000 | 71% $:14.100. H:13.800
33 12,000 | 71% 13,80
2000 | 71% 113.600, £:13,800. H:12.600
12,000 | 71% 3,600, H:12,600
2000 | 71% £:11,800, %:12.900, H:13.600
12,000 | 71% 1380
2000 | 71%
12,000 | 71%
3600 | 67% . A &:14.100
HERCPAE)-ERE | ZERPE)H 9,100 79% 0
10.600 | 76% ,000. H:10.800
10800 | 75% ,000, %:12,500, £:13,500
0600 | 76%
9,600 78% £ §:10,000
10.100 | 77% 3:10.500
600 78% +11,000, +:10.000
600 78% +11.000. £:10.000
ERER ,200 79% 600, +:10,600
0600 | 76%
9,600 78%
10.100 | 77% 10,
11600 [ 73% |X+:10,600. B:13000
10.600 | 76% |%+:10800. H:13.800
10800 | 75% [#H:13.600
10.100 | 77% |&H:12500. £:10.500
B E (PED) =HLIE (T R[BEE (PED) 9.200 78% [#:11,200, £:15.000
7.400 82% | % H:7.800
7,400 82% 7,800
700 84% 3:6.800
000 86% 800. H:6,800
4L (F T 5%) 3 .700 84% | &+ H:6.800
7.400 82% 7.800
8.400 80% | H:13.800
9,200 78% 13.800
8.400 80% | H:13.800

JAL
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5/7-17
=R B4 — ISR E
S Gl
R | sz il
RR(CRE) =K () | R CHE) % 7.300
,400 :9.200
7 400 :9.200
L 700 :11,100, H:9,200
JL 700 :9.200
L ,200 09,200
JL .200 :9.200
L 9.200
JL 9.200
L 9.200
JL 1400 .000
L131 .400 .000
JL133 1400 .000
L137 .400 .500
JL139 1400 500
KR (F#F4) % [_JL102 900
JL104 1400
[ JL106 1400
JL 1400
JL 700
JL 700
JL ,700
JL .700
JL ,700
JL 700
JL ,300 B
[ JLi2s 300 E: X
[ JL130 600 4% 210,600, +:8,800, H:11.500
JL134 600 4 :10.600, +:8.800. H:11.500
JL138 .600 4% 2:11.800, 1:8.800, H:12.400
B CRIE) =FLI% (37 F#%)| B CRE) % [_JL593 6.400
[ JLs501 9,800 .000. +:12.500
| JL503 .800 200, 500
| JL505 ,200 3 000
|_JL507 200 7 000
JL509 ,200 7% .500
JL511 200 7 500
JL513 ,200 7% .500
JL515 000 | 68 200, £ B:12.500
JL517 ,200 7% .500
| JL519 200 7 500
| _JL521 ,200 7% .500
| JL523 200 7 500
| JL525 200 7% 500
JL527 200 7% | B:12.500
JL529 200 7% | B:12.500
JL531 000 | 68% |%:12.200. £:11.000. H:12.500
JL599 200 7% | B:12.500
FLIR (3 T 3% 3_JL500 12.200 7% | H:12.500
JL502 12,200 7% 12,500
JL594 12.200 7% 12500
JL504 12,200 7% 12,500
JL506 12.200 500
JL508 12,200 500 & H:12.500
JL5 12.200 500, £ H:12.500
JL5 12.200 500
JLS 12.200 12.500
JL5 12,200 12,500
JL518 12.200 12500
JL520 12,200 000, B
JL522 200 2,000
JL524 200 000, B:
JL526 ,000 2200, £:11.800. H:12.500
JL528 500 | 69% |J%:12.200, +:10.800. H:12.500
JL530 6.400 83%
JL598 6.400 83%
RERERCPE)=%®HA | ®BR(CHE) | JL565 9.200 80% 3:10.100
JL567 700 |77 :12.500, B:11.100
JL569 .600 i £:12,000. H:12.500
LiwHFE | JL562 200 4% 7K:11.600, + H:12.500
JL564 2.200. +:9.800. H:11.600
JL566
HECRE) =R BR (CPIE) % |_JL551 2,500
JL553 :12.100. £:12.500
JL555 12,500
JL557 12.500
pENIE 3 JL552 H:12,500
JL554 X:11.600. % H:10.900. £:10.800
JL556 7.500 83% | % H:9,500
JL558 6.700 85%
R CRE) =8I FHRCHM) # |_JL541 9,700 78% [£:10,200, £:12,500, H:10,600
JL543 2200 B:12.500
JL545 10,300 11,200, B:12.500
EEES JL540 9.800 12200, £:10.800. £:11.500, H:11.200
JL542 12,200 72% |+ H:12,500
JL544 6.700 85%
HECRB)=HIE HR(PE) % |_JL573 10,900 75% |£:11,500, £:11,600, B:10,700
JL575 11,600 | 73% |%+:12.000. H:11.800
JL577 11,600 3% |&
JL57 12200 | 72%
ETR 3 JL5T! 12,200 72%
JL57. 12.000 | 72% |%:12.200. £:11.900. H:12.500
JL574 12000 | 72% |£:12,00, F:11.900, H:12,500
JL576 6.700 84%
R CHE)-mE Fm CHE) % |_JL585 10400 | 70% |A:11,400, :12.200. £:12,500. H:10,900
JL587 10.500 | 70% 2100, £:12.200. £:12.500, H:11.700
JL589 12,200 65% 12,500
R JL584 11,000 | _69% |X%:12.200. £H.10.700
JL586 8,500 76% |4 H:9,500
JL588 6.700
HECRB) =8 R CPIE) % [_JL453 9.800 10,000, H:9.400
JL455 10,000 :9.400
JL457 9,400 0,000, £:9,700
JL459 9.400 110000, 1:9.700
JL461 10,000 9,700
JL463 10.000 9.700
JL465 10,000 10,500, £ H:9.700
Bme%x JL452 10.000 10.200
JL454 10,000
JL456 10.000
JL458 10,000
JL460 10.000
JL462 10,000
JL464 10.000
RRCAB)=RK R CFIE) % |_JL605 11,800
JL607 13.100 £:13.300
JL609 12,200 112,600
JL6T1 12.200
JL613 12,000
JL615 12.000 K1
IS JL606 12,000 5:12,800, 1:13,300
JL608 12.000 112800, +:13.300
JL610 12,200 A:12,000, £:12,600
JL612 13.100 : 2000, A:12.600. %:12.800. H:13.800
JL614 13,100 70% | A:13.600. /K:12,000, Z:12,600. £:12.800. H:13.800
JL616 12000 | 72% B:13.100

JAL
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TN RFIEERGAT~1TAERESD)

5/7-17
=R B4 E§$% ISR E
T e
ECAC:E ERCRE)FE| J 7 .600 :12.900
7 ,000 3,300, H:11.800
7 .000 :11.800
7 ,000 :12.600
7 .000 :13.600, H:12.500
7 ,000
7 600 | 69 200, 7K:12.000. #:13.100, £:11.800. H:13.600
7 ,000 71% [ F:12.600, 7:12.200, £:14,100. H:13.800
AR 7 000 | 71% | X:13.600. %:12.200, +:13.800
7 600 | 69% |X:13.100, /k7:12,000, £ +:13.600
7 600 | 69% | ki3, $:12.900. £:13.600
7 000 | 7 112,900, B:13,600
7 000 | 7 :13.600
[ J 7 000 | 7
JL634 | 7 000 | 7
JL638 | 7 600 | 67% K#:14.100
ER(HE)-ERE | ExCHE)Z | Jeal | 7 9.100 79 0.800, +:10.100
JL643 | 7 10600 | 76% K:10.800. #:11,600, +:12.600
JL645 | 7 10800 | 75% 11100, 12,000, A%:12.100. £:13.100
JL647 | 7 10.800 | 75%
JL649 | 7 9.600 78% |2
| JLes51 | 7 10100 | 77% |
[ JLe53 | 7 600 78% |2 .600. H:12.600
JL655 | 7 600 78% |2 00. H:12.600
ERBRE | JL 7 .200 79% |2 00
JL 7 10600 | 76% |
JL 7 9.600 78% |2
JL 7 100 | 77% [%13.100, H:11.100
[ JLe48 | 7 600 | 73% | k& +£:10.800. H:12.600
| JLes0 | 7 600 | 76% |A:12,500, #:10.800, H:13,800
| JLes2 | 7 800 | 75% | X:12.000. £H:13.600
JL654 | 7 100 | 77% |:12.000, £H:13.100
B 2 (D) =ALIR (3 T | & w2 (P &) 3 JL3103 | 7 .200 7 12.500
[ JL3i05 | 7 8,000 81% 2,200, £:9,400. H:9.600
JL3107 | 7 7.900 8 k:6.800. £ +:7.100. H:6.600
JL3115 | 7 400 85% 200, 7K7K:6.100
JL3117 | 7 100 85% 100, £:+:5.400, H:6.400
FLER (T R) 3 _JL3100 | 7 100 85% 100, %:7.300. T H:6.400
7 100 83% 7.800., 7K A:6.800
7 10500 | 75% 112,200, H:10.700
7 10500 | 75% |£:12.200. H:10.700
7 9500 77% | £:10.100. H:12.500
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L 9,200
JL 9.200
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JL 1400 .000
L131 1400 ,000
JL133 1400 .000
L137 1400 500
JL139 1400 500
KR (53 % [ JL102 ,900 57% ,900
JL104 400 | 55% .900
[ JL106 400 | 55% 900
JL 400 | 55% .900
JL 700 | 58% 900
JL 700 62%
JL .700 62%
JL .700 62%
JL .700 62%
JL 700 62%
JL 300 | 59% .100
| JL128 300 | 59% .100
[ JL130 600 4% 1.500
JL134 600 4 11,500
JL138 600 4% :12.400
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JL599 500 4%
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JL594 12.200 7% 500
JL504 12.200 7% 500
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JL508 500 | 69% 112,500
JL5 500 | 69% 12.500
JL5 200 7% 500
JL5 12.200 T %
JL5 12,200 ES
JL518 12.200 7%
JL520 12.200 7% &
JL522 200 e
JL524 200 ES
JL526 .000 | 68% | %
JL528 500 | 69% |@:
JL530 6.400 83%
JL598 6.400 83%
RERERCPE)=%®HA | ®BR(CHE) | JL565 9.200 80% 3:10.100
JL567 700 | 77% :12.500, B:11.100
JL569 .600 | 77% 3:12.500
LiwHFE | JL562 600 | 75% £ B:12.500
JL564 .600 | 77% 600
JL566 6.700 85%
HECRE) =R BR (CPIE) % |_JL551 12,200 72%
JL553 12.000 | 73%
JL555 12200 | 72%
JL557 2200 | 72% |£:13.500. £ H:12.500
JEIIES JL552 12200 | 72% 13,500, + H:12,500
JL554 11,100 | 75% | H:10900. £:10.800
JL556 7.500 83% | % H:9,500
JL558 6.700 85%
R CRE) =8I FHRCHM) # |_JL541 9,700 78% | £:12,500, H:10,600
JL543 2200 | 72% H:12.500
JL545 10300 | 76% |2 500
EEES JL540 9.800 78% | & +11.500, B:11.200
JL542 12200 | 72% £ 5:12,500
JL544 6.700 85%
HECRB)=HIE HR(PE) & [_JL673 10,900 75% 1,600, H:10,700
JL575 11.600 | 73%
JL577 11,600 | 73%
JL57 12200 | 72%
B8 JL5T! 12,200 72% B
JL57. 12.000 | 72% |&H:12500. £:11.900
JL574 12,000 | 72% |#H:12,500. £:11,900
JL576 6.700 84%
RE (PE)-EE Fm CHE) % |_JL585 10400 | 70% 700, £:12,500, H:10,900
JL587 10.500 | 70% £:12.500, H:11.700
JL589 12,200 | 65% 3:12,500
EES JL584 11.000 | 69% 3:10.700
JL586 8,500 76%
JL588 6.700 81%
HECRB) =8 R CPIE) % [_JL453 9.800 70% 10,000, H:9.400
JL455 10000 | 70% |H:9.400
JL457 9,400 72% 0,000, £:9,700
JL459 9.400 72% _|%:10000, £:9.700
JL461 10000 | 70% 9,700
JL463 10000 | 70% 9.700
JL465 10,000 | 70% 10,500, £ H:9.700
Bme%x JL452 10.000 70% 10.200
JL454 10,000 | 70%
JL456 10000 | 70%
JL458 10,000 | 70%
JL460 10000 | 70%
JL462 10,000 | 70%
JL464 10000 | 70%
Rm (PE) BB R& (PE) % |_JL605 11800 | 73% |£:13.100
JL607 12200 | 72% |A:13.100. /:13600. %:13.800, £:13.300
JL609 12200 | 72% | AJKA:12,000, H:12.600
JL6T1 12200 | 72% | KJKA:12.000. B:12.600
JL613 12000 | 72% |H%:12.900. A:12,200, H:13,600
JL615 12000 | 72% |A%:13.100. A:12.200, H:13.600
W5 JL606 12000 | 72% |#:12,800. £:13.300
JL608 12000 | 72% |£:12.800. £:13.300
JL610 12000 | 72% |A%:12,200. %:12,600. H:13.600
JL612 13.600 | 69% |X:12.200. 7k:12.000, A:12.600, %:12.800. £:13.100, H:13.800
JL614 13600 [ 69% [X:12.200, 7k:12.000, :12,600, £:12.800, F:13,100, H:13.800
JL616 12000 | 72% | H:13.100
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RR(CRE) =K () | R CHE) % 7.100 72%
,400 59%
7 400 | 50%
L 500 58% 5
JL 500 | 58% 10,
L ,000 60% > +:10.400.
JL 000 | 60% :9.900. T B
L 9.000 64%
JL 9.000 64%
L 9.000 64%
JL 200 | 56% 800
L131 .200 56% ,800
JL133 200 | 56% 800
L137 .200 56% 3 1 .400
JL139 200 | 56% |7K:11.600. £:13.900. 400
KR (B % |_JL102 ,700 58% |#::9.800, 1:8.500, H:
JL104 200 | 56% |£:10.300. £:8.500.
[ JL106 ,200 56% |#:10.300, £:8,500.
JL 200 | 56% |£:10.300. £:8.500.
JL 500 8,500, B
JL 500 :8.700
JL 500 1:8.700
JL 500 :8.700
JL 500 1:8.700
JL 500 :8.700
JL ,900 61% B 600, H:10,900
[ JLi2s .900 61% 600, H:10.900
[ JL130 11,400 55%
JL134 1.400 | 55%
JL138 11,400 55% H:12,.900
B CRIE) =FLI% (37 F#%)| B CRE) % [_JL593 9.400 75%
[ JLs501 1300 | 73%
[ JL503 800 | 71%
| _JL505 ,200 67% . H:11,300
[ JL507 700 | 61% . B:12.200
JL509 000 63% ,600, +:17.800. H:12,200
JLS11 000 | 63% |A 600, £:17.800. H:12.200
JL513 ,000 68% f:15.800
JL515 300 | 70%
JL517 ,.800 1% ,700
[ JL519 800 | 7 . B:12.700
| _JL521 ,.800 1% ,700
[ JL523 800 | 7
[ JL525 700 | 69%
JL527 13000 | 65%
JL529 13000 | 65% |&
JL531 11400 | 70%
JL599 14000 | 63% [A:12.
FLIR (37 T 2%) 3__JL500 12900 | 66% | AoK:12. 13, :10.800
JL502 13500 | 64% |kl :13.800, H:11.300
JL594 13500 | 64% |t F:13.800. H:11.300
JL504 13000 | 65% :12.900, H:11.600
JL506 12000 | 68% %
JL508 11,300 | 70% |&: 700
JL5 10800 | 71% 600
JL5 12700 | 66% |& 100
JL5 13200 | 65% 100
JL5 13200 | 65% |A& 300, H:18.100
JL518 13.400 | 64% .
JL520 13000 | 65% 300, H:18.500
JL522 13000 | 65% | .300. H:18.500
JL524 13000 | 65% A .900. H:18.100
JL526 12000 | 68% 900
JL528 11400 | 70% |%& 700
JL530 900 | 7% |&: 200
JL598 500 | 67% .
R CPE)-KEs | BUR CHE) 3 | JL565 700 | 70% 4,000, £:14.500. £:15.500, H:14.100
JL567 500 | 69% | kskA:14.000. £:15.500
JL569 700 2% |2
Zwal%E | JL562 500 3% 8
JL564 100 %%
JL566 .800 % %
HECRE) =R BR (CPIE) % |_JL551 13,000 1%
JL553 16000 | 64% |/
JL555 13,500 70% K7} :14,000, H:15,300
JL557 13.100 | 70% [k7K:13000. %:14.000, £:13.500. H:15.300
JEIIES JL552 13000 | 71% |£:13,800, +:14.400. H:13,500
JL554 12.000 | 73% [%:12.300, +:12.400. H:13.700
JL556 12,000 p
JL558 11.200
R CRE) =8I R CRE) % |_JL541 10,200
JL543 15,200
JL545 10,300
EEES JL540 10.300
JL542 13,900
JL544 9,600
HECRB)=HIE BR CPIE) % |_JL573 11,400
JL575 13,000
JL577 12300 | 71% |%+:12,900. B:
JL57 13.000 | 70% 900
ETR 3 JL5T! 12,700 7
JL5T 12.400 | 71%
JL574 12,400 7
JL576 11.300 | 7%
R CRE) =BiE HR(PE) % |_JL585 12,100 66%
JL587 11,700 | 67%
JL589 13,400 62%
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JL586 12100 | 66% |2:13,000, £:11,800. H:15,000
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JL455 0000 | 70% |H:9.400
JL457 9,400 72% |£:10,000, £:9,800
JL459 9.400 72% | %:10.000, +:9.800
JL461 10,000 9,800
JL463 0.000 9.800
JL465 10,000 10,500, £ H:9.800
Bme%x JL452 0.000 10.200
JL454 10,000
JL456 0.000
JL458 10,000
JL460 0.000
JL462 10,000
JL464 0.000
EAC I = (FM) % |_JL605 11,800 73% |+:13,100
JL60T 2000 | 72% |A:13.100. /:13600. :13.800, £:13.300
JL609 12,200 72% | :KJKA:12,000, H:12,600
JL611 2200 | 72% | KJKA:12.000. B:12.600
JL613 12,000 2% H:12,700. £:12,900, H:13,800
JL615 2000 | 72% |A%:13.100. H:13800
IS JL606 12,000 72% |#:12,800, £:13,300
JL608 2000 | 72% |£:12.800. £:13.300
JL610 12,000 2% B £:12,200, £:12,600, H:13.800
JL612 3600 | 69% |X:12.200. 7k:12.000, A:12.600, %:12.800. F:13.100, H:13.800
JL614 13,600 69% | :X:12,200, 7K:12,000, &:12,600, £:12,800, +:13,100, H:13.800
JL616 2000 | 72% |£H:13.100

JAL



EE#EMAA : 2019/02/05 ~

TSR GIERR(G6A1~14BEESD)

=40]

6/1-14

TIVESRF

ERE

%

RECRE)=RER RRPE)R | J

.600

.000

.800

.000

.100, H:11.800

.000

,600

.000

00

.000

.000

,600, £:13.100, 1:11.800. H:13.600

.000

100, H:13,800

RAR

.000

.800

.000

00. £:13,800, H:12.600

.000

00, 1:13.600, H:12.600

.000

1,800, £:12,900, H:13,600

.000

.000

.000

.600

3,100, AR :14.100

RERPE)-ERE RRECRE)#

,600

.600, +:12,600

1
10.800
1

000, £:12.100, £:13.100

.600

9.600

.100

.600

.600. H:11.600

.600

600, H:11.600

BERBR

.200

10.600

100

.600

,600

.800

,100

:13.100

B 2 (D) =ALIR (37 7 | & 2 (P D) 34

.400

1.000, 1:20.000, H:16.400

8.200

:11,900, H:8,700

7.000

:7.100, H:6.100

.100

.100

H:6.100

ALIR (BT %) 3

.100

.000

13.800

2,300, JKA:10.500

11.900

:14.700. X:14.000, + H:15.700

9.500

:10.100, H:14.200

BE=Eh [EEES

5.000

K A:5.500

6.400

:6,500, H:5.000

5.500

5.000, £:5.600

5.000

5.000

5.000

5.000

5000

K:5.500. £:6.400. 1:6.500. H:5.600

5.000

:6.400, +:6.500. H:5.600

5.000

K:5.500. £:6.400. 1:6.500. H:5.600

5.000

5.000

5.000

5.000

JAL



TS5 BIEER(6A15~21BEES)

EREEAA : 2019/02/05 ~
6/15-21
=R B4 — TIVESRF
ERE | mzi il
RR(CRE) =K () | R CHE) % 7.100 72%
,400 59%
7 400 | 50%
L 500 58% 5
JL 500 | 58% 10,
L ,000 60% > +:10.400.
JL .000 | 60% :9.900. T B
L 9.000 64%
JL 9.000 64%
L 9.000 64%
JL 200 | 56% 800
L131 .200 56% ,800
JL133 200 | 56% 800
L137 .200 56% 3 1 .400
JL139 200 | 56% |7K:11.600. £:13.900. 1400
KR (B % |_JL102 ,700 58% |#::9.800, 1:8.500, H:
JL104 200 | 56% |£:10.300. £:8.500.
[ JL106 ,200 56% |#:10.300, £:8,500.
JL 200 | 56% |£:10.300. £:8.500.
JL 500 8,500, B
JL 500 :8.700
JL 500 1:8.700
JL 500 :8.700
JL 500 1:8.700
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JL ,900 61% 600, H:10,900
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JLS11 000 | 63% |A 600, £:17.800. H:12.200
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JL515 300 | 70%
JL517 ,.800 1% ,700
[ JL519 800 | 7 . B:12.700
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JL5T 12.400 | 71%
JL574 12,400 7
JL576 11.300 | 7%
R CRE) =BiE HR(PE) % |_JL585 12,100 66%
JL587 11,700 | 67%
JL589 13,400 62%
WER JL584 11.400 | 68%
JL586 12100 | 66% |2:13,000, £:11,800. H:15,000
JL588 15300 | 57% |£:14.000. £:11.700. H:16.700
HRE(PH)=-EE =R (PM) % [ JL453 9,800 70% | 9:9.400
JL455 0000 | 70% |H:9.400
JL457 9,400 72% |£:10,000, £:9,800
JL459 9.400 72% | %:10.000, +:9.800
JL461 10,000 9,800
JL463 0.000 9.800
JL465 10,000 10,500, £ H:9.800
Bme%x JL452 0.000 10.200
JL454 10,000
JL456 0.000
JL458 10,000
JL460 0.000
JL462 10,000
JL464 0.000
EAC I = (FM) % |_JL605 11,800 73% |+:13,100
JL60T 2000 | 72% |A:13.100. /:13600. :13.800, £:13.300
JL609 12,200 72% | :KJKA:12,000, H:12,600
JL611 2200 | 72% | KJKA:12.000. B:12.600
JL613 12,000 2% H:12,700. £:12,900, H:13,800
JL615 2000 | 72% |A%:13.100. H:13800
IS JL606 12,000 72% |#:12,800, £:13,300
JL608 2000 | 72% |£:12.800. £:13.300
JL610 12,000 2% B £:12,200, £:12,600, H:13.800
JL612 3600 | 69% |X:12.200. 7k:12.000, A:12.600, %:12.800. F:13.100, H:13.800
JL614 13,600 69% | :X:12,200, 7K:12,000, &:12,600, £:12,800, +:13,100, H:13.800
JL616 2000 | 72% |£H:13.100

JAL



TS5 BIEER(6A15~21BEES)

EREEAA : 2019/02/05 ~
6/15-21
B T TSR
S Gl
EEE B51% %5
RECRE)=RER ERCRE)FE| J .600
,000 :11.800
.000 :11.800
,000 :12.600
.000 :12.500
,000
.000 600, £:13.100. £:11.800, H:13.600
,000 100, H:13,800
RAR 000 800
,000 00, £:13,800, H:12.600
.000 00. £:13.600, H:12.600
,000 1,800, £:12,900, H:13,600
.000
[ J ,000
J .000 .
J 600 3,100, AR :14.100
ER(PAE)-ERB ERCRE)FE| J 9.100
J 10,600 .600. +:12.600
J 10.800 ,000. %:12.100, £:13.100
J 10600
J 9.600 78%
J 10100 | 77% 1100
[J 600 78% .600. H:11.600
J 600 78% |£:10,600, H:11.600
BERBR J .200 79%
J 10600 | 76%
J 9.600 78%
J 100 | 77% 1,100
[ J 600 | 76% .600
[J 600 | 76% 3,800
[J 800 | 75% |&H:13.600
J 100 | 77% :13.100
B () =ALIR (37 T | B & 2 (P ) 3L 400 | 58% |£:21.000. £:20.000, H:16.400
T 1700 | 72% 13100, A:13.700. %:11.900
Ji 7.000 83% [&£1:7.100
Ji 100 85%
JL: 100 88% | H:6.100
FLIR (7 F %) $9_JL: 100 85%
000 83%
10500 | 75% :10.700
11.900 | 72% :12.200
9,500 77% 0,100, H:14.200
EE-EE FEES 5,000 7% R A:5.500
6.400 1% :6.500. H:5.000
5500 75% 5000, £:5.600
5,000 7%
5.000 77
5,000 7%
5.000 77
EEES 5,000 77% | XA:5.500, £:6.400, 16,500, H:5.600
5.000 7% |2 :6.400, 1:6.500. H:5.600
5,000 77% | XA:5.500, 26,400, 1:6,500, H:5.600
5.000 77
5,000 7%
5.000 77
5,000 7%

JAL



TS5 RBEER(6H22~30BEES)

EREEAA : 2019/02/05 ~
6/22-30
=R B4 — ISR E
S Gl
ERE | mzi il
RR(CRE) =K () | R CHE) % 7.100 :7.800
400 :10,900, H:9.400
7 400 . :10.900, H:9.400
L 500 | 58% |A:10.900, £:10.100, £:11,300. H:9.400
JL 500 | 58% :9.400
L 000 | 60% :9.400
JL .000 | 60% :9.000. H:9.400
L 9.000 64%
JL 9.000 64%
L 9,000 64%
JL 200 | 56% :11.500
L131 200 | 56% 111,500
JL133 200 | 56% :11.500
L137 200 | 56% 21 111,500
JL139 200 | 56% |A:11.600. £:13.900, :11.500
KIR () 3 |_JL102 700 | 58% |#:9.800. F:9.500. B9
JL104 200 | 56% |£:10.300. £:9.500.
[ JL106 200 | 56% |%:10.300. £:9.500.
JL 200 | 56% |£:10.300. £:9.500.
JL 500 | 58% 9500, H:9.400
JL 500 62%
JL 500 62%
JL 500 62%
JL 500 62%
JL 500 62%
JL .900 61%
| JL128 .900 61%
[ JL130 11400 | 55%
JL134 1400 | 55%
JL138 11400 | 55%
B CRIE) =FLI% (37 F#%)| B CRE) % [_JL593 9.400 75%
[ JLs501 1300 | 73%
| JL503 800 | 71% 300
[ JL505 200 | 67% 500
|_JL507 700 | 61% 500
JL509 000 | 63% 00. +:22.600, H:13.000
JL511 000 | 63% 00, £:22.600, H:13.000
JL513 000 | 68% 500, H:13.400
JL515 300 | 70% 00
JL517 800 | 71%
| JL519 800 | 7
[ JLs21 800 | 71%
| JL523 800 | 7
| JL525 700 | 69%
JL527 13.000 | 65%
JL529 13,000 | 65%
JL531 400 | 70%
JL599 000 | 63%
FLIR (3 T 3% 3_JL500 .500 | 67%
JL502 000 | 65%
JL594 000 | _65%
JL504 000 | 65%
JL506 12000 | 68%
JL508 11300 | 70%
JL5 10800 | 71%
JL5 12700 | 66%
JL5 13200 | 65%
JL5 13200 | 65%
JL518 13.400 | 64%
JL520 13.000 | 65% 900, H:20.
JL522 13.000 | 65% :13.900, H:20.400
JL524 13.000 | 65% 113,500, H:20.400
JL526 12.000 | 68% 3:20.400
JL528 11400 | 70% |&
JL530 900 | 71% |%:
JL598 500 | 67% |A:
R CPE)-KEs | BUR CHE) 3 | JL565 200 | 71% A 114,500, £:18.000
JL567 .000 | 70% |FHH:14.200. £:14,500, £:17.500
JL569 500 3% |H: +14.400. +:13.900. H:15.500
LiwHFE | JL562 500 3% (A% 00. F:16.300
JL564 100 %% 00. H:16.300
JL566 .800 % & 6500
Rm (PE) e R CFIE) 5 |_JL551 13000 | 71% | A :21,000, H:19.200
JL553 15500 | 65% |A%e: 0,000
JL555 13500 | 7 St 6,000, H:17.500
JL557 13.000 | 71% 114,000, +:16.000. H:17.500
JEIIES JL552 12500 | 7. :17,000, H:16.500
JL554 12.000 | 73% 7.000
JL556 11500 | 74% :16.000
JL558 11.200 | 75% :16.000
R CRE) =8I R CRE) % |_JL541 9,700 78% I
JL543 15200 | 65% :20.200. H:19.100
JL545 9,800 78%
EEES JL540 9.800 78% 500, H:10.200
JL542 13900 | 68% 4,900, £ H:18,300
JL544 9.100 79% .000. H:11.500
RRCRB)=HIE HR(PE) % |_JL573 11,400 74% 4,400, H:14,900
JL575 12500 | 71% | H%:13.000. £:13.900. H:16.000
JL577 12300 | 71% g
JL57 13.000 | 70%
BILE JL57 12700 | 7
JL57. 12.400 | 71%
JL574 12400 | 7
JL576 11.300 | 7%
R CRE) =BiE HR(PE) % |_JL585 12,100 66%
JL587 11700 | 67%
JL589 13400 | 62%
EES JL584 11.400 | 68%
JL586 12,100 | 66% 13,000, 11,800, H:17.100
JL588 15300 | 57% 14,000, +:15.000. H:21.200
HECRB) =8 R CPIE) % [_JL453 9.800 70% 10,000, H:9.400
JL455 0000 | 70% |H:9.400
JL457 9,400 72% 0,000, +:9,800
JL459 9.400 72% _|%:10000, 1:9.800
JL461 10000 | 70% 9,800
JL463 0000 | 70% 9.800
JL465 10,000 | 70% 500, + H:9.800
Bme%x JL452 0.000 70% .200
JL454 10,000 | 70% 100
JL456 0000 | 70% 100
JL458 10,000 | 70% 10,100
JL460 0000 | 70% 0.100
JL462 10,000 | 70% 10,100
JL464 0000 | 70% 0.100
AR (PE)-EB R& (PE) % |_JL605 11,800 | 73% 3,100, H:12,000
JL607 2000 | 72% |A:13.100. A:13.600. £:13.800, £:13.300. H:12.200
JL609 12200 | 72% :12,000, H:12.800
JL6T1 2200 | 72% K:12.000, H:12.800
JL613 12000 | 72% |A:12,700. %:12.900, H:13,800
JL615 2000 | 72% |A%:13.100. H:13800
W5 JL606 12000 | 72% |#:12,800. £:13.300
JL608 2000 | 72% |£:12.800. £:13.300
JL610 12000 | 72% |A1:12,200. %:12,600. H:13.800
JL612 3600 | 69% |X:12.200. 7k:12.000, A:12.600, %:12.800. F:13.100, H:13.800
JL614 13600 | 69% |X:12,200, 7K:12,000, A:12,600, :12,800, F:13,100, H:13,800
JL616 2000 | 72% |£:13.100. H:13.300

JAL



EE#EMAA : 2019/02/05 ~

TS5 RBEER(6H22~30BEES)

6/22-30
=40} T ISR E
S Gl
EEE B51% %5
ECAC:E ERCRE)FE| J .600 72% g
.000 7 & .800
000 | 7 A: 300, B:13.100
,000 7 - ,800
000 | 7 800
,000 7 %
000 | 7 :12.200, A:12.600. %:13.100. £:11.800. H:13.800
,000 7 H:12.600. £:14.100., H:13.800
RAR .000 i :12.200, +:13.800
,000 7 A 12,800, £:13,600, £:13.800
000 | 7 B: 900 +:13.600, H:12.700
,000 7 B :11,800, %:12,900, H:13.600
000 | 7 & :13.800
,000 7 E: 100
000 | 71% |4 .100
600 67% X 13.100, A $:14.100
ER(PAE)-ERB ERCRE) % 9.100 79 E
10600 | 76% 1600, F:12,600
10800 | 75% |H: ,000, %:12.100, £:13.100
10,600 76% |£:
9.600 78%
10100 | 77% [H:11.100
600 78% | %:10.600. H:11.600
600 78% |£:10,600, H:11.600
BERBR .200 79% [1:10.20
10,600 76%
9.600 78%
100 | 77% 100
600 | 76% .600
600 | 76% |H:13.800
800 | 75% |£:13.600. H:13.700
100 | _77% |£H:13100
B & () =ALIR (37 T 3 2 & 2 (P ) 34 400 | 58% 1,000, £:24.300. H:20.700
1.700 72% :13.100, A H:13.700. %:11.900
7.000 83% :7.100. H:10.200
100 85%
100 88%
FLIR (T %) 59 100 85%
000 83%
11.900 2%
11900 | 72%
9.500 7%
FLIR G TF ) =#18 HBRR 10.300 69% 12,
10300 | 69% :12.700
HLIR GG F %) 34 11.200 66% 11.100
10300 | 69% :12.700
R BER 15.700 68% JKA:15.100
15700 | 68% |A:14.600. %:15.100
Wa% 15700 | 68% |A:14.600. %:15.100. H:14.800
16200 | 67% |&+H:16.700
BRE-EE EES 5.000 7% RA:5.500
6.400 71% |+:6.500, H:5.000
5500 75% 5000, £:5.600
5,000 7%
5.000 77
5,000 77%
5.000 77
EEES 5,000 7% 5500, %:6.400. £:6.500. H:5.600
5.000 77% | kA:5.500, £:6.400, 1+:6.500. H:5.600
5.000 77% | kAK:5,500, £:6.400, 16,500, H:5600
5.000 77 900, 1:6.500
5.000 77% _|K&:5.500.
5.000 77% k%5500,
5.000 77% | K%:5.500.

JAL



TN RFIEER(TAI~11BEESD)

EREEAA : 2019/02/05 ~
7/1-11
=R B4 — TSRS
B | mizim il
RR(CRE) =K () | R CHE) % 7.400 :7.800
,400
7 400 :9.400
L 800 % :11,500, H:9.400
JL 800 | 61% £:11.500. H:9.400
L ,300 63% > 1:11,200, H:9.400
JL 300 | 63% :
L 9.400 66%
JL 9.400 66%
L 9.400 66%
JL 500 | 58%
L131 .500 58%
JL133 500 | 58%
L137 .500 58%
JL139 500 | 58%
KR (F#F4) % [_JL102 900 ]
JL104 .900
[ JLi06 ,900 3
JL .900
JL ,800 b
JL .800
JL ,800 b
JL .800
JL 800 68%
JL 800 68%
JL 800 68%
| JL128 800 68%
[ JL130 ,900 61%
JL134 900 | 61%
JL138 900 61%
B CRE)=#Li% (F F#%)| =m(FHE) % |_JL501 .500 69% H:12.600
| _JL503 000 65%
| JL505 200 | 64%
| _JL507 .500 59%
| JL509 500 | 59%
JL511 .500 59%
JL513 900 | 65% [A:
JL515 ,.200 67% |%
JL517 000 | 65% [k :14.300, H:14.900
JL519 000 65% |4 :14,300, H:14.900
|_JL521 000 | 65% |4 :14.900
| JL523 000 65% |4 :14,900
| JL525 100 | 65% [k :13.600, H:14.900
| JLs27 100 | 62%
JL529 .000 | _62%
JL531 300 | 67%
JL599 17500 | 56%
+LIR (37 F %) 3_JL500 12800 | 68%
JL502 700 | 66% 600, H:13.200
JL504 700 | 66% 400, H:13,400
JL506 .500 | 66%
JL508 000 | 67%
JL5 12.600 | 68%
JL5 14800 | 63%
JL5 15200 | 62%
JL5 15200 | 62%
JL518 15600 | 61%
JL520 15600 | 61%
JL522 15600 | 61%
JL524 15300 | 62%
JL526 900 | 65%
JL528 000 | 67% +12.300, H:16.700
JL530 .000 | 70% .300. H:16.500
JL598 500 | 64%
HRCRE)=k#&5 BN CPIE) % |_JL565 7.000 65% | 7.500
JL567 7.000 | 65% | 7500
JL569 5200 | 69% | :17.000
KB | _JL562 5500 | 68% | :18.000
JL564 500 | 68% |/
JL566 400 | 70% [%
HR CRE)=he)I BN CRIE) % |_JL551 400 48% |7
JL553 000 | _48% |4
JL555 16,000 66% | J
JL557 16.000 | 66% |2 £ 16.500. H:17.500
pENIE 3 JL552 16,000 66% | J 216,500, F:17,500
JL554 15500 | 67% |XJK:14.900. £:16.000. H:17.000
JL556 24,500 47% 25,500, %:26,400, H:28,100
JL558 13.700 | 71% :14.200. £:14.900, H:16.000
HR CHE) =S TR CFE) % [_JLs41 14900 | 68%
JL543 19.800 | 57% ,000. H:19.100
JL545 15,600 | 66% 700, £:16,200. H:17,500
EEES JL540 15.700 | 66% 115,500, £:14.700. £:17.500, H:16.200
JL542 17,900 61% 19,100, £:19,900
JL544 14400 | 69% |XK:13.900. +:14.900. H:14.700
HECRB)=HIE B (PE) & [_JL673 13,900 69% |<:14.400, 1:16,000, H:14,900
JL575 15500 | 66% | XK:14.900. F:17.000. H:16.000
JL577 15,400 66% | J7k:14,900, £:15,500, 1:17,000, H:16,000
JL57 16.000 | 65% |XJK:15.500. 16.500. H:17.500
ETR 3 JL5T! 16,000 65% | XkJK:15,500, % H:16,500, £:17,500
JL57. 15500 | 66% |XK:14.900. £:16,000. H:17.000
JL574 15,500 66% | J :16,000, H:17,000
JL576 14100 | 69% |2 114400, £:14.700. H:16.000
R CRE) =BfE B (PE) & [_JL685 14,700 61% :20,100, B:14,300
JL587 13.000 | 65% :14.900, B:15.300
JL589 15,300 59% 5,500, H:17,400
EES JL584 14.100 | 63% 600
JL586 15,100 60% :15,000, 1:15,500, H:18,000
JL588 17.000 | 55% 115,500, H:21.200
HECRBR) = BR (CPIE) % |_JL453 10,000 72%
JL455 10000 | 72%
JL457 10,000 2%
JL459 10000 | 72%
JL461 10,000 2%
JL463 10000 | 72%
JL465 10,000 72% |%:10,500
e JL452 10100 | 72% |+:10.200
JL454 10,100 2%
JL456 10100 | 72%
JL458 10,100 2%
JL460 10100 | 72%
JL462 ,100 2%
JL464 100 | 72%
R CRE)=MEX R CRME) % [_JL623 ,900 70% :13.900, 1 H:13.400
JL625 100 | 70% 3.300, £:14.100. £:13.800, H:13.600
JL627 ,200 2% +:13,300. H:13,100
JL629 100 | 70% 00. % H:13.600, £:14.100
JL631 ,900 70% 700, £ H:13.600, +:14,000
JL633 600 | 71% A+£:13100. £:14.100
JL637 12,600 1% :13,100, % H:13.300, £:12,800
JL639 14100 | 68% £:13.100, £:13.600, H:14.300
JL622 13,100 70% :13,200, 1:13,800
JL624 3300 | 69% 100, %
JL626 13,300 69%
JL628 2600 | 71% [E X .
JL630 13,600 69% A 14,100, K:12,800, A:12,200
JL632 13100 | 70% |H%:14.100. A:13.600. H:13.800
JL634 13,100 70% F£:14,100, K:13,600, H:13.800
JL638 100 | 68% | k7K:13.600

JAL



TN RFIEER(TAI~11BEESD)

EREEAA : 2019/02/05 ~
7/1-11
&R B2 SIS
wrm |57 i
RRCAE)-ERE | RRCHE) R [ JL64 9.100 80% | %:10.600, £:11.600
L643 10600 | 77%
JL645 11100 | 76% |4
L647 10600 | 77% |A+:10.800. £:11.600
9 9.600 79%
1 10100 [ 78% 1100
3 600 79% .600. H:11.600
5 600 79% 600, B:11.600
ERERE [ JL .200 80% .200
L 10600 [ 77%
JL 9.600 79%
L 100 | 78% 1100
L 600 | 77% 600
.600 | 77% 600
100 | 76% |X:10.800. £:14.100, H:13.700
100 | 78% |#H:13.100
AR(PFH-ERE | KRB R 8.500 74% | +:11.700
12200 | 62% [/KH:8.900
.900 7 A% +£:12.200
500 74% 10,700
500 74% | %:11.600. H:11.700
500 7 £:8.900. H:11.700
.900
ERBR 500 .700
.900 .700
500 900, F:11.600
500 X
11.000 900, £:10,900. £ H:12.200
8.900 12.200
8.900 12,200
B EE () =ALIR (37 T3 2 & 2 () 34 21.400 52% 25.200. H:20.700
11000 | 75% 5100, X H:12,900, £:11.200
10600 | 76% |KAL:10.500. B:11.100
.400 79%
100 82% :9.100. B:10,000
FLIR (T %) 59 ,400 81% E
.400 79% 0200,
13.300 70% :16.800, X H:14.900
13300 | 70% |H:16.800. %k H:14.900
10500 | 76% | A XH:11.800
WIREFTFR)-FH |[fREFTRH 7.100
7.100 .600
7.100 .600
BEHRE 9.600 100
7.100 600
7.100 600
R BER 5.000 ( 7k :5.700
6.700 000, H:5.000
5.000 A%:5.700. £:6.000
5,000 :
5.000
5,000
5.000 1:6
EEES 5,000 5700, £:6.700, £:7.900
5700 £:6.700. £:7.900. H:5.000
5,000 k5700, £:6.700, £:7.900
5.000 700, +:7.200
5,000 5700
5.000 5700
5,000 700

JAL



TS %BIEER(TA16~24BEES)

EREEAA : 2019/02/05 ~
7/16-24
=R B4 ISR E
E—75 Bz
EIEIES "
RR(CRE) =K () | R CHE) % 01 :8,000
03 210,900, H:9.600
7 :10.900, H:9.600
L % 211,500, H:9.600
JL 60%
L 62%
JL 62%
L 65%
JL 65%
L 65%
JL 57
L131 7
JL133 7
L137 7!
JL139 7
KR (F#F4) % [_JL102 60%
JL104 60%
[ JLi06 60%
JL 60%
JL b
JL
JL b
JL
JL 68%
JL 68%
JL 68%
| JL128 68%
[ JL130 60%
JL134 60%
JL138 60% H
R CRE) =FLIR (3 Fm)| RmCRE) % [_JLs01 8,500, H:16.500
[ JL503 17.800. B:15.700
| JL505 300
| _JL507 100
| JL509 .300
JL511 300
JL513 .000. B:17.200
JL515 ,900
JL517 ,000. B:17.000
JL519 000, H:17.000
|_JL521 .700. B:17.500
[ JL523 500
| JL525
JL527 5700, H:17.600

7.600

FLIR B TFi%)

62%

:00 . H:18.800

.300. H:17.900

59%

RRERCPE)=XiH5

RER(PE) R

7.700. H:24.000

52%

:27,700, H:24.000

ESCEIES

HECRE) =R

RERPE) %

JENIES

. % 1:21,400, B:22,700

. £1:21.400, B:22.700

H:21,400, 1+:21,700

:20,800, H:22.100

:29,700, H:28,100

219,500, H:20.800

RRCRB)=HIE

HRCAE) %

:17,900, H:16,800

63%

62%

7.900, H:18.900

62%

17,900, £:18.900

63%

:17.300, H:18.400

63%

66%

RR CRE) =EHfE

HERCAE) %

49%

:21,300, 1:26,300, H:18,500

51%

:20.300

49%

:21,600

S

55%

100. 7.600

51%

:18,300, H:21,400

445

219,400, H:25.900

R CRE) =R

HRCAE) %

2%

.400, H:11,300

73%

.600

73%

100

70%

.600

67%

,600,, #:13,300, £:10,500, H:13,500

FELIFE

73%

200, +:10.500

68%

900, £:12,500, H:10,500

73%

.100

67%

12,800, £:11,600
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1643 | 7 600 | 73% [A: 7k:13,600. +:13.300
JL645 | 7 600 | _73% [H:12.800, A% E:13.100
L647 7 800 7% B: :11,600, B:12,200
9 7 600 | 73% [dc
1 7 600 73%
3 | 7 000 | 74%
5 7 ,000 74%
BRBRE | _Ju 7 100 | 72%
Lf 7 ,100 72%
JL 7 9.600 79%
L 7 100 | 78%
L 7 100 | 69%
7 600 | 75%
7 000 | 74%
7 100 | 72%
B 2 (D) =ALIR (37 7 | & i 2 (P ) 34 7 .900 48%
[ JL 7 ,000 73%
JL3i07 | 7 200 | 77%
JL3115 7 9.400 79%
JL3i7 | 7 7400 | 83%
FLIR (B F8%) 5_JL3100 | 7 8700 | 80% |H:8.900. A +:8.400, %:8.600, H:9.700
[uLsios | 7 9700 78% 900, A £:9.400. £:9.600. H:10.200
JL3110 7 13.300 70% 4,900
J3iia | 7 13300 | 70% 4.900
JL3118 7 10,500 76% 1.800
HIRGEFTFR)=-FH  |HRETFR)H JL2803 [ 7 7.100
[ JL2805 | 7: 7100 | 73% |
JL2809 | 7 7.100 73% 800
EH%E  |[JL2804 | 7 9,800 63% 7.100
[JL2806 | 7 7.100 73%
JL2810 7 7.100 73%
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JL 800 | 57% |
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JL133 800 e
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[ JL106 100 | 60% | 600
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JL 900 68% |2
JL .900 68% |
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JL5 17,300 X:20.000, K 181
JL518 :20.300. 7K: D, £:19.300. £:16.400. H:22.600
JL520 300, +:16.400. H:22.600
JL522 00. H:22.600
JL524 00. H:22.600
JL526 : 00
JL528 116,600, £:15.000. H:18.800
JL530 :13.300. B:17.900
JL598 :17.900
R CHE)-ZB% | BR ()3 |_JL565 3.500. £:25.500. £:27.700. H:24.000
JL567 3500, £:25.500, +:27.700. H:24.000
JL569 g
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JL564
JL566
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JL553 A:31.200. % +:29.700
JL555 2X:23,900, 7K:24,700, & +:21,400, H:22,700
JL557 £:20.800. 00. 7K:24.700. %:20.600. H:22.700
FEIIES JL552 2X:23,900, 7K:25,100, £ H:21,400, 1:22,700
JL554 20.200 k7K:24.600. £:20.800, H:22.100
JL556 :31,300, Jk:25,500, £:29,700. H:28.100
JL558 3,100, 7:18.200. +:19.500. H:20.800
HR CRE) =8Ik FR CRE) % [_JL541 :21,500, 1:23,600, H:22,300
JL543 :27.300
JL545 :19,100, H:22.700
EEES JL540 19.100 %:21.400, 1:22.700. H:20.400
JL542 25,300 7:24,300, X K:24,900
JL544 22,300 XK:23.000. H:24.500
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JL575 6.800 R:24.300, 7K:26.600. £:18.400, H:17.300
JL577 16,800 :X:24,300, 7K:26,600, £:18,400, H:17.300
JL57 7.900 : .000. 7K:26.300, A:17.300. H:18.900
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JL257 14300 | 61% |JK:15.700. B:11.700
JL259 4400 | 61% |XJK:16.000. H:12.100
JL261 11400 | 69% |X:13.700, 7K:14.200, %:11,700, £:11.900. H:11.000
JL263 1400 | 69% |K:13.700, 7K:14.200. %:11.700, +:11.900. H:11.000
JL265 12900 | 65% |JK:15.100, % H:13.900. £:12,200
JL267 3400 | 64% |XJK:15.600. %:14.400. +:12.700. H:14.100
LB JL252 11300 | 69% | AA:11,000. 2
JL254 2900 | 65% |AJK:15.000.
JL256 10600 | 71% |JJK:12.300.
JL258 0600 | 71% |XJK:12.400.
JL260 12900 | 65% |kK:14.900. %:14,800.
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JL639 14100 | 68% |X:12.600. 7k:13.000, A:13.600, +:13.100. H:14.300
AR JL622 13100 | 70% |A:12.800. 7k:13.600. %:13,300, +:13.800
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JL3115
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| JL3106 :9.900. 7K:10.100. H:10.600
JL3110 13.300 70% 225,700, H:14,900
JL3114 13300 | 70% 25,700, H:14.900
JL3118 10,500 76% :14,000, H:11.800
HIRGETFR)=FH  |FLIRGETFR) H_JL2803 7.100
[ JL2805 7100 | 73% |
JL2809 7.100 73% | H:0.800
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ksl ETTE S sl
RR(CRE) =K () | R CHE) % o1 8.900 68% |7t
03 000 | _60% | :10.100
7 000 | 60% | :10.100
L 000 | 60% |k :11,500, B:10.100
JL 000 | 60% |sk: 111,500, B:10.100
L 500 | 62% |k . B:10.100
JL 500 | 62% |k :10.100
L 9.600 65% |7k 500
JL 9.600 65% |7k 500
L 9,600 65% |7 500
JL 800 | 57% | 11500
L131 800 e . H:11,500
JL133 800 7%k :10.100, B:11.500
L137 800 7%k £:10.100. B:11.500
JL139 800 7%k :11.500
KER (B % |_JL102 100 [ 60% [4
JL104 100 | 60% |
[ JL106 100 | 60% |
JL 100 | 60% | :10.100
JL 000 P +11.000. H:9.900
JL 000 7
JL 000 s |oh
JL 000 7
JL 000 3 : £:9.500, H:9.600
JL 9.100 7k 600
JL 1400 59% A
| JL128 400 | 59% |A
[ JL130 100 | 60% | %:12,000, £:10.100, H:11.500
JL134 100 | 60% | 112000, +:10.100. B:11.500
JL138 100 | 60% | 400 £:13,200. 1:10.100, H:12.900
BR CRIE)=#LI% (3 Fk)| 3R (HE) % |_JL501 .900 50% |7K:27.500, A:24.900
[ JL503 26,800, £:24.900
| JL505 K:25.200. £:20.400, +:22.400
[ JLs07 k28,300 %:20.600, F:25.900
| JL509 K:28.300. %:20.600, +:25.900
JL511 k28,300 %:20.600, +:25.900
JL513 3000, £:20.500
JL515 £:19.900
JL517 K:22.000
JL519 ,900. +:19.500
|_JL521 00
[ Ji523 00
| JL525 :19.900, £:19.000
| JLs27 :21.100, +:18.700
JL529 K:21.100. £:17.700
JL531 & H:19,900. £:17.500
JL599 0. H:19.500
#LO% (37 F5%) H__JL500 I ¥
JL502 18200 | 54% |kK: .600. H:17.700
JL504 17.400 | 56% |iK: .700. H:17.900
JL506 17200 | 57% |k 500, £:18.100
JL508 16.800 | 58% |sK:17. +:17.700. H:18.500
JL5 700 | 58% 500, %:18.100. £:17.700. H:18.500
JL5
JL5
JL5
JL518
JL520
JL522
JL524 ]
JL526 300, H:22.600
JL528 :19.200. +:17.700
JL530 00. £:16.200. H:18.600
JL598 :16.200, H:18.600
HEROAE)=%ER | BHR(PE)F [ _JL565 3:25.200. A:29.900. +:27.700
JL567 K B:25.200. 7:29.900, £:27.700
JL569 N
LiwHFE | JL562 ,000. %:24.000, £:24.600. H:25.600
JL564 400, A:23.000. £:24.600. H:25.600
JL566 600, +:23.400, H:24.400
HR CRE)=he)I BN CRIE) % |_JL551
JL553
JL555 K:25,700, £:27.000, +:27,500
JL557 5700, £:27.000. £
JEIIES JL552 (7K:26,300, £:25,700.
JL554 (7K:26.900. :26.400.
JL556 7K:24.900, .
JL558 200, :
R CRE) =8IEE R CRE) % |_JL541 H:32,700
JL543 700, K:31.400, % F:27.300
JL545 H:26,600
EEES JL540 :25.900. %:25.700. & H:26.600
JL542 : A:30,900
JL544 25700 | 44% [7K:25.900. %:24.400. %:26.300. & H:26.600
HRCRE) =M Fm CHE) % |_JL231 12,300 | 66% | A%£:12,000. k:12,500. &:11,000
JL233 11500 | 68% |7K:13.000. 7:11.000
JL237 11,500 | 68% |7K:12,200. A:11.000
JL239 12.000 | 67% |XF:12.900. K:13.400. #:11,000. H:13.300
JL241 13900 | 62% 2,100, 11,000, %:13,300, %:13,800. H:14,700
IS JL232 1500 | 68% |JK:12.000, A:11.000. £:11.800
JL234 12,000 | 67% |XJK:13,400. 7:11,000, 3:13,900. H:13,000
JL236 1.500 | 68% [JK:12.200, %:11.000
JL240 12,100 67% | ::13.400, /K:13,900, Z:11,000, £:12,800, +:12,700, H:13,800
JL242 12100 | 67% |X:14.400. k13,900, A:11.000, £:13.800. F:13.700, H:14.800
R (PE)- LB Fm CFE) % |_JL253 11,100 | 70% |JH:11,200. K+£:11.600. £:10,200
JL255 4300 | 61% |X:14.400. 7k: .200. +:14.800. H:12.300
JL257 14,300 | 61% | A:14,400, k: 200, £:14,800. H:12,300
JL259 4400 | 61% [/K:16.000. 500
JL261 11,800 | 68% 11,400, 7K: ,200, %:11,700. H:11,100
JL263 1.800 | 68% |H:11.400, K13, .200, %:11.700. H:11.100
JL265 12900 | 65% |7K:15.100, :10,200, % H:13.700
JL267 3400 | 64% |/K:15.000. :10.200. %:14.200, H:14.600
LB JL252 11400 | 69% 11,100, 7K:12.200, :10,300, £:11.300
JL254 2.900 | 65% |/K:14.900. A:10.300. H:11.700
JL256 11100 | 70% |7K:12.200. A:10,300. H:10,400
JL258 11100 | 70% |7K:12.200. :10.300, :11.800, +:11.700. H:12.400
JL260 14000 | 62% 12,900, 7K:12,300, :10,300, %:14.800. H:15.700
JL262 4000 | 62% |A:12.900. k14500, £:10.300, £:14.800. H:15.800
JL264 13900 | 62% |7K:15.200, :10.300, %:15,000. 00. H:14,400
JL266 4200 | 62% |X:14.400. 7K:15.500, £:10.300, £:15.000. H:14.900
HECRB) =8 R CRME) % [_JL453 12,100 66% |7K:16.600, #:11,600, H:11,200
JL455 12100 | 66% |sK:16.600. A:12.200. H:11.200
JL457 12100 | 66% |7K:16.900. :11,500
JL459 12100 | 66% |7K:16.900. 11,500
JL461 12,100 | 66% |7K:16.600, A:12.200, + H:11.500
JL463 100 | 66% |7K:16.600. A:12. 11,500
JL465 100 | 66% |7K:16.600.
Bme%x JL452 .300 65% [7k:19.000.
JL454 100 | 66% |7K:15,900.
JL456 100 | 66% |7k:17.200,
JL458 000 | 66% |K:16,500.
JL460 .000 | 66% |7K:16.500,
JL462 12,000 | 66% |7K:16.500. .
JL464 12.000 | 66% |7K:16.500. £:10.600, £ H:11.700
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%7700, :6,300. +:9,200. H:7,100

6.600

:6,000. A:6.300, £:7.700. H:7.100

6,600

7,700, %:6,300. H:7.100

6.600

£:7.700, A:6.300, B:7.100

JL3642

6,600

73%

B

B

B

B
KT,
7k£:7.700, A:6.300, H:7.100
7l

7t

7l

7t

7l

6,000, £:6.300, £:7.700, H:7.100

JAL



TS5 RBEER(BA19~25ABES) JAL

EE#EMAA : 2019/02/05 ~

8/19-25
=R B4 FH = ISR E
2y |00 sl
R (RE)=XKR (F) | RRCAB) % 7.500 73% :8.500. H:8.000
400 | 62% 500
7 400 | 62% 500
L 400 | 59% 110,600, H:9,500
JL 000 | 60% +12,000, £ +:10.900. H:9.500
L 400 | 59% £:10.900, H:9.500
JL 500 | 62% 0. £:10.400. T H:9.500
L 9.500 66% ,000
JL 9.500 66% .000
L 9,500 66% ,000
JL 800 | 57 400,
L131 800 7 400,
JL133 800 7
L137 800 7
JL139 800 7 .900. £:9.500. H:11.500
KIR () 3 |_JL102 200 | 59% :8.900. H:9.100
JL104 800 | 57% 900, H:9.100
| JL106 800 | 57% X 900, H:9.100
JL 800 X :8.900, H:9.100
JU 000
JL 000
JU 000
JL 000
JU 000
JL 000
JU 400
| JL128 400
[ JL130 000
JL134 .000
JL138 ,000
RECRE) =R (B Fi%)| RR(FE) % [_JL501 .000
| JL503 000
| JL505 500
| JL507 100
| JL509 100
JL511 100
JL513 300
JL515 500
JL517 .000
JL519 000
|_JL521 .000
| JL523 000
| JL525 100 :
| JLs27 A:
JL529 A:
JL531 A:
JL599 A:
#LO% (37 F5%) H__JL500 *:
JL502 *:
JL504 A:16. :17.200, H:15.900
JL506 A
JL508 A ,000, H:17.000
JL5 ZE .000. H:18.000
JL5 600, H:19.500
JL5 00
JL5 100, 116,600, H:22.700
JL518 :16.600. H:23.100
JL520
JL522
JL524
JL526
JL528
JL530
JL598
AT R CRE) % |_JL541
JL543
JL545
IS JL540
JL542
JL544 7.900 :19.700
RR(PE)-BE HR (@) % [_JL673 17.300 | 62% :17.900
JL575 22100 | 51% -22.600. ©:20.100
JL577 22100 | 51% 2,600, H:20.100
JL57 16.800 | 63%
BILE JL57 17300 | 62%
JL57. 16.800 | 63%
JL574 16,800 | 63%
JL576 16.300 | 64%
HRCRE) =R R CRE) % |_JL231 10,300 72%
JL233 10800 | 70% |A:
JL237 10300 | 72% | A
JL239 12400 | 66% |A: 1,800, H:12.200
JL241 13200 | 64% | 700, £:10,500. H:13,500
[N JL232 10300 | 72% |A: 1,100
JL234 12900 | 64% |3 500
JL236 10300 | 72% |A: ,300, H:12.100
JL240 13,100 | 64% | A :12,300, H:13.700
JL242 13700 | 62% |A: :13.300, H:14.300
R (PE)-LE Fm ) % |_JL253 10500 | 72% | A £:10,600
JL255 14800 | 60% |A: 21 114,700, H:11.600
JL257 14800 [ 60% [/:12500, %:14.300, +:14,700, B:11,600
JL259 14400 | 61% |A:12.500. % +:13.800. H:12.000
JL261 10500 | 72% |/:12,500, :10,700,
JL263 10500 | 72% [A:12.500, £:10.700.
JL265 12,800 | 65% |/:12,500, %:13,400,
JL267 13300 | 64% :12.500, £:14.300,
LE% JL252 11,700 | 68% 10,700
JL254 13400 | 64% :13,000, £ +:13.200. H:11.600
JL256 11,000 |_70% 10,200
JL258 11400 | 69% :11.800, £:11.700. £: :12.400
JL260 12700 | 66% 13,000, £:13,500, 114,700
JL262 12700 | 66% |A:13.000. %:13.500, :14.700
JL264 4500 | 61% | /:13,000, %:14.900, :14,700
JL266 4500 | 61% |A:13.000. %:15.000, £:
R CRE)=MEX B CRE) % | JL623 3,400 69%
JL625 3600 | 69%
JL627 12200 | 72% |JJK:12,000. % £:13.300. H:13,100
JL629 13600 | 69% |X:14.100
JL631 13,600 | 69% [X:14.100
JL633 13100 | 70%
JL637 13100 | 70% |A£H:13.300
JL639 13.100 | 70% [A$H:13.300
AR JL622 20300 | 53%
JL624 20300 | 53%
JL626 20300 | 53%
JL628 20300 | 53%
JL630 20300 | 53%
JL632 20300 | 53%
JL634 20300 | 53%
JL638 20300 | 53%
RECRE)=ER R (F@)F [_JL641 13,600 70% | +:13.800
JL643 13.600 | 70% |+:13.800
JL645 100 | 72% 3,300
JL647 800 | 77% 2.600. H:12.200
JL649 500 | 73% |H#&H:13.100
JL65 100 | 72% |AH:13.300
JL653 12,600 | 73% |B£H:12.800
JL655 12600 | 73% |A%R:12.800
BERBR L 20300 | 56%
JL 20.300 | 56%
L 20300 | 56%
JL 20.300 | 56%
L 20300 | 56%
| JL650 20.300 | 56%
| JLe52 20100 | 56%
JL654 20.100 | 56%




TS5 RBEER(BA19~25ABES) JAL

EE#EMAA : 2019/02/05 ~

8/19-25
FH ISR E
P B8 | mAmR [ TEW
ol EEE sl
RER (5 =2k} EACESES 7 7.500 7:
7 7.500 7
7 7.500 7
7 7.500 7
7 7.500 7
7 7.500 7
S 7 7.500 7
7 7.500 7
7 7.500 7
7 7.500 7 :8.200
7 7.500 7 :8.200
7 7.500 7 900, H:8.200
B2 (P ER) =ALIR (3 T | & 2 (P ) 3 7 18.400 | 58" :22.900, £:22.300. £:20.700. H:16.900
[ 7 11700 | 74% [A:13.300. £:15.000. H:13,500
JL3107 | 7 10000 | 77% |A:11.700. A%:10,500. £:13.400. H:13.500
JI3M15 | 7 8,500 1% |+ H:9,000
JL3117 | 7 7.700 3% | A4:8.500, £ H:9.000
FLIR T8 _JLsi00 | 7 8.300 1% |+ H:8.800
[ JL3106 | 7 9300 | 79% |+H:9.800
JL3110 [ 7 100 | 68% |H:18.200, A:14.600, £:13,000. H:14.900
JL3114 | 7 100 | 68% |H:18.200. A:14.600, £:13.000. H:14.900
JL3116 | 7 400 | 58% 9,000, +:16.300. H:20.600
JL3118 | 7 600 | 67% |B 3:17.900
IR (BT =FH [+ (FFH) H J2803] 7 9800 | 63% |H:9.900, kAK:7.100
| JL2805 | 7 7.100 73%
JL2809 | 7 7.100 73%
EH% | J2804| 7 9.800 63% | H:9.900. kA:7.100
[ JL2806 | 7 7.100 73%
JL2810 | 7 7.100 73%
BE-E5 mm% | JLs621 | 7 000 80% | JK:5.800
[ JL3625 | 7 .800 5500, £:8500. H:5.000
[ JL3629 | 7. 800 500, +:7.200, H:5.000
JL3631 | 7 .000 7.200
[ L3633 | 7. 000
JL3639 | 7 .000
JL3641 | 7 000
B | JL3620 | 7 .000 800, £:8.500
[JL3622 | 7 800 76% 6,800, 18,500
[ JL3626 | 7 800 76% 16,800, +:8.500, H:7.200
[JL3630 | 7 000 80% :7.200
JL3632 | 7 800 76% £ 8:7.200
L3634 | 7 800 76% t H:7.200
JL3642 | 7 800 76% | B X:5.000, £ H:7.200




TS5 RBEER(8A26~31BEES)

EREEAA : 2019/02/05 ~
8/26-31
=R B4 = ISR E
2y |00 sl
RR(CRE) =K () | R CHE) % 7.500 73%
400 | 62%
7 400 | 62%
L 000 | 60%
JL 000 | 60%
L 500 | 62%
JL 500 | 62%
L 9.500 66%
JL 9.500 66%
L 9,500 66%
JL 800 | 57
L131 800 7
JL133 800 7
L137 800 7
JL139 800 7
KER (B % |_JL102 200 | 59%
JL104 800 | 57%
| JL106 800 | 57%
JL 800 | 57%
JL 000 | 60%
JL 000
JU 000 3
JL 000
JU 000 3
JL 000
JL 400 | 62%
| JL128 400 |62
| JL130 000 | 57%
JL134 000 | 57%
JL138 000 | 57%
HRCRE)=kE3 R CRIE) % [_JL565 20.100 59%
| JL567 20100 | 59% 17500
JL569 7.600 | 64% 00, £:20.100. +:16.000
ESCEIES JL562 9.400 60%
| JLS64 9400 | 60%
JL566 7.000 | 65%
B (CRE) =8I R CRIE) % [_JL551 .800 66%
| JL553 300 | 65%
| JL555 800 | 66%
JL557 800 | 66%
FEIIES JL552 800 | 66%
| JL554 300 | 65%
| JL556 000 | 51%
JL558 100 | 70%
AT R CRE) % |_JLs4t 17.400 62%
JL543 21600 | 53%
JL545 17.400 | 62% N
FEES JL540 16.900 | 63% . £:17.600, £:17.500
JL542 20100 | 56% :19.000
JL544 600 | 66% :16.200, £:13.900
ERCAR) =%k BR CRHE) % |_JL573 700 70% :14.900
JL575 800 | 5% :22.900
JL577 800 | 52% :22.900
JL57 700 | 65% -1
ETR3 JL57 15.800 | 65%
JL57. 15200 | 67% 00. 00
JL57 15200 | 67% :16.300. +:16.000
JL57 13.700 | 70%
R CRE) =EfE HR M) # |_JL58S 15.700 58% :17.000
JL587 15300 | 59% 116.200, +:15.200
JL589 17200 | 54% 5.200
E S JL584 15000 | 60% 200, £:14.900
JL586 16300 | 57% 116700, +:14.500
JL588 19300 | 49%
R CRE) =R HR(HE) % [ JL231 10.300 72%
JL233 9.900 73%
JL237 9.900 73%
JL239 12100 | 67%
JL241 13700 | 62%
[EIES JL232 9.900 73%
JL234 12400 | 66%
JL236 9.900 73%
JL240 12,600 | 65%
JL242 3600 | 62%
RRCAB)=ES R (AE) % [ JL253 10,300 72%
JL255 4300 | 61%
JL257 14300 | 61%
JL259 3800 | 63%
JL261 10500 | 72%
JL263 0500 | 72% |£:11.000. £:11.80
JL265 12,800 | 65% 13,300, %:11.50
JL267 13300 | 64% |£:13.800. F:12.00
LE% JL252 11,700 | 68% 1,300
JL254 13200 | 64% :13.400, £:12.800
JL256 11,000 | 70% JKA:10.300
JL258 10300 | 72% |H:11.400. %:11.000, £:12.300
JL260 12300 | 67% |A:12,700. £:13,90
JL262 2300 | 67% |A:12.700. %:13.90
JL264 14100 | 62% |A:14,500, £:14,300. £:12,300
JL266 4500 | 61% 115.200, 112,80
R CRE) =} BN CPHE) % |_JL623 12,900 70%
JL625 13100 | 70% & +:13.300
JL627 12200 | 72% 12,000, £ 1:13,300
JL629 13100 | 70% 13.300
JL631 13,100 | 70% 13,300
JL633 2600 | 71% 12.800
JL637 12,800 | 71% &:12,600
JL639 3600 | 69% 800
AR JL622 13,600 | 69% 13,800
JL624 3600 | 69% 13.800
JL626 13600 | 69%
JL628 2600 | 71% |A:13.600. 7K:12.000. %:13.100
JL630 13600 | 69% |X:14.100
JL632 3600 | 69%
JL634 13600 | 69%
JL638 3600 | 69%
RECRE)=ER R (F@)F [_JL641 12,600 73% | AK£1:12.800
JL643 2600 | 73% |A%+:12.800
JL645 12800 | 72% |JJK:12.600
JL647 0800 | 77% :12.500
JL649 10800 | 77%
JL651 2000 | 74% |H%:12.200
JL653 600 | 73% 800
JL655 600 | 73% |B 800
BERBR | _JL640 400 | 73% |4 600
JL642 600 | 73% 800
JL644 12600 | 73% £:12.800
JL646 13100 | 72% :13.300
JL648 10,800 77% [A:14.100, Kk +:12,600, %:13.600
JL650 13.100 | 72% |A%:13.300
JL652 13100 | 72% [£:13.300
JL654 13100 | 72% |£:13.300
PN AC ] KIR (G771 3 |_JL2431 7.500 74% _|%:1.100, £:8.200
JL2433 7.500 74% _|%:7.100, +:8.200
JL2437 7.500 74% |£:7.100, £:7.900
JL3925 7.500 74%
JL2441 7.500 74% 7.900
JL2443 7.500 74% _|%:7.100, £:7.900
S L 7,500 7 7,100, £:7.900
L. 7 7.500 7
L 7 7.500 7
L. 7 7.500 7
L3926 | 7 7.500 7
L2442 | 7 7.500 7

JAL



TS5 RBEER(8A26~31BEES) JAL

EE#EMAA : 2019/02/05 ~

8/26-31
e ISR
B B8 | mAmR [ TEW
T8 | mziE %
B (P ED) =ALIR (3 T ] & 2 (P ) 3 7 18400 | 58% |%:23.100. £:22.800
[ 7 11,700 | 74% [2:11,200, +:14200
7 10.000 7
7 8.500 :9,000
7 7.700 200, 1:8.600
ALIR (37 F8%) 54 7 8,300 ,800
| J 7 9.300 .800
7 100 i 600, #:15,800, 1:14,700
L. 7 .100 A:14.600. £:15.800. 1:14.700
L. 7 ,400 Z:19.000,
L. 7 .600 67% |£:14.000. A
AR FTB AR |AB G TR R J2803| 7 9600 | 634 [AcA:7.100. &,
| JL2805 7 7.100 :6.500
L2809 7 7.100 .500
EHR | JL2804 7 9.800 K:7.100, £:8.900. 1:8.700
| JL2806 7 7.100 ,500
L2810 7 7.100 .500




TS %BIEER(TA12~15BBES) JAL

EE#EMAA : 2019/02/05 ~

7/12 7/13 7/14 7/15
=40 B4 T [T B[INSEBINSEB|INISES

TR CAE) =K (7 | B CHE) % 8500 | 0500 | 8300 300

400 100 9.400 400

7 .400 100 | 9.400 .400

L 1400 100 9.400 400

JL 800 700 | 9.400 400
L 800
JL .300
L .900
JL .900
L .900
JL 300
L131 300
JL133 300
L137 400
JL139 .200
KB (5 % |_JL102 .900
JL104 .300

[ JLi06 300 9 o,

JL .300
JL .900
JL .900
JL 400
JL .400
JL 400
JL .000
JL 100
| JL128 .400
[ JL130 1400
JL134 1400
JL138 000
BRCRE)=k&5 BN (CPE) % |_JL565 4.900
[ JL567 4,900
JL569 26,000
ESCEIES JL562 23.100
| JLS64 23.100
JL566 22,900
R CRE) =R BN CRE) % |_JL551 28.700
| JL553 9,700
| JL555 4500
JL557 4,500
FEIIES JL552 1.000
[ JL554 1,600
| JL556 7.600
JL558 4,700
HR CHE) =S HR CRIE) % [_JL541 22.700
JL543 7.300
JL545 3.700
FEES JL540 1.000
JL542 4,000
JL544 1.300
HECRB)=HIE R (FE) [ JL573 22,900
JL575 1.000
JL577 1,000
JL57 3,700
ETR3 JL57 .000
JL57. 100
JL57 .700
JL57 .700
R CRE) =EfE R (FE) % [ JL585 4.400
JL587 1.100
JL589 1.800
E S JL584 5.900
JL586 8.800
JL588 20.200
ER(CRE)=K5 BN CRE) % |_JL661 .000
JL663 .700
JL665 .700
JL667 200
JL669 800
JL671 26.700
RH% JL662 2.200
JL664 2.200
JL668 2,000
JL670 2.000
JL672 4,100
JL674 3.800
HECRB)=R& BR (CPIE) % |_JL605 3,800
JL607 4.300
JL609 4,200
JL6T1 4.200
JL613 4,300
JL615 4.300
W% JL606 3,200
JL608 3.200
JL610 2,800
JL612 4.200
JL614 4,200
JL616 4.300
R CRE)=REX BR CPHE) % |_JL623 3400
JL625 3.800
JL627 4,200
JL629 3.800
JL631 3,800
JL633 4.200
JL637 4,300
JL639 4.300
AR JL622 3,800
JL624 3.800
JL626 3,800
JL628 4,000
JL630 13.300
JL632 13.800
JL634 13,800
JL638 26.700
R (PE)=Z& R CHE) % |_JL687 12.800
JL689 12.800
JL691 13.300
JL693 13.800
JL695 14,300
JL697 13.800
S JL688 13,300
JL690 12.000
JL692 13,100
JL694 13.300
JL696 14,200
JL698 13.800
RECRE)=ER R (F@)F [_JL641 13,800
JL643 13.800
JL645 13.300
JL647 14.500
JL649 13.300
JL651 13.300
JL653 14,200
JL655 14.200
BERBR | _JL640 13,600
JL642 13.300
JL644 13.300
JL646 13.100
L648 13.700
|_JL650 13.700
| JLe52 14,300
JL654 26.700




TS %BIEER(TA12~15BBES)

EEERE  2019/02/05 ~
7/12 7/13 7/14 /15
FH (Y5 EB| ISR E|[ IS KB YILFSES]
=40 B4
BAUR | gmm | mnm | Emm | e
B (P ED) =ALIR (3 T ] & 2 (P ) 3 7 27.800
[ J 7 23,000
7 16.500
7 19.100
7 18.100
ALIR (37 F %) %4 _JL3100 [ 7 9.100
| JL3106 | 7 100
L3110 7 ,500
L3114 7 .000
18 7 ,900

JAL



YLNSERIEER(BAIBERS) AL

EE#EMAA : 2019/02/05 ~

8/1
=40 B4 FH " YISERE
B
RR(CRE) =K () | R CHE) % 01 .900
03 900
.900
L ,100
JL 100
L ,400
JL 400
L ,400
JL 400
L ,400
JL 400
L ,400
JL 100
L ,100
JL139 100
KB (5 % |_JL102 400
JL104 400
[ JL106 400
JL 400
JL ,300
JL 300
JL ,300
JL 300
JL 400
JL 400
JL 400
[ JLi2s 400
[ JL130 ,400
JL134 400
JL138 400
BRCRE)=k&5 B CRHE) % [_JL565 28.700
| JL567 28,700
JL569 22,000
ESCEIES JL562 23,000
[ JL564 23,000
JL566 21,300
EEAC R TS RRERCPE) R | JL 26.800
JL! 31,400
JL 23.800
ElEES JL 25,400
JL 30.900
JL544 24,400
RECRB)=HIA FRCHE) & |_JL573 28,600
JL575 29,100
JL577 29.100
JL57 26.900
ETR3 JL57 25.600
JL5T 25,000
JL57 25.000
JL57 23.400
R CRE)=RER FHRCHE) & |_JL623 .400
JL625 600
JL627 600
JL629 800
JL631 5.800
JL633 6.300
JL637 5.200
JL639 5.800
AR JL622 3.000
JL624 4.100
JL626 700
JL628 700
JL 000
JL 200
JL 200
JL 4.600
(B & (P& =ALIR (BT 5 2 (P ) 3 _JL3103 1.900
[JL3105 0.800
JL3107 0.500
JL3115 9.400
JL3117 8.200
FLI% (BT F#%) $§_JL3100 9.100
JL3106 10,100
JL3110 20.900
JL3114 20,900
JL3116 25,700
JL3118 9,800
IR FR) =8  [FLIR (FFm) F§_JL2803 9.900
JL2805 7.100
JL2809 7.100
EHR JL2804 9,900
JL2806 7.100
JL2810 7,100




EREAE

2019/02/05 ~

=40]

FH
AR

8/9

ILES %R

ERE

RECRE) =R

RRERCPE) R | JL

33.700

33.700

33.700

33.700

JENTES

26.000

25,800

32.200

26.200

RECRB)=HIA

RRECRE)#

33.700

33.700

33.700

33.700

.900

600

.600

vy Y S Sy ) ) ) ) ) ) ] ] Y B )

,200

YLNSERIEER(BAIBERS)

JAL



EREAR
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TS5 RBEER(BAI1I~ISARES)

=40]

B

8/13

8/14

8/15

8/16

8/17

8/18

ILES %R

IS 5AE

DILES %R

LSRG

IS KR

LSRG

ERE

ERE

ERE

R CRE) =XIR (#F)

RRECRE)#

01

03

9.900
00
00

KR (B F|_J

S[R|S|S[S[eS]|=

olo

RECRR)=R&

RERPE)R | J

P O P P P P P A A A A

RIEF

R CRE)=RER

RERPE)R | J

BAR

JAL



TN RFIEER(OA2~12BEES)

EREEAA : 2019/02/05 ~
9/2-12
=R B4 — ISR E
S Gl
R | sz il
RR(CRE) =K () | R CHE) % 7.300
,400
7 400
L 800
JL 800
L ,300
JL 300
L 9.300
JL 9.300
L 9.300
JL 500
L131 .500
JL133 500
L137 .500
JL139 500
KB (5 % |_JL102 .000
JL104 500
[ JLi06 500
JL 500
JL ,.800
JL .800
JL ,800
JL .800
JL ,800
JL 800
JL ,200
| JL128 .200
[ JL130 ,700
JL134 .700
JL138 700
RECRE) =R (B Fi%)| RR(FE) % [_JL501 .300
[ JL503 .300
| JL505 .900
| _JL507 .500
| JL509 500
JL511 000 A
JL513 .700 E:17,
JL515 ,000 65% +:14.500, H:14.40(
JL517 500 7
JL519 .500 7%
|_JL521 500 7
| JL523 500 7%
| JL525 600 | 66
| JLs27 400 | 62% |/ 2,700, H:14.500
JL529 14400 | 62% |9 2700, B:14.500
JL531 13.000 | 65% |2 1.500. H:14.000
JL599 14900 | 60%
4LI% (37 F %) |_JL500 13.500 | 64% . %:14,000. +:14.500. H:12.500
JL502 400 | 62% . %:14.900. £:15.000. H:13.000
JL504 500 | 64%
JL506 .500 | 64%
JL508 000 | 65%
JLS 12.500 67%
JL5 14400 | 62%
JL5 14900 | 60%
JL5 14900 | 60%
JL518 15.100 | 60%
JL520 15100 | 60%
JL522 15.100 | 60%
JL524 14900 | 60%
JL526 700 | 63%
JL528 000 | 68%
JL530 000 | 71%
JL598 300 | 62%
HRCRE)=k#&5 BN CPIE) % |_JL565 15.500 66%
JL567 15500 | 66%
JL569 14900 | 68%
LiwHFE | JL562 14900 | 68%
JL564 14900 | 68%
JL566 13.000 | 72% :11.300, H:14.400
HECRE) =R RECPE)H |_JL551 16.700 62% :17.400
JL553 17.800 | 60% 20,800, H:18,500
JL555 15,500 65% |J 17,300
JL557 15500 | 65% |2 %:16.000, H:17.300
JEIIES JL552 14300 | 68% [ :14,900, +:15,500, H:14,400
JL554 13.900 | 69% |XJK:13.400. H:14.900
JL556 12,900 71% | :KJK:12,400, H:13,900
JL558 12.200 | 72% |4
HR CHE) =S TR CFE) % [_JLs41 14400 [ 67% [J
JL543 7.000 | 61% :19.100, H:15.900
JL545 14,400 67% 114,900, H:16,500
EEES JL540 5500 | 64% £:16.000
JL542 15,700 64% :15,900
JL544 12.800 | 71% 113400, 1:12.900. H:14.400
HECRB)=HIE B (PE) & [_JL673 12,600 71% H:12,900, £:13,900
JL575 7700 | 59% :18.200, H:17.300
JL577 17,700 59% 8,700, 1:18,200, H:17,300
JL57 4400 | 67% |XJK:13.900. %:14.900. H:15.500
R JL5T! 14,400 67% |:XkJK:13,900, £:14,900, £:15,500
JL57. 4900 | 65% |JJK:14.400. H:16.000
JL574 14,900 65% |J 14,400, H:16,000
JL576 2900 | 70% |XJK:12.400. H:13.900
R CRE) =BfE B (PE) & [_JL685 13,800 61% [£:14,900, £:16,000, H:13,900
JL587 3400 | 62% 600 %:14.200, £:14.600, H:14.400
JL589 15,100 57% 6.800, +:14,600, H:16,600
WER JL584 3400 | 62% 112,900, %:13.600. £:
JL586 14,900 58% 14,400, £:14,700,
JL588 17100 | 51% |£:15.800. +:13400. H:18.500
HECRBR) = HR(PE) % |_JL453 10,000 70% 9,400
JL455 400
JL457 9,400 0,000, £:9,600
JL459 9.400 0,000, +:9.600
JL461 10,000 9,600
JL463 0.000 9.600
JL465 10,000 10,500, £ H:9.600
e JL452 0.000 10.200
JL454 10,000
JL456 0.000
JL458 10,000
JL460 0.000
JL462 ,000
JL464 000
R CRE)=MEX R CRME) % [_JL623 ,900 69% |<:13900, 1:14.100, H:13400
JL625 100 | 68% |&+:14.100. H:13.600
JL627 ,200 70% | k7K:12,000. 13,300, £ H:13,100
JL629 100 | 68% | H:13.900. X:12.600, % H:13.600. £:14.100
JL631 900 | 69% | 12,600, K:12.700, % H:13,600. +:13,800
JL633 100 | 68% 12,600, X JK:12.000
JL637 12,600 69% |8:14.100, 7K:13,100, £ H:13,300, +:12,800
JL639 14100 | 66% | 12,600, kE:13.100, £:13.600. H:14.300
JL622 13,100 68% | F:12,800, £:13,200, 1:13,800
JL624 3300 | 68% |XUK:13.600. %:13.800. £:14.100
JL626 13,300 68% 113,600, £:14.100
JL628 2600 | 69% | HH:13.600. 7K:12,000, %:13.100
JL630 13,600 67% A 14,100, K:12,800, A:12,200
JL632 13100 | 68% |H%:14.100. A:13.600. H:13.800
JL634 13,100 68% F£:14,100, K:13,600, H:13.800
JL638 100 | 66% | X7K:13.600

JAL



TN RFIEER(OA2~12BEES)

EREEAA : 2019/02/05 ~
9/2-12
FH ISR E
B B2 | wamm o TEEE
EEE B51% %5
RRCAB)-ERS | RmCHE) S| _Jedl | 7 9100 | 79% |£:10.600
L643 | 7 600 | 73% |+:12.600
JL645 | 7 100 | 75% [A%:12.100. £:13.100
L647 7 ,600 76%
9 7 600 | 76%
1 7 100 7%
3 | 7 600 78% | %:10.600. H:11.600
5| 7 600 78% | %:10,600. H:11.600
BRBRE | _Ju 7 200 79% [ £:10.200
L 7 10600 | 76%
JL 7 9.600 78%
L 7 100 | 77% |H:11.100
L 7 600 | 73% [“kK:10.800, H:13.600
7 .600 | 76% |%:12,600, H:13.600
7 100 | 72% [:10.800. /K:12.000. %:14.100. H:13.700
7 100 |_77% |£H:13.100
B (88 LI (BT T35 & 2 (P B 34 7 400 | 58% |%:21.300. +:20.000. H:16.300
[ JL 7 0.500 2,500, H:12,600
JL3i07 | 7 800 700, £:10.100. E:11.300. H:10.400
JL3115 7 ,500 1 8:9.000
JL3i7 | 7 .900 %:7.300. 8,500, H:8.400
FLIR (B F8%) 5_JL3100 | 7 500 A #:8.300, T H:8.800
[uLsios | 7 800 77% | H%:9.300
JL3110 7 14,200 66% | A:14,700, £:13,300, H:15.300
J3iia | 7 14200 | 66% |A:14.700. E:13.300. H:15.300
JL3118 7 400 78% 900, H:16.000
ERE== 5 mEmF% [ JLs62l | 7 .000 7% K:5.600
[ JL3625 | 7: 500 71% | H:5.600
[UL3629 | 7 600 75% 5,000
| JL3631 7 ,000 7% 06,200
JL3633 | 7 .000 77
L3639 | 7 000 7%
JL3641 | 7 .000 77
=A% | JL3620 | 7 600 75%
[ULs622 | 7 600 75%
L3626 | 7 600 75%
JL3630 | 7 .000 7%
L3632 | 7 600 75%
JL3634 | 7 600 75%
JL3642 7 700 74%

JAL



TS5 RBIEER(OA1T~30BEES)

EREEAA : 2019/02/05 ~
9/17-19,9/24-30
=R B4 — ISR E
S Gl
R | sz il
R (RE)-AR(BFR) | RRCHE) % 7300 | 71% |
400 | 59%
7 400 | 59%
L 800 | 57%
JL 800 | 57%
L 300 | 59%
JL 300 | 59%
L 9.300 63%
JL 9.300 63%
L 9,300 63%
JL 500
L131 500
JL133 500
L137 500
JL139 500
KR (5 5 |_JL102 .700 b X
JL104 300 1 1,400, £:9.500. H:9.700
[ JLi06 300 1% 1,400, £:9.500, H:9.700
JL 300 1 1.400. £:9.500. H:9.700
JL 400 | 55%
JL .900 61%
JL 600 62%
JL 600 62%
JL 600 62%
JL .700 62%
JL .900 61% 600, H:10.900
| JL128 900 61 600, H:10.900
[ JL130 100 | 52% 3:11.500
JL134 800 | 53 11,500
JL138 800 | 53% 2.400
B CRE) =FLI% (37 F )| B CRE) % [_JL501 .300 70%
[ JL503 L300 | 70%
| JL505 900 | 63% 100
[ JLs07 500 | 56% 000
| JL509 500 | 56%
JL511 000 | 57%
JL513 700 | 63%
JL515 000 | 65%
JL517 500 7
JL519 500 7%
|_JL521 500 7
[ Ji523 500 7%
| JL525 600 | 66
| JLs27 400 | 62% 2,700, H:14.600
JL529 14400 | 62% 2700, B:14.600
JL531 13.000 | 65% 1.500. H:14.100
JL599 14900 | 60% |H:14.100
4LI% (37 F %) |_JL500 13.500 4% | XK:13.400. %:14,000, £:14.500. H:12.500
JL502 .900 3 :14.500. A:14.400. %:14.900. %:15.000. H:13.000
JL504 500 4 14,000, H:13,000
JL506 .500 | 64
JL508 000 | 65%
JL5 12500 | 67%
JL5 14400 | 62%
JL5 14900 | 60%
JL5 14900 | 60%
JL518 15.100 | 60%
JL520 15100 | 60%
JL522 15.100 | 60%
JL524 14900 | 60%
JL526 700 | 63%
JL528 000 | 68%
JL530 000 | 71%
JL598 300 | 62%
HRCRE)=k#&5 BN CPIE) % |_JL565 15.500 66%
JL567 15500 | 66%
JL569 14900 | 68%
LiwHFE | JL562 14900 | 68%
JL564 14900 | 68%
JL566 13.000 | 72% :11.300, B:15.500
HECRE) =R RECPE)H |_JL551 16.700 62% :18.200
JL553 17.800 | 60% £:20.800, H:21,000
JL555 15500 | 65% :18,500
JL557 15500 | 65% 8.200
JEIIES JL552 15500 | 65% 4,900
JL554 13.900 | 69% 3:16.000
JL556 12,900 | 71%
JL558 12.200 | 72%
HR CHE) =S TR CFE) % [_JLs41 14400 [ 67%
JL543 17.000 | 61%
JL545 14400 | 67% :14,900, H:17.500
EEES JL540 14900 | 66% 115,500, % +:16.000. H:16.200
JL542 15700 | 64% |2
JL544 12400 | 72% [A: :12.900, H:14.600
HECRB)=HIE B (PE) & [_JL673 12,400 7% | A: :13,90¢
JL575 17700 | 59% |A: 8.600
JL577 17,700 | 59% |7 8,600
JL57 13900 | 68% [H:15. £:14.400, %:14.900. H:16.500
BILE JL57 14400 | 67% |AJK:13.900, %:14.900, F H:15,500
JL57. 14900 | 65% Xt
JL574 14900 | 65% |t
JL576 12.900 | 70% |XJK:12.400. H:14.900
R CRE) =BfE B (PE) & [_JL685 13,800 61% [£:14,900, £:16,000, H:14,500
JL587 13400 | 62% 600 %:14.200, £:14.600, H:15.000
JL589 15100 | 57% 6,800, +:14,600, H:17,200
WER JL584 13400 | 62% |XJK:12.900. %:13,600. £:13.700. H:14.000
JL586 14900 | 58% |XAJK:14,400. $:14,700, +:13.900, H:17,000
JL588 17100 | 51% |£:15.800. £:13400. H:19.200
HECRBR) = HR(PE) % |_JL453 10,000 70% 9,400
JL455 10.000 400
JL457 9,400 0,000, £:9,700
JL459 9.400 110000, 1:9.700
JL461 10,000 9,700
JL463 10.000 9.700
JL465 10,000 10,500, £ H:9.700
e JL452 10.000 10.200
JL454 10,000
JL456 10.000
JL458 10,000
JL460 10.000
JL462 ,000
JL464 000
R (PE) A RE (PE) % |_JL623 900 | 69% | J:12.400. %:13,900, T H:13.400
JL625 100 | 68% |X:12.800. %:14.100, + H:13.600
JL627 200 | 70% | k:13,600. 7k:12.000, £:13.300. £ H:13.100
JL629 100 | 68% | H:13.900. %:13.700, £ H:13.600. £:14.100
JL631 900 | 69% [:13700, 7K:12,700. £ H:13,600. F:13,800
JL633 100 | 68% | HH:12.600. %:13.600, /K:12.000
JL637 13100 | 68% |H:14.100. 7:12,600, £ H:13.300, £:12.800
JL639 13100 | 68% |H%:14.100. :13.600. H:14.300
JL622 13,100 68% | H:12,800, X:13,600, £:13,200, £:13.800
JL624 3300 | 68% |JUK:13.600. %:13.800. £:14.100
JL626 13300 | 68% |JK%:13,600, £:14.100
JL628 3600 | 67% |/K:12.000. A+:12.600. £:13.100
JL630 13600 | 67% 14,100, :13,700, :12.200
JL632 14100 | 66% |X:13.700. 7k£:13.100, A:13.600. H:13.800
JL634 14100 [ 66% |A:13.700. k+£:13,100, A:13.600. H:13.800
JL638 100 | 66% | &K:13.600

JAL



TS5 RBIEER(OA1T~30BEES)

EREEAA : 2019/02/05 ~
9/17-19,9/24-30
FH ISR E
B BE | AR [ TR
T8 | mzi= %
RR(PH)-ERE | RR(AE) R [ _Jedl | 7 9.100 79% | 210,800, £:10.600
L643 | 7 600 | 73% [%:10.800. +:12.600
JL645 | 7 100 | 75% [#:10.800. A%:12.100. £:13.100
L647 | 7 600 | 76% | 2:12.500
9 7 600 | 76% [4:10.800
1 7 100 7% K:12,200
3 | 7 600 78% | 2:12.200. %:10.600. H:11.600
5| 7 600 78% | X:12,00, %:10,600, H:11,600
BRBE | UL 7 200 79% [ 2:13.100. +:10.200
L 7 10600 | 76% | %:13.300
JL 7 9.600 78% | J:13.300
L 7 100 | 77% [ %:13.100. H:11.100
L 7 600 | 73% [“H:13.600. £:10.800
7 600 | 76% [ 112,600
7 100 | 72% [ 2.000. £:14.100. H:13.700
7 100 | 77% [k 3:13,100
B 2 (D) =ALIR (37 7 | & i 2 (P ) 34 7 :400 58% | 0,000, H:18.900
[ JL 7 3.700 67%
JL3i07 | 7 8.800 79%
JL3115 7 7.900 81%
JL3i7 | 7 6.000 | 86%
LR (BT ) 3 JL3100 | 7 7900 | B8i%
[uLsios | 7 8.800 79% 300, %:7.600
JL3110 7 17.400 58% 8,000, +:16.300, H:21,500
J3iia | 7 17400 | 58% |A.:18.000. E:16.300. H:21.500
JL3118 7 ,500 80% 000, H:13.400
ERE== 5 mEmF% [ JLs62l | 7 .000 7% K:5.600
[ JL3625 | 7: 500 71% | H:5.600
[UL3629 | 7 600 75% 5,000
| JL3631 7 ,000 7% 06,200
JL3633 | 7 .000 77
L3639 | 7 000 7%
JL3641 | 7 .000 77
=A% | JL3620 | 7 600 75%
[ULs622 | 7 600 75%
[JC3626 | 7 600 75%
JL3630 | 7 .000 7%
[JC3632 | 7 600 75%
JL3634 | 7 600 75% A2
JL3642 7 700 74% A 45,000,

JAL



TS5 RBEER(I0A1~10BEES) JAL

EE#EMAA : 2019/02/05 ~

10/1-10
=R B4 — TIVESRF
R | sz il
RR(CRE) =K () | R CHE) % 7.300
,400
7 400
L 800
JL 800
L ,300
JL 300
L 9.300
JL 9.300
L 9.300
JL 500
L131 .500
JL133 500
L137 .500
JL139 500
KB (5 % |_JL102 .000
JL104 500
[ JLi06 500
JL 500
JL ,.800
JL .800
JL ,800
JL .800
JL ,800
JL 800
JL ,200
| JL128 .200
[ JL130 ,700
JL134 .700
JL138 700
B CRIE) =FLI% (37 F#%)| B CRE) % [_JL593 9.400
[ JLs01 .300
| JL503 300
| JL505 ,900
|_JL507 500
JL509 500
JL511 500 00
JL513 700 ,000. +:17.500. H:13.400
JL515 .000
JL517 .500
| JL519 500
| _JL521 .500
| JL523 500
| JL525 600
JL527 13.900
JL529 13,900
JL531 .900
JL599 400
FLIR (3 T 3% 3_JL500 500 | 61% _£:14.600. H:12.500
JL502 900 | 58% . B:13,000
JL594 15.900 | 58% . H:13.000
JL504 14700 | 61% . £:14,600. A:13.300
JL506 13700 | 63%
JL508 13000 | 65%
JLS 12.500 67%
JL5 14400 | 62%
JL5 900 | 60%
JL5 900 | 60%
JL518 500 1
JL520 500
JL522 500
JL524 500
JL526 500
JL528 000 |68
JL530 000 | 71%
JL598 900 | 66%
R CHE)-ZB% | BR ()3 |_JL565 14900 | 68% .000. B:14.200
JL567 14900 | 68% 000, H:14.200
JL569 14400 | 69% .300. B:15.100
LiwHFE | JL562 14400 | 69% 114, X .
JL564 14400 | 69% [A:1a. 114, :14.000, B:15.500
JL566 12.900 | 72% 13 2,800, H:13.900
= CRE) =M.l HECPE)H |_JL551 13,900 69% 14,900
JL553 15500 | 65% 6.500, H:15.300
JL555 14,900 66% :14,500, +:12,900, H:14,100
JL557 14900 | 66% 4,500, +:12.900. H:14.100
pENIE 3 JL552 13,700 69% |k 4,000, H:13,500
JL554 13400 | 70% |A: 00. +:12.800, H:14.400
JL556 12,400 2% A:12,900, H:13,400
JL558 12.200 | 72% |H:12.100, & £:12.400. H:13.400
R CRE) =8I FHRCHM) # |_JL541 13,900 68% |5 :14,400, +:14,200, H:12,500
JL543 16900 | 61% | 115,500, +:15.600. H:12.400
JL545 12,300 2% K:15,500, £:12,400, H:13,400
EEES JL540 15500 | 64% :12.500, H:12.300
JL542 15,600 64% t:13.200.
JL544 12.300 | 72% :12.600
RRCRB)=HIE HRE M) |_JL573 12,400 1% 2,200
JL575 16200 | 62% 3100, H:12.200
JL577 16,200 62% 3,100, H:12,200
JL57 14900 | 65% t:12.200. B:15.800
ETR 3 JL5T! 13,900 68%
JL57. 14400 | 67%
JL574 14,400 67%
JL576 12.200 | 72%
R CRE) =BiE HR(PE) % |_JL585 13,300 62%
JL587 12.900 | 63%
JL589 14,600 59%
EES JL584 12.900 | 63%
JL586 14,400 59% ,600, H:15,500
JL588 16.600 | 53% £:12.100. H:17.200
HECRB) =8 FHR(FAE)F [ JL453 10,000 70%
JL455 10000 | 70% ¢
JL457 9,400 2%
JL459 9.400 72%
JL461 10,000 70%
JL463 10000 | 70%
JL465 10,000 70% |#£:10,500, H:10,300
Bme%x JL452 10.000 70% | +:10.400
JL454 10,000 70%
JL456 10000 | 70%
JL458 10,000 70%
JL460 10000 | 70%
JL462 ,000 70%
JL464 .000 | 70%
EAC RS R (FM) % |_JL623 900 69% £:13,600, H:13,400
JL625 100 | 68% 14,100, £:13.800, H:13.600
JL627 12,800 69% 112,600, %:14,000, + H:13,800
JL629 14100 | 66% A:13.100. % H:13.800
JL631 13,100 68%
JL633 12200 | 70%
JL637 12,800 69%
JL639 13100 | 68%
REARZ JL622 13,100 68%
JL624 13300 | 68%
JL626 13,300 68%
JL628 13700 | 67%
JL630 13,600 67%
JL632 14100 | 66%
JL634 14,100 66% |:A:13,300, 7k+:13.100, A:13.600, H:13,800
JL638 14100 | 66% | JJK:13.600




TS5 RBEER(I0A1~10BEES)

EEMAE - 2019/02/05 ~
10/1-10
e SLFSRE
B B | mamm - TEEm
mru | 2R2 [
HR(PH)-ERS FRECRE) % [ JL641 7 9.100 79% 10.600
L643 7 .600 73% 12,200, £:12,600. £:13.300
JL645 7 .100 75% |4 £:12.100, £:13.100
L647 7 100 75% .200, %:12,100
9 7 .100 75% | :kIKA:10.800
1 7 ,600 78%
3 7 .600 78% 600, H:12.600
5 7 ,600 78% 2,600
BEREHE JL 7 .200 79% :10.100, £:11.100
Lf 7 10.600 76%
JL 7 9.600 78%
Lf 7 .100 7% .100
Lf 7 .600 3% .800, H:13.600
7 .600 76% ,600, H:13.600
7 .100 72% |:Xk:10.800, 7k:12,000, #:14.200, H:13.800
7 .100 7% 13,100
ZEE([F%):*LW(%:FQ%EE([FH)ﬁ 7 400 58% :16.400, £:20.200, +:19.300, H:15.600
[ JL 7 1,200 73% H:10.300, 1:12,400, H:12,700
JL3107 7 .800 7% F:9.700. X:10.300, £:10.100, +:10.200. H:10.400
JL3115 7 ,500 80% + H:9.000
JL3117 7 .900 84% | k% +:7.300. H:8.400
FLIR (37 F %) #_JL3100 7 ,500 000. #::8.300. + H:8.800
| JL3106 7 .800 600, £:9.300
JL3110 7 13.800 14,700, AH:15.200, £:13,100
JL3114 7 13.800 14,700, K H:15.200, +:13.100
JL3118 7 ,500
== BEE  [Joeel | 7 600
3625 | 7 500
| JL3629 7 .600
[JLae3i | 7 000
JL3633 7 .000
03639 | 7 000
JL3641 7 .000
= | JL3620 7 ,600
| JL3622 7 .600
03626 | 7 600
JL3630 7 .000
03632 | 7 600
JL3634 7 .600
JL3642 7 ,700 74% B X:5,000,

JAL



IS5 RB I EER(10A15~26BEED)

EREEAA : 2019/02/05 ~
10/15-17,10/23-26
=R B4 — ISR E
S Gl
R | sz il
R (RE)-AR(BFR) | RRCHE) % 7300 | 71% |
,400 59%
7 400 | 50%
L 800 57% £:10.400
JL 800 | 57% £:10.700
L ,300 59% e +:10,700
JL 300 | 50% 110200, £:9.300
L 9.300 63%
JL 9.300 63%
L 9.300 63%
JL 500
L131 .500
JL133 500
L137 .500
JL139 500 :
KER (B % |_JL102 000 | 56% [&:
JL104 500 E:
[ JLi06 500 % |£:10.600.
JL 500 ?:10.600. +:8.800
JL 800 »_[£:9.800. £:8800
JL 800
JL ,800
JL 800
JL ,800
JL 800
JL ,200
[ JLi2s 200
[ JL130 ,700
JL134 700
JL138 700
B CRIE) =FLI% (37 F#%)| B CRE) % [_JL593 8,900
[ JLs01 .800
[ JL503 800 _E:12.700
| JL505 ,900 0
[ JL507 500
JL509 500
JLS11 500
JL513 .200
JL515 500
JL517 .500
[ JL519 000
[ JLs21 200 }
[ JL523 200 | 67% |%:14.100, £:12.300
[ JL525 000 | 68% | JJK:12.400. A:12,500. %:14.600
JL527 700 | 69% | %JK:13.400. A:13.700. %:19.300
JL529 700 | 69% | JJk:13.400. A:13.700. %:18.800
JL531 000 | 68% |%:14.400. £:10.500
JL599 400 | 62%
FLIR (37 T 2%) 3__JL500 .500 | 64% |%:14.000. £:14.500
JL502 500 | 59% 5.600
JL594 500 | 59% 600
JL504 500 | 61% 900, F:14.600
JL506 500 | _64% [£:14.000
JL508 000 | 65% |%:13.500
JL5 12500 | 67% .00, £:13.40
JL5 14400 | 62%
JL5 900 | 60%
JL5 000 | 63%
JL518 500 |_67%
JL520 500 | _69%
JL522 1500 |_69%
JL524 500 | _69%
JL526 500 | 69%
JL528 .800 | 71%
JL530 9.800 4%
JL598 12.900 | 66%
KR (51 =18/ RIR (£53) % |_JL2051 7.100 1%
JL2053 900 4% %9200
JL2057 000 £+£9.200
JL2061 000 3
EERE JL2050 .000 ££9.200
JL2056 100 %
JL2058 7.100 1%
JL2060 7.100 7%
BERCAB)=%#HA | ®R(FE) % [_JL565 14,400 69%
JL567 4400 | 69%
JL569 13,900 70% . 1:14,400
ZwI%E | JL562 3900 | 70%
JL564 13,900 70%
JL566 2400 | 73%
HECRE) =R BN (CPIE) % |_JL551 13,400 70%
JL553 4600 | 67% £:16,500
JL555 12,800 1% . +:12,900
JL557 2800 | 71% . £:12.900
pENIE 3 JL552 13,700 69%
JL554 12800 | 71%
JL556 11,800 73%
JL558 11600 | 74% |%:12.400, £:12.100
EEAC I N WE CRIE) % [_JL573 11,800 73% 2,400, £:13,400
JL575 12800 | 70% |XJK:12.900. %:13.600. £:13.100
JL577 12,800 70% XK:12,900, £:13.600, £:13.100
JL57 12200 | 72% |7K:12.500. %:13.500
ETR 3 JL5T! 13,400 69% |A:13,700, £:14,400, 1:14,900
JL5T 12300 | 71% | AJK:12.400. %:13.900. F:13.800
JL574 12,300 T1% p 113,900, £:13,800
JL576 11400 | 74% .900
= (FIE)-HE B CFIE) % |_JL5685 12,500 64% +15,500
JL587 12100 | 66% 112,900, £:13.300
JL589 13,800 61% 13,300
WER JL584 12400 | 65% :12.800. £:13.800
JL586 13,900 61%
JL588 15800 | 55% |£:14.400.
HECRB) =8 FHR(FE)F [ JL453 10,000 70%
JL455 10000 | 70%
JL457 9,400 72% |£:10,000, £:9,800
JL459 9.400 72% | %:10.000. +:9.800
JL461 10,000 70% +:9.800
JL463 10000 | 70% 700
JL465 10,000 70% 10,800, £:9,700
Bme%x JL452 10.000 70% 10.200
JL454 10,000 70%
JL456 10000 | 70%
JL458 10,000 70%
JL460 10000 | 70%
JL462 ,000 70%
JL464 000 | _70%
HR(HEA) HRCHA)H | JL623 ,900 69% 11,800, £:13,900, +:13,600
JL625 100 | 68% [2k:12.000, %:14.100. £:13.600
JL627 ,000 71% | A:12,200, £:13,300, £:13,100
JL629 600 | 67% [JKA:13.100, T:14.100
JL631 ,700 69% [A:12.900, £:13.600. +:13,800
JL633 100_| 68% [7K:12.000
JL637 13,600 67% |7K:13.100, A:12,600, £:13,300, 1:12.800
JL639 13100 | 68% | :12.000, A:13.600. %:14.100
JL622 13,100 68% p 213,200,
JL624 14100 | 66% |4 113,300,
JL626 14,100 66% |7} K:13,300
JL628 12600 | 69% |7K:12.000. &:13.100
L63t ,600 67% X:14,100, K:12,200
JL63 100 | 66% [JK£:13.100, A:13.600
[ JL63: 100 66% |/K+:13,100. A:13,600
JL63 100 | 66% | 2k7k:13.600

JAL



IS5 RB I EER(10A15~26BEED)

EEMAE - 2019/02/05 ~
10/15-17,10/23-26
T SLFSRE
B BE | AR [ TR
T8 | mzi= %
HR(PH)-ERS RRCRE) % [_JLe41 7 9.100 79% |Y ,000, £:10.600
L643 7 .800 75% |7 200, %:12,600, £:13.300
JL645 7 100 2% 600, £:13.100
L647 7 ,600 76% .800
9 7 .800 75% |Y £:11.100
1 7 9.600 8% |J
3 7 .600 76% |Y ,000, 7:9.600
5 7 .800 75% |7 600, %:12.600. £:10.600
BEREHE JL 7 .400 69% |71 200, £:10.100, £:11.100
Lf 7 .600 76% | K
JL 7 9.600 8% | X
L 7 100 | 77% [k K1
Lf 7 .800 75% |7 :11.600
7 .600 76% | K :12.200, £:12,600
7 .100 72%  |X 2,000, £:14.100
7 ,100 70% ) +:10.100
FFHCTOE = P ACEE" 7 400 E 5,300
7 ,400
JL3107 7 .100
JL3115 7 ,200
JL3117 7 .200
ARG TR R _JLai00 ] 7 i
[Latos | 7 100
JL3110 7 14,500
JL3114 7 14.500
JL3118 7 ,500
ERE== 5 EEx [JLs621 | 7 .600
3625 | 7 500
| JL3629 7 .600
[Jr3631 | 7 000
JL3633 7 .000
03639 | 7 000
JL3641 7 .000
EE% | JL3620 | 7 600
| JL3622 7 .600
03626 | 7 600
JL3630 7 .000
| JL3632 7 ,600
JL3634 7 .600
JL3642 7 ,700

JAL



EREEAA : 2019/02/05 ~
9/1
FH O [Yurs%E
= B8 mxm [ g
4
BRCRE)=k&5 BR CRE) % |_JL565 7 .500
| JL567 7 .500
JL569 | 7 .900
s VIS 562 7 000
[ Jis64 | 7 7.000
566 7 500
R (CRE)=HE HR(CPIE) % [_JL585 7 .500
| JL587 7 ,000
JL589 | 7 200
mEER | _JL584 | 7 3200
[ Jisse | 7 7.000
588 7 ,200
RR(CRE) =R HRECRE) % [ JL623 7 400
| _JL625 7 ,600
[ Jie27 | 7 100
| JL629 7 ,600
JL631 |7 600
[ 633 | 7 600
JL637 | 7 300
JL639 | 7 300
AR | _J622 | 7 100
| _JL624 7 ,300
[ Jle26 | 7 300
| JL628 7 ,600
JL630 |7 100
| _JL632 7 ,800
JL634 |7 800
JL638 | 7 100
RR(PE)=-ERE | RRCAE) S| JL64l | 7 9.100
JL643 | 7 1600
JL645 | 7 100
JL647 | 7 600
JL649 | 7 600
[ Jresi | 7 100
[ Jless | 7 600
JL655 | 7 600
ERBR JL 7 9.200
JL 7 10,600
JL 7 9.600
JL 7 100
[ Jteas | 7 600
[ JLes0 | 7 600
[ Jies2 | 7 100
JL654 | 75H 100
B 2 (R ED) =ALIR (3 T | & w2 (P ) 34_JL3103 | 758 .100
[uL3ios | 758 700
JL3107 758 .000
JL3115 | 758 000
JL3117 758 .000
HLIR (37 F &) 3_JL3100 | 758 800
[uLsios | 758 800
JL3110 | 758 17.600
JL3i14 | 756 17.600
JL3ii8 | 758 16.000

YLNSERIEER(OAI1BERS)

JAL



EREAR

2019/02/05 ~

TS5 BIEER(OAII~I6BEES)

=40]

9/13

9/14

9/15

9/16

ILES %R

IS 5AE

DILES %R

LSRG

ERE

ERE

RRECRE) =53]

RRPE)R | J

9.700

22,700

9.700

22,700

7.300

20.800

ihHIF

7.600

1.700

7.600

.700

7.600

RECRE) =R

RROPE)R | J

.800

.800

.600

,600

JEIES

.200

700

00

.600

,500

R CRE) =8IE%

RRECRE)#

.600

.900

.200

ElEES

.300

.000

4.800

RECRB)=HIA

RRECRE)#

.900

,700

.700

.600

.800

.800

800

o

000

R CRIE) =EE

RERPE)R | J

500

900

B Pl P Bt

600

R

,600

.000

100

RECAB)=K%

RERPE)R | J

.200

,200

.200

,200

.300

26.700

EX S

.800

800

.100

.100

.200

26.700

RRCRE) =Rk

RERPE) %

3.300

4.200

.800

.800

.800

.800

RIGH

.800

.800

.800

.300

.300

.200

RRCRE) =K

RERPE) %

.400

.800

.200

.800

3.800

3.800

4.200

26.700

BAR

3.800

3.800

.800

.000

.200

.800

3,800

26.700

RRCAB) =2k

HRCAE) %

4,600

4.600

4,600

5.100

4,600

4.700

3,800

13:300

17.600

3.200

3,200

4.200

5,100

4.100

RERPAE)-ERS

HERCAE) %

3,800

3.800

3,800

4.200

3,800

3.800

4,300

4.300

ERER

2.200

2,200

3.300

13,800

13.800

2,000

4,000

3.300

13,800

26.700

(B 27 (P ER) =#LIR (37 F i

EEGE)

19,500

13.900

FLIR GG %) 4

10,200

14.600

17,400

19.700

JAL



TS5 RB I EER(9A20~23BEES)

EREEAA : 2019/02/05 ~
9/20 9/21 9/22 9/23
=R B4 IS5 Y5 EE] ISk YL SRS
R (RE)-AR(BFR) | RRCHE) % 7700 | 9500 | 8500 | 8800
.400 100 10,400
.800 100 | 1 | 10800
L .100 100 | 1 11,100
JL .200 700 | 1 11.100
L .200 700 | 1 11,
JL .700 | 1 11
L 300 1 11,
JL .300 | 1 11
L 500 1
JL .900 |1
L131 ,900 |12
JL133 400 |12
L137 600 |12
JL139 600 [ 12,
KB (5 % |_JL102 .900 10.
JL104 600 10.
[ JLi06 .600 10,
JL 600 10.
JL .900 10,
JL 100 10.
JL 9.800 9,
JL 9.900 | o
JL 10,000 10,
JL 9.900 10.
JL 9,700 12,
| JL128 9.700 |12
[ JL130 .200 13
JL134 1400 |12
JL138 300 12
BRCRE)=k&5 BN (CPE) % |_JL565 .700 | 1¢
| JL567 700 [ is.
JL569 .300 .
ESCEIES JL562 7.600
| JLS64 7.600
JL566 7.600
R CRE) =R BN CRE) % |_JL551 .800
[ JL553 800
| JL555 600
JL557 600
FEIIES JL552 .200
[ JL554 .700
| JL556 .600
JL558 500
R CRE) =8I RECPE)H |_JL541 .600
JL543 .900
JL545 .700
FEES JL540 300
JL542 7.000
JL544 4.800
R (FE)=HE HR CFIE) 5 [_JL673 .900
JL575 700
JL577 .700
JL57 600
ETR3 JL57 5.800
JL5T 7.800
JL57 7.800
JL57 20,000
R CRE) =BE HR M) # |_JL58S 7.500
JL587 4.900
JL589 7.600
E S JL584 3.600
JL586 5.000
JL588 6.100
HECAB)=K% FARCHE) % |_JL661 1.200
JL663 .200
JL665 .200
JL667 .200
JL669 300
JL671 300
RH% JL662 2.800
JL664 2.800
JL668 4,100
JL670 4.100
JL672 4,200
JL674 3.800
HECRB)=R& BR (CPIE) % |_JL605 3,300
JL607 4.200
JL609 3,800
JL6T1 3.800
JL613 3,800
JL615 3.800
W% JL606 3,800
JL608 3.800
JL610 3,800
JL612 4.300
JL614 4,300
JL616 4.200
R CRE)=REX BR CPHE) % |_JL623 3400
JL625 3.800
JL627 4,200
JL629 3.800
JL631 3,800
JL633 3.800
JL637 4,200
JL639 4.300
AR JL622 3,800
JL624 3.800
JL626 3,800
JL628 4,000
JL630 14,200
JL632 13.800
JL634 13,800
JL638 26.700
R CHE)=EH R CHE) % |_JL687 13,700
JL689 13.700
JL691 13.800
JL693 14.200
JL695 13.800
JL697 13.800
S JL688 12,800
JL690 12.200
JL692 12,200
JL694 13.300
JL696 14,300
JL698 13.300

JAL



EREAR

2019/02/05 ~

TS5 RB I EER(9A20~23BEES)

=40]

B

FH
AR

9/20

9/21

9/22

9/23

ILES %R

IS 5AE

DILES %R

LSRG

ERE

RRPAE)-ERS

RRECRE)#

c

.800

800

.800

200

.800

800

.300

tal] ] I =) R i ]

300

ER&R JL

.000

200

.200

.300

.000

300

.800

26.700

B 2 (D) =ALIR (37 T | & 2 (P ) 3

.600

.100

.100

.400

9.400

FLIR (3 T 2%) 5

8.700

8.100

11.700

15.800

) Y Sy ) Y ) ) ) ) ] ] ) ) ) ) ) ) ) ) ) Y B )

15.800

JAL



ISR IEER(10A11~14BEED)

EREEAA : 2019/02/05 ~
10/11 10/12 10/13 10/14
P B4 P ] T e el T e
R (RE)-AR(BFR) | RRCHE) % 8800 | 0500 | 8500 | 8800
400 ,100 10.400
7 400 100 10400
L 400 100 | 1 11,100
JL 200 700 | 1 11,100
L 200 [ 1 11,100
JL 600 | 1 11
L .500 [ 1 i1,
JL 500 | 1 11
L 500 [ 1 11,
JL 700 12
L131 700 [ 12
JL133 700 12
L137 400 | 13
JL139 .900 [ 13
KR () % |_JL102 200 [ ic
JL104 .600 T
[ JL106 .600 |10,
JL 600 [0,
JL .900 | ic
JL .900 T
JL .800 |10
JL .800 [0,
JL 800 | ic
JL .800 [0,
JL .800 12,
[ JLi2s .800 12,
[ JL130 700 |12
JL134 700 12
JL138 000 12
HE CHE) =4I (3 F )| 3= (FE) 5 [_JL503 100 1.
[ JL501 400 |13
[ JL503 000 EE
[ JL505 20.300 |14,
[ JL507 .00 [ 1
JL509 .700 1
JLS11 .700 |15,
JL513 500 |15
JL515 500 1
JL517 700 | 1€
[ JL519 000 16
[ JL521 .500 | 16
[ JL523 500 16.
| JL525 500 18,
JL527 26.700 IE
JL529 26.700 |19
JL531 26.700 1
JL599 1.700
LR (37 F %) 3_JL500 6.100
JL502 7.000
JL594 7.000
JL504 6.000
JL506 5.200
JL508 5,000
JL5 000
JL5 400
JLS 700
JL5 100
JL518 7.100
JL520 7.800
JL522 7.800
JL524 600
JL526 600
JL528 800
JL530 000
JL598 800
HRCRE)=k#&5 BN CPIE) % |_JL565 .500
JL567 20.100
JL569 400
Zwal%E | JL562 600
JL564 600
JL566 500
HR CHE)=He Il HR CRIE) % [_JL551 6,500
JL553 9.700
JL555 6,500
JL557 6.500
pENIE 3 JL552 ,700
JL554 800
JL556 ,500
JL558 500
HR CRE) =8Ik HECPE)H |_JL541 ,200 22,700
JL543 20.400 | _22.700
JL545 8,000 16,400
EEES JL540 7.500 | 22700
JL542 7,500 19,800
JL544 7300 | 14.700
HRCHE)=HIE HRCRIE) 5 [_JL573 6200 | 18,600
JL575 9.300
JL577 9,300
JL57 8.600
BN JL57 7,800
JL5T 20.200
JL574 20,200
JL576 19.500
HR CHE)=miE HR CFIE) 5 [_JL585 20,300
JL587 4.900
JL589 8,200
WER JL584 5.000
JL586 5,200
JL588 6.800
R CHE)=K5 RR CHE) % | _JL661 11,000
JL663 13.700
JL665 13,700
JL667 13.800
JL669 13,800
JL671 13.800
PE JL662 14,100
JL664 14100
JL668 13,800
JL670 13.800
JL672 13,800
JL674 26.700
RRCAB)=RK R CFIE) % |_JL605 13,600
JL60T 13.800
JL609 14,200
JL611 14.200
JL613 14,300
JL615 14300
FIAR JL606 13,700
JL608 13.700
JL610 13,800
JL612 13.800
JL614 13,800
JL616 14.200

JAL



EREAR

2019/02/05 ~

ISR IEER(10A11~14BEED)

=40]

10/11

10/12 10/13

10/14

ILES %R

DIESHAG| VIS KR

LSRG

ERE

ERE

RECRE)=RER

RRPE)R | J

.400

.400

800

.000

200

.200

200

.800

800

RAR

.800

800

.800

000

.800

300

.300

26.700

RECRR)=EH

RERPE)R | J

.800

.300

.800

.800

.200

300

.800

.800

.800

.800

.200

.800

RERPE)-ERE

RRECRE)#

.200

200

.800

4,000

.800

700

.800

.800

ERBR

.900

200

.200

.300

.600

600

200

700

B & (P En) =ALIE (9 T A e 2 (P D)

o [ro

500

P N S P

300

.500

.100

.100

FLIR B Fi%)

.800

.100

.500

.500

.000

JAL



TS5 RBIEER(10A18~22BEED)

EREEAA : 2019/02/05 ~
10/18 10/19 10/20 10/21 10/22
=R B4 Db ER| SB[ SRS RE[ LSS
R (FAE)=XR(F) | mRCAE) % 7.300 8300 | 7.800 7.300 | 7300
400 [ 9.300 10.400 400
7 .400 | _9.300 10.400 .400
L 400 [ 9.300 10.800 ,.800
JL .700 | _9.300 10.
L 700 [ 9.300 10.:
JL .200 | 9.300 10.
L 9800 | ¢ 300 | ¢
JL 9.800 | _9.300
L 9800 | 9. 300 | ¢
JL 300 | 9. 1100 | 11
L131 300 | 9. 1100 [ 11
JL133 300 | 9. 1100 | 11
L137 000 | 9. 1500 [ 11
JL139 900 | o 1500 | 11
KR (FFH) % |_JL102 100 | ¢ | 9.000 11,
JL104 600 | ¢ |_9.000 11
[ JL106 .600 | ¢ | 9.000 i1,
JL 600 | 8. o 11,
JL 800 | ¢ [ o. 10.
JL 800 | ¢ 9.
JL 800 | 9,
JL .800 9,
JL 800 9
JL .800 | o
JL 800 |10
| JL128 800 |10
[ JL130 700 | € 1.500 11,
JL134 .700 1.500 11,
JL138 900 | ¢ 2.400 11,
BR CRIE)=#LI% (3 Fak)| R (FE) F |_JL593 .100 | 8.
[ JL501 600 |10
| JL503 600 |10
[ JL505 ,000 11
|_JL507 400 K
JL509 400 13
JL511 13
JL513 | 12.
JL515 K
JL517 | 12
| JL519 12
[ JL521 12
| JL523 12
| JL525 12,
JL527 13,
JL529 13,
JL531 [ 12
JL599
FLR (B F %) 3_JL500 EX
JL502 | 15
JL594 | 15
JL504 14
JL506 IEX
JL508 |13
JL5 12
JL5 14,
JL5 X
JL5 14
JL518 [ 13
JL520 12
JL522 | 12
JL524 12
JL526 | 11
JL528 1
JL530
JL598
HRCRE)=k#&5 BN CPIE) % |_JL565
JL567
JL569
LiwHFE | JL562
JL564
JL566
HECRE) =R HECPE)H |_JL551
JL553 1
JL555 12,900
JL557 4500 12.900
pENIE 3 JL552 3,700 14000 | 1
JL554 2.300 12.400
JL556 2,400 12,400
JL558 2400 | 12.100
TR CRE) =8I FHRCHM) # |_JL541 3,900 14,200
JL543 5500 15.600
JL545 2,400 12,300
EEES JL540 2,500 12.500
JL542 3,200 13,200
JL544 2.900 12.200
RRCRB)=HIE RRECPE)F | _JL573 2,400 13,400
JL575 3.600 13.100
JL577 3,600 13,100
JL57 3,500 12200 | 1
WILRE JL57 4,400
JL57. 3.900
JL574 3,900
JL576 2.400
R (CRE) =K HRCRE) % |_JL585 4,400
JL587 2.900
JL589 5,500
EES JL584 3300
JL586 3,400
JL588 4.400
RRCAB)=-EE R (FIE) % | JL453 10,000
JL455 10.000
JL457 10,000
JL459 10.000
JL461 10,000
JL463 10.000
JL465 10,800
e JL452 10.000
JL454 10,000
JL456 10.000
JL458 10,000
JL460 10.000
JL462 10,000
JL464 10.000
RRCAB)=RK R CFIE) % |_JL605 13,600
JL607 13.600
JL609 14,100
JL6T1 14.100
JL613 14,100
JL615 14.100
FIAR JL606 13,600
JL608 13.600
JL610 13,600
JL612 13.800
JL614 13,800
JL616 14.100

JAL



EREAR

2019/02/05 ~

TS5 RBIEER(10A18~22BEED)

=40]

FH
AR

10/18

10/19 10/20

10/21 10/22

ILES %R

DIESHAG| VIS KR

DIESHAG| DS KRG

ERE

ERE | EAE

RECRE)=RER

RRPE)R | J

.400

7.400

600

7.400

.300

.100

100

.000

100

.800

.600

800

RAR

.600

800

.600

.100

.600

100

.100

.100

RERPE)-ERE

RRECRE)#

.200

200

.600

600

.600

600

.600

600

BERBR

.900

200

.200

.100

.600

el e e lele e[l Je e e fe |

600

.100

.100

B (R ED) =ALIR (3 T | & 2 (P ) 3

20.200

11.300

.100

,100

.300

FLIR (B %) _J

.300

.300

14.500

14.500

] Y ) ) Y ) ) ) ] ) ) ) ) ) ) Y ) ) ) ) ) ) ) ) ) ) ) ) Y ) )

8.500

JAL



